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[ JLes0 14.700 64t 5.200, +:16,000, B:16,100 45E8 | 13,000 68% 3,400, £:13.200, +:13,800.
[JLeo2 13,600 674 F13,700_H:15.600 45E3] [ 11,900 7i% 4 0. 512,900
[JLesa 14,100 66% 500, %:15,200, F:14,700, B:17.300 45E | 12400 704 |7 $::13,200, F:13,000, H:15.200
[JL696 14.100 66% 200, 14,700, H:19,800 45E3] [ 12400 704 [ H:12 sm $:13,200, +:13.000, H:17.900
[ JL698 14,700 64t 000, H:20,000 45E | 13,000 68| s 18,50
R PR -BERE T (HE) % |_JLeal 13.200 70% 700 45E3] [ 12,000 72%
643 14,700 66% 700 £:16.700 45E1 | 13,500 694 |3 N 15200 513,300
[CuL6a5 16,000 634 [+:17.000, H:15.700 45E3] | 14400 67% | H:14.500, & 115,500, Euamn
647 14.200 7% |&+:15.200 45E | 12300 72% | 4:12,700, £ +:14,000,
[JLeag 14.200 45E3] | 12,300 724 | §:12.700. ﬁimom Eu:uan
65t 14200 500 45E | 12300 72% | H:12.700, & +:13 C
[JLes3 14.200 15,000, H:16000 45E ] [ 12,900 70% | §:13.300. ﬁwasoo 1|3ana E||5mm
655 14.200 000 45ER | 12,900 704 |5
ERERE | JL6d0 14.200 ¥ 45E 3] [ 12,700 7i% s
642 15.200 65% 200, F:17,500 45E8 | 13,700 69%
644 14.200 67 800 45E3] | 13,000 70%
646 14.200 67 45E | 12,900 70% |5
[JLeas 16,000 63 700_ E:18.800 45E] | 14,500 67%
[JL650 16,000 635 45ER | 14500 67%
[JLes2 15.200 65% 45E3] [ 14,000 68%
654 14.200 67% 45E | 13,000 3200, £:12.200.
ZEE (8 -A (TR | 2R (P8 5| _JL3103 18,000 574 300 1zsmo 45E3] | 16,800
[JL3105 18400 568 00, :2 £:20600 45B8 | 17,000 E:16,100. £:17.300
[CJL3io7 8800 79% 45E8] | 8500 80%
3115 8,800 79% 45EH | 8,500 80%
117 8,800 79% 45EIH | 8,500 80%
AR (BT FA) 5| _JL3100 8,800 79% 45EH | 8,500 80%
[JL3106 8800 79% 458 | 8500 80%
3110 8,800 79% 45EH | 8,500 80%
3114 18,000 57% | H21,200, $:19,000, £:19,000 45E3] | 16,800 60% |+ :17600, H:19.700
3118 | 2687 | 8600 79% 45E8 | 8500 80%
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7T
37 3178
= T IE T gaa [ 2T [ TR ERE | A% [
| BAMR LS AR FEES
W () =KWK (G | Rm(HE) % |_JLI0l | 26HAT | 11600 54% | F:10,000. £:11.800 45881 | 11,100 56% | H:0.500 £ 11,600
[_JL103 28H B 11,600 54% H:10.400, £:11.800 A5H B 11,100 56% H:10,300, 1:11.600
[_JLi07 28E 8] 13,500 46% [A#:14.100, +:11.800, H:10.400 A5HE 13,000 48% £:11.700, H:10.300
111 28E ] 12,400 51% [A#:14,000, +:11.800, H:10.400 A5HE 11,900 53%
113 28E 8] 12,400 51% [A#:13,500, +:11.800, H:10.400 A5HE 11,900 53%
115 28E ] 11,900 53% [A#:13,000, +:11.800, H:10.400 A5HE 11,400 554
117 28E 8] 11,900 53% [A#:12.400, £:10.800, H:10.400 A5HE 11,400 554
[_JLi1g 28E ] 10,800 57% [A:11.300, B:10.400 A5HE 10,300 59%
[_JLi21 28E 10,800 57% [A#:11.300, B:10.400 4A5HE 10,300 59%
[_JLi25 28E 8] 12,300 51% 12,700, £:13.000, F:10.4¢ I 800 4A5HE 11,800 53%
[ 127 28H B 13.200 48% 12,900, K #:14.000, £:10. A5H B 12.700 50%
[_JLi31 28E 8] 13.200 48% 12,900, K #:14.000, 1\0400 EI 1 A5HE 12.700 50%
[_JL133 28E ] 13.200 48% 12,900, A #:14.100, £:10.400, B:1 0 A5HE 12.700 50% )00,
[_JL137 28E 8] 13.200 48% 12,900, K #:14.100, £:10.400, B:11.800 A5HE 12.700 50% 400, A :14.000, :10,300, H:11.700
139 28E ] 13.200 48% 12,900, A #:14.100, £:10.400, B:11.800 A5HE 12.700 50% 400, A :14.000, :10.300, H:11.700
KER () & | JL102 28E 8,700 65% 10,400, H:9.100 4A5HE 8,200 67%
[_JL104 28E 8] 13.200 48% 9,100, J:14.100, £:10.400 4A5HE 12.700 50%
108 28H B 13.200 48% 9,100, J:13.400, £:10.400 A5H B 12.700 50%
110 28E 8] 13.200 48% 9,100, J:13.400, F:10.400 A5HE 12,700 50%
112 28E ] 12,400 51% 9,100, £:11.300 A5HE 11,900 53%
114 28E I 11,700 54% 500, 4A5H 11.200 56%
116 28H I 11,300 554 10,400, £:11.800 A5HET 10,800 57%
[_JL118 28H I 11,300 554 10,400, 7k:10,900, +:10.800 A5HEI 10,800 57%
[_JL120 28HEI 11,300 55% 10,400, 7k:10,900, +:10.400 A5HEI 10,800 57%
[_JLi24 28H I 11,300 55% 10,400, 7k:10,900, £:10.400 A5HEI 11,100 56%
[_JL126 28HEI 11,600 54% 11,800, £:10.300 A5HEI 11,100 56%
[_JLi28 28H I 11,600 54% 11,800, £:10.300 A5HEI 11,100 56%
[ JL130 28H I 13,500 46% 11,800, £:10.400 A5HEI 13,000 48%
[_JLi34 28H I 13,500 46% 11,800, #:14.100, :10.400 A5HEI 13,000 48%
[ JL138 28HEI 13,500 46% 14,100, +:10.400 A5HEI 13,000 48%
TR (WM (FbE) | W (BE) R |_JLo01 | 28HET | 18400 60% 0. £:19.200 45881 | 17.400 62%
[_JLeot 28H I 18,900 59% 0, :19.700 A5HEI 17,900 61%
[_JL903 28HEI 20,900 54% 0, 1:22.500 A5HEI 19,900 57%
[_JL905 28H I 20,900 54% 0, 1:22.500 A5HEI 19,900 57%
[_JLs07 28H I 20,900 54% 0, 1:22500 A5HEI 19,900 57%
[_JL909 28H I 22,100 52% 0, H:20,600 A5HEI 18.200 60%
[_JLo13 28H I 19.200 58% . #:21.700, £:21.700 A5HEI 18.200 60%
[_JLot5 28H I 13.200 7 A5HEI 12,900 72%
[_JLot17 28H I 13.200 A5HEI 12,900 72%
[_JLot1g 28HEI 13.200 A5HEI 12,900 72%
[_JLe21 28H I 13.200 A5HEI 12,900 72%
[ JL923 28HEI 13.200 A5HEI 12,900 724 [#H:13100
[ JL925 28H I 13.200 A5HEI 12,900 724 [#H:13100
% (B8R 5 |__JLO00 | 28EHIA | 13200 45881 | 12.900 724 _|[@TA:13,100
[_JL902 28H I 13.200 A5HEI 12,900 72%
[_JL996 28HEI 13.200 A5HEI 12,900 72%
[_JLo04 28H I 13.200 A5HEI 12,900 72%
[_JL906 28H I 13.200 A5HEI 12,900 72%
[_JL908 28HEI 13.200 A5HEI 12,900 72%
[_JL910 28H I 18,700 59% H:21.700, #:19.000 A5HEI 17.700 61% 3:2
[_JLoi2 28H I 18,700 59% A5HEI 17.700 61% 3:2
[_JLot4 28H I 20,900 54% 200, B 0, &: A5HEI 19,900 57% 100,
[_JLot6 28H I 20,900 54% [+:21,600, H:25400, #:21.400 A5HEI 19,900 57% SDD ﬁzﬂ 400, £:17.700
[_JLo18 28H I 20,900 54% H:22.500, #:21 lﬂﬂ £:18.700 A5HEI 19,900 57% 3:2 20, ADD £:17.700
[_JL920 28H I 19.200 58% A5HEI 18.200 60% 3:2
18,400 60% ﬂ; £:17.700 A5HEI 17.400 62%
KR (FR ARG TR | AR GF%E | J 19.200 59% 0. +:23,300 45881 | 18.200 61% . B:13.100
[ 19.200 59% 0, 1:22.000 A5HEI 18.200 61% 21,000, H:15.400
[ 9,300 80% A5HEI 9,000 81%
17.300 63% 0, 1:19.200 A5HEI 15,900 66% . +:13.800, H:15.400
LR (H TR R 16,400 65% 0, 1:18.900 A5H I 15,400 67% 7,400, H:15.900
[ 16.400 65% 9 A5HEI 15,400 67% 17,900
[ 20,400 56% 0, 7K:19.700, F:18.900 A5HEI 19,400 58% 8,700, £:17.900, H:22.300
[ Ji 20,400 56% 1:2 300 A|§7ﬂﬂ 1(19700 £:18.900 A5HEI 19,400 58% 8,700, £:17.900, H:22.300
KR (BT =L (B T | AR (HE) % |_J 16.200 65% B &1 45881 | 15200 67% _|%+:18.500, H:12.900
[J 12.400 73% [ &1 zoo 11:900 Ensooo 4588 | 11.800 75% | 115,300, +:12.900, H:15000
12,400 73% 300, 113,90 A5HEI 11,800 75% 300, +:12.900, H:15.000
R BT R 9,800 79% 45881 9,500 79
[ 15,900 66% A5HEI 9,500 79%
17.100 63% 15,900 A5HEI 16.100 65% [$:16.400, £:14.900, H:18,500
KR (A =ik (i) | ARG R |_J 20.100 48% 45881 | 19.100 505 | +:22,000, H:16.400
[ Ji 10,500 3% A5HEI 10.200 73%
e () 5 [ 9 75% — 45HA] 9200 76% _
[J 20100 48% 000 4588 | 19100 505 |B2
Wm (BE)-E 5 T=PE R | 14,000 70% >14,400_E1 45881 | 13.300 7%
[y 14,000 70% | 15,400, £:16.400._H:16.900 4588 | 13.300 1% [ &1
[ J 14,800 68% |6600;i154ﬂﬂ A5HEI 13,600 70% |5600 iMSDD
ZEARE | J 15.200 67% % 815,700, %:16.00 45881 | 14.000 70 14,500, +:14.800
[ 13,400 1% 200 £:13.200, EIESDO A5HEI 12,200 74% 14,500, £:12.700
[ J 12,900 72% 12,200 74% £:12,700, i\ZDDD H:12.800
A= PE R | 12.200 72% 11.800 T ES om E
[y 14.900 66% 13.900 684 | A%:14,
12,900 70% 12,200 72% 13200. E 13.400
oiER |_J 13,900 68% 13100 70% 13,800, £:14.200__H:12,600
[ 13,300 69% 12,300 72% +:13,800, H:13.200
[ J 12,200 2% 11,600 73% 13,300, £:12.400, H:15.200
W= (W@ Bk W= (PE) % |_J673 | 28EA | 11.300 74% 10900 75% 10,500, %:11,000, F:11,300, H:10.700
|__JL575 28H I 14,200 67% 13.200 69% 13,400, £:13.100, H:13.800
|__JL577 28H I 14,200 67% 13.200 69% 13,400, £:13.100, H:13.800
| JL579 28H I 11,400 T4% 11,100 74% 12,100, £:11.300, B:12.500
ETR] [_JL570 28H I 12,000 2% 11,600 73% 13,900, £:14.200, H:12.300
|__JL572 28H I 12,300 1% 11,800 73%
[_JL574 28H I 12,300 1% 11,800 73%
| JL576 28H I 12,300 1% 11,400 74%
W= (NE) - W= (PE) R |_Js85 | 28EA | 12800 64% 12400 65%
[uise7 | sedar 68% 10,900 69%
| JL589 28H I 554 15,300 57% 17.600, £:15,000, H:17.000
W% |_JLssd | 28EHA 62% 13200 63% 13,000
[ Jises | 2edar 62% 12,600 4% 13,000, £:12.100, H:14800
[ Jises | 2eHar 56% 14,900 58% | F:18,100
R CAE) -7 RR(PE) % |_JLe6l | 2888 61% 14,200 64% K:13,900_ % £:15.000.
|__JL663 28H7I 58% 15,400 61% K:14,900, :16.100. ﬁ!SSOﬂ 1|7|BB H:15.000
|__JL66S 28H7I 63% 12,900 68% 13,400, £:13.100, H:1:
|__JL66T 28H7I 63% 12,900 68% 13,100, £:12.800, B |55m
| JL66Y 28H7I 63% 800, B:18.100 45H I 13,400 66% 12,900, %:14.200, 1:12,800, H:16.600
671 28H7I 63% 800, H:18.500 45H I 13,400 66% K%:12,900, #:15.200, +:12,800, B:17.100
AA%  |_JL662 | 28EAL 63% 4588] | 12.400 69% 700, H:12.300
[ JL664 28H7I 63% 45H I 12,400 69% 700, H:12.300
[__JL668 28H7I 63% 45H I 12,900 68% H:13.400
[ JL670 28H7I 63% 45H I 13.400 66% £:12,900, H:13.900
[Cute72 | 28B81 564 H:19.100 45EE] | 16400 50% 900, X:16.500 ﬁElnsoﬂ E15.000
[ute7a | 28BzT 508 458 | 15500 6% 15400, §:16 1000, H:17.200
R CAE) B8 R (PE) % |_JL605 | 28E8 67% 4588] |_13.400 69% 12,900, % 16,400, 1|szon H:13.200
[CuLe07 | 28BA1 614 45EE] | 16000 634 [ KoA:15,600, 18,500, 16,700, H:15.500
[JL60s | 28HaT 654 4585 | 12.900 70% | H:13.400, X:15 £:13,100, H:13,800
[uieii | 2eday 65% 4585 | 12.900 70% | 5:13.400. X:15400. & £:13,100, H:13.800
[ JL613 28H7I 66% 45H I 12,600 1% 200, X:12.700, :13.700, H:15.200
| JL6IS 28H7I 66% 45H I 12,600 1% H:13.200, X:12.700, $:14.700, H:16.200
R |__JL606 28H7I 66% 45H I 12,700 1% A:12,600, #:14.500, +:15.700, H:13,000
[__JL608 28H7I 66% 45H I 12,700 1% 12,600, %:13.500, +:14.700, H:13.000
[_JL610 28H7I 66% 45H I 12,700 1% 12,600, & H:13.100, £:12,900
|__JL612 28H7I 62% 45H I 15.100 65% <:14.900, %:18.300, 1:16.200, H:17.400
[Jieia | 28EaT 62% 4588 | 15100 65% |£:18,300, +:16.200, H:17,400
| JL616 28H7I 66% 45H I 12,900 T0% 13,400, & H:17.000
ESACE] RR(PE) % |_JL623 | 28E8] 67% 4588] | 11.400 72% 11,900, +:12.700, H:10,800
|__JL625 28H7I 63% £:1 45H I 12,900 69% 13,400, £:15.200, H:12.300
|__JL627 28H7I 61% k7k:15.700, - 45H I 14,700 64% 400, 7K:13.900, :14.100, £:16.200, H:14.200
|__JL629 28H7I 63% XIK:14,700, ﬁﬂiﬁﬂﬂﬂ 1:16.500 45H I 13,700 67% 400, 7K:12.900, :13,100, £:14.200, H:13.200
[__JL631 28H7I 63% J7K:14.700, & H:16.000, £:16.500 45H I 13,700 67% 400, 7K:12.900, :13,100, £:14.200, H:13.200
[Jieas | 2eday 645 | 4585 | 12.700 69% Y B
|__JL637 28H7I 62% 6,000, H:1 45H I 13,700 67%
639 | 28631 s [A 16000, A\aann F175 16,100, H:18.800 45E 8 | 14200 65%
WEA®  |_JL622 | 28EHA 64% 4588] | 12,900 69%
[_JL624 28H7I 61% 45H I 13,700 67%
|__JL626 28H7I 63% 45H I 12,700 69% ;1+:13,200, H:13.100
[__JL628 28H7I 64% 45H I 11,900 1% 3,100, £:12.900, H:13.300
[ JL630 28H7I 64% 45H 11,900 1% 2:13,100, +:12.900, H:13.300
[uieaz | sedar 63% 4565 | 13,700 67% [%:15.000, H:16.000
[ Jiesa | 28HaT 614 4565 | 14200 65% |%:17.200, H:16.800
[ Jieas | 28HAT [ 4565 | 14.200 65% _|£:17.200, H:16.800
RRAE)-E8 RR(PE)% |_JLesT | 28HE] 6% 000 4585 |__12.900 69% X:13,400, £:13,700
[Jiess | 28H@1 64 000 £:15200 4587 | 12,000 69 X:13,400, £:13.100
[Jieor | 28H@) 64 800, 16,000 25E7] |_13.400 67% [ KA:12.900. #:14200_ 13,700
[ U693 | 2eHaT 67% 900, ﬁ\ﬁnnn 1w37m H:16,300 4565 | 11300 73% | %:15,000, F:11.400, H:12,900
[ U695 | 2eHaT 64% 16,000, B:1 4565 | 12.900 69% | 7:14,200, %:13.400, %:13,700, H:15.200
[ J6o7 | 28H@1 638X £:14,700, ﬁEIW.Jnn 2587 |_13.100 68% | F1:13,900, :13.400, :14,700, :12.900. H:14.800
EE%  |_JL688 | 28EIA) 63% :14,700, %:16,000, 17,300, B:14,100 4588] | 13.600 67% K:12,000, :13.100, %:13,700, £:14.700, H:12,700
[ U690 | 28HaT 4% 5,500, 15,200, £:16,000, H:14.100 4565 | 12900 69% | 7:14,500, :13.400, %:13,100, £:13.700, F:12,700
[Jieo2 | 2edaT 67% 13,700, H:14,200 4565 | 11,700 724 | KA:11,300, % :11.400, F:12.200
[ Jiesa | 28HaT 66% 4,500, 15,200, £:14,700, H:17,300 4565 | 12.300 70% | 7:13,200, 412,700, %:13,100, £:12.900, F:15,500
[ 66 | 28H@1 6% 5,200, 14,700, B:17.300 4588 | 12.700 69% [ KA:12,300, %:13.100, £:12,900, H:15,500
[ U698 | 28HAT 64% |%:16,000, B:17.300 4565 | 13.400 67% | A X:13,900, %:14.200, F:16,000
R (PH)-ERS ER(PE) % |_Jeal | 2888 70% | +:14,700 4588) | 11.400 74% | 7 J¢:11,500, +:13,100, H:11,300
[Jieas | 28E7) 6% 5,900 £:16.700 25B7] |_13.000 70% [ KA:12,900, %:13.900, £:15,100. H:12.800
[Jieas | 28Eg) 63% [ F1:16,500, 17,000, H:15.700 4565 | 14.400 67% | F:15,800, 14,500, &:16,000, H:13.800
[Jiear | 28E@) 67% 15,200 2587 | 12300 T2% [ KA:12,200. % 13,000, H:13,000
[Jieas | 28E7) [ 45EE] | 12300 7% 12,200, % +:12,900, H:13,000
[ Jiesi | 2edar 67% | H:14.700 4565 | 12.300 72% | K:12,200. % +:12.900, F:13,400
[ Jiess | 2ed AT 67% |%:15.000, B:15500 4565 | 12.800 714 3,900, +:12,000, B:14,500
655 28H 7] 67% H:15,300 45H 7] 12.800 1% 12,900, H:13,900
ERBRE |_J640 | 2887 67% | :15,500 4588] |_12.600 71% _3700 H:12.800
[Jiesz | 28H71 65% [ :16,200_£:17.500 25E7] | 13600 69 £:15.700. H:13,800
[Jiess | 28E7) 67% 4585 | 12900 0% 13,000
[ Jie4s | 28E AT 67% | 4565 | 12.800 1% 900, H:13,000
[Jiess | 28E7) 63%__|£:15.700. H:16500 4588 | 15000 6% 900, -F:13,700. H:15,500
[Jies0 | 28H@1 63%__|£:15,700. H:16.500 4588 | 15000 6% 900, F:13,700, H:15,500
[Jies2 | 28H@1 65% ﬂscmam,sun 4565 | 14.000 8% 900, %:15,000, :13,100. H:15.400
654 | 28Eg] 67% @ H:14700 4585 | 13.000 70% [ KA:12.900. :13.100. £:12.100. H:13.400
N CLE ) KR (5 | _Ji22al | 28HE] 55% | £:15,100, £16.100 2587 | 14,000 57% 14,600, £:15600
[ L2243 | 28E AT 524 |%+:17,100, H:15.100 4568 | 15.200 53% | & 16,600, H-14.6(
2245 | 28E15] 525 [$:17.100. :nsanu EI 16,100 4588 | 15.000 54% [ £:16,600. £:16.100, H:15.600
2251 | 28E15] 298 ﬁnmoﬂ +:16, 45E7] | 16,000 51518200, £:15,600
8% | _JL2240 | 28EIA) 46% | H:16, 4588) |_17.100 475 1:16,100
[ L2244 | 28E 5T 508 |+ |7500 F.16.600 4568 | 15900 51% [&:17.100, B:16.100
[Ji2246 | 28E7] 54% [ H:17,100. JK:15400, 715,400, %:18.200. 14,800 2587 | 14400 564 | H:16,600, 7K:14,000, 7:14,900, %:17.700, £:14,300
[JL2250 | 28E31 53% | H:17.100, #:18,200. £:14,800 4585 | 14900 54% | H:16,600, £:17.700. £:14.300
PEE (FE) AR TR | BEE (RE) 5| _JL3103 | 28EA] 584 | ®:21,800, +:22,400 25E7] | 16.800 604 [ @22 X
[JL3105 | 28871 57% _|&1:20, 300 4568 | 17.000 50% 19,100, H:17.300
[JLsi07 | 28871 9% 45887 | 8500 80%
3115 PEEL ] 9% 451 8,500 80%
3117 PEEL ] 9% 451 8,500 80%
FLIE (37 F#) % |_JL3100 | 28EIAT 79% 45E 8,500 80%
[JL3106 | 28871 79% 45887 | 8500 80%
3110 PEEL ] 9% 451 8,500 80%
3114 PEEL ] 58% | A:18,300, % +:18,600, H:20.700 45H ] 16.800 60% :17,300, #+:17.600, B:19.700
3118 28E1H1 9% 45E i 8,500 80%
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(=40} E%
TR S BEH T8 ey BEH
mamg| EHE | wsiw kil mAmE| EAE | wix kil
R (BHE)=KK (F/7) BR(HE) R L101 B 600 54% 000, £:11,800 458 A 100 56%
L103 600 5% 400, £:11,800 458 100 56%
L107 500 46% 100, +:11,800, H:10.400 458 000 48% 600, £:11,700, H:10,300
L1t 400 1 Y 458 900 53% 500, £:11,700, H:10,300
L113 400 458 900 53% 000, +:11,700, H:10,300
L115 900 E 458 400 55% 500, £:11,700, H:10,300
L117 900 400, £:10,800, H:10,400 458 400 55% 900, F:10,600, H:10,300 |
L119 800 300, H:10,400 458 300 59% 800, F:10,600
1 800 1,300, H:10,400 458 300 59% 800, F:10,600
5 300 2,700, %:13,000, £:10,400, H:10,800 458 800 53% 2,200, +H:10300 |
7 200 2,900, A%:14,000, £:10400, B:11,000 458 700 50% 400, A #:13,500, £:10,300, H:10,600 |
L131 200 2,900, A %:14,000, £:10.400, H:11,800 458 700 50% 400, A #:13,500, £:10,300, H:11,700 |
L133 200 2,900 100 400, H:11.800 458 700 50% 400, 7 %:14,000, £:10,300, H:11,700 |
L137 200 2,900 100 400, H:11.800 458 700 50% 400, 7 #:14,000, £:10,300, H:11,700 |
L 200 2,900, A %:14,100 400, H:11.800 458 700 50% | H:12.400, A%:14000, +:10,300, H:11,700 |
BN ACEE] L 700 0,400 100 458 200 67% | H:8600, :10,300
L 200 100, F:14.100. £:10400 458 700 50% | I
L 200 100, F:13.400, £:10400 458 900 49%
L 200 100, F:13.400, £:10400 458 900 49%
L 400 458 900 53%
L 700 458 200 56%
L 300 800 458 800 57%
L 300 900, £:10.800 458 800 57% 300, 7K:10,400. F:10,300
L 300 900, +:10.400 458 800 57% 300, 7K:10,400, F:10,300
L 300 900, +:10400 458 800 57% 300, 7K:10,400, F:10,300
L 600 458 100 56% 700, +:9.800
L 600 458 100 56% 700, 9
L 500 458 000 48% 700, £:10,300
L 500 458 000 700, %:14,000, £:10.300
L 500 458 000 700, %:12,000, £:10,300
R CRE)-Z B HFE(FHE) 5 800 458 300 400, #:13,900, £ H:15,400
,800 458 300 400, £:14,900, £:15.400, B:15.700
300 X ] 458 600 15,400, 14,500
HBAIF 200 16,000 458 000 14,500, 14,800
600 114,100, H:15600 458 200 13,200, £:13,700, H:14,500
900 3,200 458 600 2,000, H:12.800
EEEEET BFE(FHE) 5 L! 900 g 458 500 ~114,500
L 600 :15,500, T 18,300, H:13,900 458 600 <%:14,500, F:17,300, H:12.900
L 800 1,900, H:13,600 458 200 2,500, F:11,500, H:13,200 |
FIEE3 L 500 :12,400 458 800 3,100, H:12,100
L: 000 14,400, H:13.900 458 000 13,400, H:12.900
L 200 700, £:13,700, :12,800, H:15,800 458 600 73% 112,400, £:13,300, H:15,200 |
HE(HE)=HEK R (AE) R L 900 500, F:11,700, H:10,800 458 500 76% 900, F:11,300, H:10,400
L 500 213,700 458 000 70% :13,200
L 500 [ H:13,700 458 000 70% 13.200
L 400 [£:12,600, H:12,900 458 100 74% | :12,100, £:11,000, H:12,400 |
EY=3 L 000 114,300, £:14,600, H:11,900 458 600 73% 900, F:14,200, H:11,300 |
L 900 +13,300, :11,500 458 200 74% 300, £:13,000, £:11.100, H:12.900 |
L 900 +13,300, %:11,500 458 200 74% 300, £:13,000, £:11.100, H:12.900 |
200 000, £:13500, F:11.400, H:12,300 458 800 75% 500, £:13,000, F:11,000, H:11,800
BT R AE) % [ 800 00, +:15,000, H:13.400 458 400 65% 00, +:14,700, H:13,100
200 00, % H:12.600, £:13,600 458 .900 69% 00, £ H:12.300, £:13.300
800 100, +:15.500, H:17.500 458 300 57% 600, 15,000, H:17.000
B3 500 3 458 200 63%
700 200, %:13,300, F:12,500, H:15,100 458 400 65% 900, £:13,000, F:12,100, H:14,700
400 600 458 900 58% 100
R (HE) XS EACE] 400 700, % 16,500, H:14.400 458 200 64% 15,000, H:12,300
[J 700 600, % F:18,100, H:16,500 458 400 61% 00, £ 1:16.600, H:15.000
[J 700 458 400 66% 600, F:13,900, H:13,200
[J 700 458 900 68% 300, £:13,400, 12,800, H:15,500
[J 700 H:18,100 458 300 67% 200, £:15,000, 12,800, H:16,600
700 X 458 300 67% 200, %:16,000, +:12.800, H:17,100
RAFE 700 ,300, 16,000 458 300 69% 3,900
700 ,300, 16,000 458 300 69% 900
[J 700 458 400 66% 300, 7K:13.200
700 458 400 66% 300, 7K:13,200, % H:13900
500 000, 16,500, H:19,100 458 500 59% 00, £ H:17.600, 1:15.000
6,500 X 458 500 61% 00, F:15,000, H:17,200
R CAE)=Rs R (HE) % [ 4,400 500, £:17.500 458 400 69% 500, F:16,500, H:13,200
[J 7,000 ,000, H:16.500 458 000 63% 500, F:17,000, H:15,500
200 458 000 70 200, % F:13,900, H:13,800
200 458 000 200, % F:13,900, H:13,800
700 458 700 200, £:14,500, H:15,200
700 458 700 200, %:15,500, H:16.200
RiG% 700 458 700 800, £:15,200, 15400, H:13,000
[J 700 458 700 800, £:14,300, 14,400, H:13,000
700 458 700 00, £:13,400, H:13,000
700 458 100 65% 5000, £:15,900, F:15,400, H:17,400
700 458 100 65% 116,400, 3:15,900, H:17,400
700 458 400 69% |€ {17,000, £:13000
R (AH) R CAE) % |_J 700 458 900 1% 200, 3:13,400, H:10,800
[J 200 458 400 67% 700, F:15,900, H:12,300
[J 200 700, 7:16,900, #:17.000, £:18.300 458 400 65% 700, A :14.900, +:16,300, H:14,200
[J 700 200, :15,900, % H:16,000, F:16,500 458 400 67% 700, A :13.900, F:14,400, H:13,200
700 200, :15,900, & H:16,000, £:16.500 458 400 67% 113,700, A%:13,900, F:14,400, H:13,200
700 458 700 69% 800, £:13,300, +:13.200, H:13,900
[J 700 000, H:17,300 458 700 67% 300, F:14,200, H:15,400
200 500, F:16,100, H:18.800 458 200 65% 500, F:14,100, H:16,800
AR | J 700 458 400 67% 700, H:13.200
[J 200 700, % 117,600, H:15.200 458 600 67% 200, % F:14,000, H:12,800
[J 200 700, % F:16,500 458 600 69% 200, % F:13,000, H:12,800
[J 700 800 458 800 7%
[J 700 800 458 800 1%
[J 400 000 458 600 67%
[J 200 458 200 65%
200 458 200 65%
R CHE) =28 R CAE) % | J 700 _ 258 400 7
700 Al 458 400 900
700 800, F:16,000 458 400 000 F:14,500
600 900, %:15,000 F:13,700, H:16,300 458 200 900, H:12,900
700 000, H:17,300 458 400 500, H:15,200
200 X £:14.700, & H:17.300 458 900 66% 15,500, H:14,800
AR | J 200 700, £:16,000, +:17,300, H:14.100 458 600 67% 400, £:14,400, 14,800, H:12.700
[J 700 +:16,000, H:14,100 458 400 67% 900, F:14,500, H:12,700
[J 600 14,200 458 700 72% 11,900, H:12,200
[J 100 15,200, F:14,700, H:17,300 458 700 69% 800, £:13,000, +:13.400, H:15,500
[J 100 14,700, B:17.300 458 700 69% 900, :13,400, H:15,500
700 17.300 458 900 66% 400, H:16,000
R (PH)-ERE R CAE) 5 [ JL 200 ; 458 500 4 400, H:11,300
L 700 900, F:16,700 458 000 $:14,000, +:15.400, H:12,800
L 000 000, H:15,700 458 500 +:16.000, H:13,800
L 200 200 458 300 14,000, H:13,000
L 200 458 300 + H:13,000
L 200 700 458 300 113,000, F:12,000, H:13,400
200 000, H:15,500 458 500 800, #:14,000, £:12,900, H:14,500
200 ,300 456 500 800, :13,000, £:12,900, H:13.900
BEREBRE 200 500 458 600 7 000, H:12,800
200 200 F:17,500 458 600 69% 600, F:16,000, H:13,800
200 458 000 70%
200 458 800 7% + H:13,000
000 456 ,000 66% 700, F:13,800, H:15,500
000 456 000 66% 700, F:13,800, H:15,500
200 456 000 68% 000, +:12,900, H:15.400
200 458 000 70% 13400, +:11,900
KR (=418 IR (B 5% 500 458 000 57% | 14600, F:15,600
200 458 700 55% 16,400, B:14,400
500 458 000 5% 6,400, 15900, B:15,600
500 458 000 51% 18,100, +:15.400
FBR 400 458 .900 48% 5,900
900 458 400 53% +:16.900, H:16,100
900 456 400 56% 6,400, %::17.500, F:13,800
4,900 458 400 56% 6,400, %:17.500, £:13,800




T&BEI5| SEER (1282~ 158EE5)

WEEA A 2016/09/13
27215
XA B4 5MTA — — 378
i mamg| ZTH | g il
B (HE)=KR (F) B (HA) % 0,000, £:11,800 458 A 100 60% 1,600
0400, £:11,800 458 100 60% 0300, £:11,600
00, H:10,400 458 000 53% 1,700, H:10,300
000, F:11,800, H:10,400 458 900 57% 500, £:11,700, H:10,300
500, £:11,800, H:10.400 458 900 57% 000, +:11,700, H:10,300
000, F:11,800, H:10.400 458 400 59% 500, £:11,700, H:10,300
400, £:10,800, H:10,400 458 400 59% 900, F:10,600, H:10,300
300, H:10,400 458 300 63% 800, F:10,600
300, H:10,400 458 300 63% 800, F:10,600
2,700, £:10,400. 0 458 800 57 2,200, £ H:10,300
112,900, A%:14.000, 1 0. B:11,000 458 700 400, A #:13,500, £:10,300, H:10,600
200 12,900, A 214,000, £:10400, H:11,800 458 700 400, A #:13,500, £:10,300, H:11,700
200 12,900, 100 400, H:11.800 458 700 400, 7 %:14,000, £:10,300, H:11,700
200 12,900, 100 400, H:11.800 458 700 400, 7 #:14,000, £:10,300, H:11,700
L 200 12,900, A %:14.100 400, H:11.800 458 700 112,400, A%:14,000, £:10.300, H:11,700
BN ACEE] L 700 -10,400. 100 458 200 18,600, +:10,300
L 200 19,100, :14,100. £:10400 458 700 600, F:14,000, :10,300
L 200 100, B:13.400, £:10400 458 700 4% ,600, H:13,300, F:10,300
L 200 100, B:13.400, £:10400 458 700 4% ,600, F:13,300, F:10,300
L 400 00, £:11,300 458 900 7% 600, £:10,800
L 700 400 800 458 200 59% 100, £:11,700
L 300 800 458 800 61% 300, F:11,700
L 300 k:10,900, £:10,800 458 800 61% 300, 7K:10,400. F:10,300
L 300 900, £:10.400 458 800 61% 300, 7K:10,400, F:10,300
L 300 .900, £:10400 458 800 61% 300, 7K:10,400, F:10,300
L 1600 300 458 100 60% 700, +:9.800
L 600 300 458 100 60% 700, F:9,800
L 500 K 400 458 000 53% 700, £:10,300
L ,500 800, £:14.100, 1:10.400 458 000 53% 700, £:14.000, +:10.300
L 500 111,800, £:14,100, F:10,400 458 000 53% 700, £:14,000, F:10,300
HFE(PE)=HE HFE(FHE) 5 L! 800 £:11,000 458 400 77% 10,600
L 600 300, F:12,900, H:12,800 458 200 73% 11,900, F:12,400, H:12,300
L 600 212,300, F:12,000, H:12.800 458 200 73% [ :11,900, F:12,400, H:12,300
L 400 [£:11,800, F:11,300, H:13,000 458 100 76% 400, £:10,900, H:12,500
ET=3 L 900 900, F:14,600 458 500 75% 500, F:14,200, H:11,300
L 900 458 300 75% 500, H:12,300
L 900 700 458 300 75% 500, H:12,300
L 000 112,300, F:11,200, H:12.900 458 500 75% 800, £:10,800, H:12,400
R (HE) =K% R (AE) R 700 £:15,000, £:14,600, H:12,500 458 800 67% 113,000, £:14,200, £:14,000, H:11,300
[ 700 16,200, H:14.800 458 000 67% 114,200, % F 14,700, H:13,100
[ 700 1:14,000 458 000 69% 113,100, +:13,400
[ 000 115,200 458 300 73% 11,600, %:13,400, H:13,900
[ 000 116,600 458 000 69% 300, 1:12,800, H:16,000
000 116,91 458 000 69% 300, +:12,800, H:15,400
5% | J 800 13,400, £:14,900 458 300 73%
[J 800 £:13.400, £:14.900 458 300 73%
700 458 000 69%
700 458 000 69%
700 458 100 67% 700, F:14,000, H:15,700
700 458 100 69% 700, F:13,000, H:14,500
R CAE) =R RRCAE) R [_J 300 458 000 72% 200, F:14,900, H:11,300
600 458 200 69% 00, %:16,400, F:16,000, H:13,600
[J 000 458 000 7 200, 215,000, +:16,000, H:14,900
000 458 000 7 200, 215,000, £:16,000, H:14,900
000 458 700 7 200, +:12,700, H:13.700
000 458 700 7 200, F:12,700, H:15,500
RBRx | J 000 N 458 500 7 X:14,900, %:13,200, 14,200, H:12,800
[J 000 800, £ 458 500 7 900, & F:13,00, H:12,800
000 16,800, F:14,500, H:14,300 458 700 7 £:14.900, ¥ H:12,300
400 400, +:14.900, H:17.300 458 300 7 114,700, 3:13,300, H:15,900
400 A 14,9 7.300 458 300 7 700, F:13,400, H:15,900
600 13,900, H:16,900 458 000 72% 3,900, F:11,600, H:15,900
R (FE)=FEE RRCAE) R [_J 700 400, H:12,000 458 400 74% 0,800, £+ 11,700
[J 200 100, A:13.300 458 900 70% | 12,300, £+ 13,200, H:11,300
[J 600 300, £:16,100, H:14,600 458 400 69% :13,700, H:12,300
[J 600 ,300, 15,900, H:14,400 458 400 72% 2,700, H:11,300
600 ,300, 15,900, H:14,400 458 400 72% 2,700, H:11,300
000 +:14.800, A:14600 458 800 7%
[J 000 300, F:13.200, H:16,300 458 400 74% 800, F:11,300, H:14,000
000 500, £:16,000, H:16,600 458 800 7% 200, %:13,800, H:14,900
AR | J 700 00, H:14,0 458 000 70% | F:14,300, H:12,800
[J 200 300, ;16,100 % F:15,300, H:13,600 458 300 72% 4,400, ;14,100 % F 12,600, H:11,500
[J 000 13,200, % +:14,300, H:13,600 458 000 72% | 7KA:11,300, € 3:11,600, H:11,500
[J 500 000, +:13.700, H:14,600 458 300 74%
[J 500 000, 13,700, H:14,600 458 300 74%
[J 200 000, +:14,000, H:16.400 458 300 72% 800, H:13,700
[J 200 00, H:16.600 458 300 7 800, H:14,400
000 N 458 000 7 800, H:14,400
R (AH)=-BH RRCAE) R [ 000 300 458 000 7 7K:12,000, F:13,200, H:12,900
000 300, F:15,000 458 000 7 7K:12,000, F:13,200, H:12,900
700 600, F:16,000, H:14,400 458 200 7 300, +:13,800, H:13,000
[J 800 +11,900 A F:15,000, H:14,500 458 800 7 114,600, A F:14,000, £:14,800, H:11,500
400 0, 15100, B:16,600 458 000 13,800, A:14,200, £ H:14,800, +:14,100
500 6,600 458 200 J£:13,000, 7:14,200, %:14,800, H:14,600
ECE I Y 500 458 200 . %:13,800, 7K:13,000, +:14,800, H:12,800
[J 300 458 300 JK:13,000, £:15,000, 13,800, H:12,800
[J 500 500 458 800 12,800, £ F:12,000, H:14,500
[J 000 14,800, +:14,400, H:16,700 458 800 £:13.200, +:13,000, H:14,800
[J 000 16.700 458 800 7 4114400, +:13,200, H:15,300
700 14,000, H:16,800 458 500 69% 700, F:12,900, H:14,800
RRCAHE)=-ERS RR(HH) # L ,000 45H 400 75% 200
L 500 458 900 72% 900, 15,200, H:12,400
L 000 458 100 69% 15,600, B:12.400
L 500 458 300 75 114,300, 3:13,400, H:11,700
L 500 458 300 7 114,400, F:12,400, H:11,700
L 100 458 300 7 £:14.400, H:13,000
[ JL 900 458 100 7 114,000, 3:12,400, H:14,500
L655 000 458 400 7 000, H:14.400
BERER L 500 458 400 7 14,400, £:12,000, F:12.400
L 500 458 400 76% | :13,000, £:12,000, +:13,400
L 300 458 000 72% 14,400, KK:12,800
L 500 458 400 73% :13,000, +:12,700
100 458 400 75% :12,300, F:11,300
100 458 400 73% 13,300, F:12,300
000 458 800 70% 4,800, F:12.400, H:15,500
000 458 800 72% | %:13,800, F:12,400, H:13,900
AL ] P ACEE] 500 458 000 60% | :14,600, F:15,600
200 458 700 58% £:16.400, B:14,400
500 458 000 57% 6,400, 15,900, H:15,600
500 458 000 54% [€ {18100, £:15400
B 400 458 .900 52% 5,900
900 z 16, 458 400 56% 16,900, H:16,100
900 900, %::18,000, F:14,300 458 400 59% 116,400, £:17,600, F:13,800
4,900 +16,900, £:18,000, +:14.300 458 400 59% 6,400, %:17.500, £:13,800
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XA B4 5MTA — 378
B % MR _x%a%é %
TR (PE AR (FH | BRPH) % L101 10,000, £:11,800 45B ] 100 5,500, £.11,600
[ JL103 600 400, £:11,800 458 100 300, £:11,600
7 500 [£:14,100, £:11,800, H:10,400 458 000 600, £:11,700, H:10,300
L1t 400 [£:14,000, £:11,800, H:10,400 458 900 500, £:11,700, H:10,300
L113 400 [£:13,500, £:11,800, H:10,400 458 900 000, %:11,700, H:10,300
L115 900 000, F:11,800, H:10.400 458 400 500, £:11,700, H:10,300
L117 900 400, £:10,800, H:10,400 458 400 900, F:10,600, H:10,300
9 800 300, H:10,400 458 300 800, £:10,600
[JLizi 800 [£:11,300, B:10,400 458 300 800, F:10,600
[ JLi2s 300 [£:13,000, £:10,400, H:10,800 458 800 500, I 510,300
L127 200 [ 512,900, %:14,000, £:10,400. H:11,000 458 700 400, %:13,500, £:10,300, H:10,600
L131 200 [ 512,900, %:14,000, £:10,400, H:11,800 458 700 400, %:13,500, +:10.300, H:11,700
L133 200 [ 512,900, 4:14,500, £:10,400, H:11,800 458 700 400, %:14,300, +:10.300, H:11,700
L137 200 [ 512,900, %:14,500, £:10,400, H:11,800 458 700 400, %:14,300, +:10.300, H:11,700
L 200 [ 512,900, %:14,500, £:10,400, H:11,800 458 700 400, %:14,300, £:10.300, H:11,700
BN ACEE] L 700 [£:10400, H9.1 458 200 600, £:10,300
L 200 [ 59,100, 514,100, £:10400 458 700 600, F:14,000, :10,300
L 200 [ 59,100, F:13,400, F:10,400 458 700 600, F:13.300, +:10,300
L 200 [£:9.100, F:13,400, F:10,400 458 700 300, £:10,300
L 400 [5:9.100, £:11.300 458 900 8,600, F:10,800
L 700 [5:9,600, £:11,800 458 200 9,100, F:11,700
L 300 +:11,800 458 800 300, F:11,700
L 300 900, F:10,800 458 800 300, 7K:10,400. F:10,300
L 300 K:10,900, F:10,400 458 800 300, 7K:10,400, F:10,300
L 300 900, F:10,400 458 100 300, 7K:10,400, F:10,300
L 1600 300 458 100
L 600 300 458 100
L 500 400 458 000
L ,500 100, 1:10.400 458 000 700, £:14.000, +:10.300
L ,500 100, 1:10,400 458 000 700, £:14.000, +:10.300
HFE(PE)=HE HFE(FHE) 5 L! ,300 _ 458 900
L: 100 3400, H:13,300 458 700 2,900, H:12,800
L 100 458 700 2,900, H:12,800
L 900 458 600 1,400, H:13,000
ET=3 L 400 458 000 4,700, H:11,800
L 200 458 800 2,800
L 200 458 800 1:12,800
L 500 E 458 000 £11300.B:12900 |
B (FE)=X5 R CRE) % L661 .600 458 800 2100
[ JL663 700 [k 458 800 & £:14,700, H:13,800
[ JL665 900 [ 458 800 & £:14,700, H:13,800
[ JLe67 500 B 458 800 t 13,200, H:14900
[ JL669 000 B 458 800 215,400, H:16,900
L671 000 7.400, F:17,800 458 800 & H:15,900
RAFE | _JL662 800 3400, £:14900 458 100
[ JLe64 800 3400, £:14900 458 100 _
[ JLe68 000 5300, H:15,100 458 800 ® H:14,400, 14,800
L670 000 300, H:15,100 458 800 2 H:14,400, 114,800
L672 400 800, H:18,000 458 200 £:14.400, H:17.000
L674 400 800, A:16.000 458 700 15.300, 13,800
R CAE) =R TR (M) % |_JL605 700 H:13.400 458 400 6,400, H:13,300
[ JL607 600 0 458 600
[ JL609 800 458 300
L611 800 458 300
L613 000 458 800
L615 000 458 800
EB% | _JL606 000 458 800
1608 000 458 800
L 000 458 800 14,600
L 400 458 200 000, 13,800, H:17.000
L 400 458 200 000, 13,800, H:17.000
L 000 458 400 000, F:13,700, H:15,900
R (GAH)= R (GAH) 5 | JL62 300 458 800 000, F:13,600, H:10,800
[ JL625 800 458 100 500, F:14,600, H:11,300
[ JL627 100 458 100 14,600, F:12,600
[ JL629 300 458 100 4,300, F:14,600, H:12,600
631 300 458 100
1633 500 458 300
[ JL637 100 458 900
639 000 458 900
AR | JL622 300 458 100
[ JL624 200 458 000
[ JL626 200 4 +:14,300, A:13.600 458 000 7
[ JL628 500 :13,700, H:14,600 458 300 7 B:12
[ JL630 500 00, F:14,600 458 300 7 12,500, H:12,800
[ JL632 500 6.200, 14,300, H:16,400 458 000 7 000, H:15.100
[ JL634a 200 458 000 7 000, H:15,500
1638 000 458 000 7 00, H:14,600
R (AE)-2R RRCAE) 5 [_JL68T .000 458 800 68% 00
[ JL689 000 458 800 68% | F:14,900
L691 500 458 100 65% 00, 15,800, H:14,300
1693 900 458 200 4 5900, H:13,200
L695 000 458 200 415,900, +:14,300, H:15,500
L697 500 458 300 7K:14,200, %:16,600, H:15,400
EWSE | JL68s 500 [X 458 300 13,800, %:14,600, F:15,100
[ JL690 000 [& 458 200 5000, 15500, H:13,800
[ JL692 500 458 800 £:13.200
[ JL694 500 5000, H:16,700 458 300 4,600, F:14,200, H:15,900
[ JL696 000 6,100, H:16,700 458 800 68% 15,900
1698 900 7,000, 15,000, H:16,300 458 700 66% 6,500, £:13.800, H:15,500
R PH)-ERE R (FE)$ [ JL 500 5,000 458 800 72% 4,000
L 000 458 200 69% 5,300, 15600, H:13,.800
L 000 458 200 69% 15,600, H:13,800
L 500 458 500 73% 14,300, H:13,500
L 500 E 458 500 73% 4,300, 3:13,800, H:13,500
L 100 E 458 100 74% 900, F:12,500, H:14,700
[ JL 300 E 458 100 72% 900, F:12,900, H:15,200
L655 000 E 458 800 70% 15,900, F:13,600
BERER L 000 E 458 000 72% 800, F:14,400
L 000 E 458 000 72% 800, F:14,400
L 000 458 800 70% 200, F:14,400
L 000 E 458 800 70% 00
L 100 458 100 72% £:12.700
100 E 458 100 69% 700, H:15,200
200 E 458 400 69% 800, H:15,600
800 458 800 70% 000, H:14,900
AR (G BB ARG R 500 ] 000 | 60% 600
200 E 458 700 58% 14,400
500 E 458 000 57% 900, H:15,600
500 458 000 5% 18,100, £:15.400
B 400 00 458 .900 52% 5,900
900 [ +:17.400_H:16,600 458 400 56% 16,900, H:16,100
900 6,900, %:18.000, F:14.300 458 400 59% 116,400, £:17,600, F:13,800
4,900 +16,900, £:18,000, +:14.300 458 400 59% 6,400, %:17.500, £:13,800




AR 2016/09/13
BXf
R CRE)=ki#E5] RERCAE)E | J
i Bl 5
RRECRE) =% RRCAE) &%
T
R CRB)=#IE RRCPE) %
HIRF
FR CRE)=EfE RERCPAE)E | J
RS
FR(CRE)=X5 RRCRE) %
K%
FRCRE) =R RERCAE)E | J
RIGS
FR(CRE) =R RRCAE)E | J
JL627 | 28 20,000 600
JL620 | 28 20,000 900
28 20,000 900
28 16,500 300
28 16,300 200
28 16,100 000
AR 28 20,000 100
28 20,000 600
28 20,000 100
28 300 000
28 300 000
28 400 500
28 200 200
28 200 200
RR(CRE)=215 EEACT:ES 28 20,000 ,100
28 20,000 100
28 20,000 100
28 15,800 300
28 14,700 000
28 14,700 000
B 28 20,000 100
28 800 300
28 000 800
28 000 800
28 200 200
28 700 000
RRCPAE)=-ERE RECRE) & L 28 ,500 ,600
20,000 600
20,100 300
000 300
000 300
000 300
200 000
200 000
ER&F L 28 20,000 100
L 28 20,000 600
L 28 200 000
L 28 200 000
[ 28 700 900
[_JL6s50 | 28 700 900
[_JLes2 | 28 200 200
L654 | 28 200 200

[%BE5 L EEXR(11AIBERS)

JAL



rEBE5 1 EER(11A238EBEY)

EEEAR 2016/09/13
BXf
R CRE)=ki#E5] RERCAE)E | J
i Bl 5
R CRE) =8I RRCAE) &%
T
R CRB)=#IE RRCPE) %
3,000 |
3,000 |
HIRF
FR CRE)=EfE RERCPAE)E | J
RS
FR(CRE)=X5 RRCRE) %
K%
FRCRE) =R RERCAE)E | J
RIGS
FR(CRE) =R RECPE)S | JL623 |
JL627 | 28 700 400
JL629 | 28 700 ,400
28 700 400
28 700 700
28 700 700
28 200 200
AR 28 700 400
28 200 ,600
28 200 ,600
28 700 1800
28 700 1800
28 400 ,600
28 200 200
28 200 200
RR(CRE)=215 EEACT:ES 28 .700 400
28 700 ,400
28 700 400
28 600 1200
28 700 400
28 200 ,900
EEES 28 .700 400
28 700 400
28 600 700
28 100 700
28 100 700
28 700 ,900
R (HH) -BERS R (HHE) % |_JL 28 200 500
700 ,000
,000 500
200 300
200 300
200 300
200 500
200 500
BERER L 28 200 ,600
L 28 200 ,600
L 28 200 ,000
L 28 200 ,800
[ J 28 ,000 ,000
[ JLe50 | 28 ,000 ,000
[ _Jle52 | 28 200 ,000
L654 | 28 200 ,000

JAL



TEBEE EER (12822~25A1BF5)

EEEAE 2016/09/13
12723 12724 12/25
=R 378 | 37A | 5478 | 57A | 5478 | 57A | 3178
R PFE)=AREFH | BRR@E) 100 800 400 400 300 400 300
100 800 600 400 300 400 300
600 800 700 400 300 400 300
500 800 700 400 300 400 300
000 800 700 400 300 400 300
500 800 700 400 300 400 300
900 800 600 400 300 400 300
800 800 600 400 300 400 300
800 800 600 400 300 400 300
200 400 300 800 600 800 600
500 400 300 000 600 000 600
500 400 300 000 600 500 000
300 400 300 000 600 500 000
300 400 300 800 300 800 300
300 ,400 300 800 300 800 | 10,300
KR (% I 200 ,400 300 ,400 300 100 600
700 ,400 300 ,400 300 100 600
700 ,400 300 ,400 300 100 600
700 ,400 300 ,400 300 | 9.100 600
,900 1300 300 ,400 300 | 9,600 | 8,600
200 1800 800 ,400 300 ,400 100
800 1800 .700 ,400 300 ,400 300
,400 800 300 ,400 300 ,400 300
,400 ,400 300 ,400 300 ,400 300
,400 400 | 10,300 400 | 10,300 ,400 300
100 300 | 9,800 300 | 9,800 1800 .700
100 300 | 9,800 300 | 9,800 1800 .700
,000 ,400 300 800 300 1800 .700
,000 ,400 300 800 300 1800 .700
,000 ,400 300 800 300 1800 700
RE(PE)=X5H R CHE) % 800 20,400 ,900 20,400 ,900 20,400 ,900
800 25,800 23,900 23,800 ,900 23,800 ,900
800 25,800 23,900 23,800 ,900 23,800 ,900
200 800 22,000 23,800 20,300 23,800 ,000
300 000 22,100 22,000 20,100 23,800 ,900
300 000 2,100 2,000 20,100 3,800 ,900
K55 100 200 ,900 ,900 ,900 2,800 100
100 200 ,900 ,900 ,900 2,800 100
800 ,000 ,900 ,000 800 7,000 ,800
800 7,000 ,900 ,000 800 7,000 ,800
,400 6,100 800 100 300 8,600 100
,000 5,100 400 100 400 8,000 7,100
R (PE) =R RRPE)%E [ 500 22,400 1400 22,400 1400 22,400 400
600 25,800 400 2,400 1400 22,400 1400
600 25,100 1400 100 1400 23,100 1400
600 25,100 1400 100 1400 23,100 1400
800 25,800 ,000 800 ,000 23,800 ,000
800 25,800 ,000 800 ,000 3,800 ,900
g% 800 400 600 400 ,600 800 600
800 400 600 400 600 800 ,600
800 800 600 800 600 100 600
200 ,900 700 ,900 700 800 ,000
200 ,900 700 ,900 700 800 7,000
800 ,900 700 ,900 700 300 400
R (FE) =X RRE(PE) % [_JL623 | 00 300 ,000 20,800 20,000 20,800 500
00 1,300 300 1300 300 1300 300
00 1,300 300 1300 300 1300 300
00 25,800 ,000 1300 ,000 1300 20,500
00 25,800 ,000 1300 ,000 1300 20,500
,900 24,300 ,400 ,800 ,900 ,800 ,900
,900 14,000 ,000 000 ,000 ,000 ,000
,900 25,800 ,900 800 ,900 ,800 ,900
AR 800 ,000 800 600 ,900 ,000 ,800
,000 300 500 300 500 ,600 ,400
,000 300 500 300 500 ,600 ,400
1300 000 500 700 500 ,600 ,800
1300 000 500 700 500 600 ,800
,400 300 ,400 300 ,400 400 ,600
,000 800 ,000 200 ,000 7400 ,600
,000 000 ,000 000 ,000 6,600 600
R (PE) 28 Rm(PE) % ,800 000 100 800 ,900 23,300 1,400
800 25,300 100 800 ,900 23,800 1,400
,900 25,300 ,400 800 ,900 23,800 1,900
1,200 24,800 500 300 20,000 3,300 20,000
7,400 25,300 ,400 800 ,900 ,800 ,900
,900 25,800 ,900 ,800 ,900 ,800 ,900
e 800 8,300 ,900 600 ,900 ,000 ,800
800 7,000 ,900 300 ,900 ,000 ,800
300 500 800 500 800 ,000 300
,300 ,000 800 ,000 800 ,600 ,900
800 ,000 800 ,000 800 600 ,900
800 300 800 ,000 800 ,900 100
TR AR -ERE RR(HA) % 800 ,800 1,400 300 1400 22,800 0,400
,800 300 22,400 300 1400 ,300 1400
,800 300 22,400 ,800 ,900 ,800 ,900
500 ,000 21,200 ,000 200 ,000 200
,500 800 22,000 ,000 200 ,000 200
100 800 22,000 ,800 ,000 ,800 ,000
,600 100 21,300 100 20,300 100 20,300
300 800 22,000 800 1,000 ,800 ,000
ERER 000 ,400 400 700 400 ,000 000
,000 ,400 400 ,200 400 ,000 ,000
800 ,000 800 ,000 800 ,000 ,800
800 ,000 800 ,000 800 ,000 ,800
100 700 ,700 700 ,700 200 200
100 700 700 700 700 200 ,200
800 ,800 800 ,800 800 800 ,800
400 ,800 200 ,800 ,200 800 ,800
KR (FFH =378 KR (FFFH % | J ,000 100 ,600 100 600 500 ,000
700 100 ,600 100 ,600 100 ,600
,000 6,900 400 6,600 100 100 ,600
,000 6,000 500 6,000 500 ,000 500
EEES ,900 7.400 ,900 7.400 ,900 ,400 ,900
400 7,400 ,900 7,400 ,900 ,600 100
400 4,300 800 4,300 800 ,900 400
400 4,300 800 4,300 800 ,900 400

JAL



TEBEE EER (12H26~2901F45)

EERAA 2016/09/13
12727 12/28 12/29
=R B4 M7A | 378 | B7A | 3B | 37A | 5478
AR CHE) AR (B | R=HE) % 900 400 1,900 400 1,900 400 1,300 800
300 800 100 600 100 600 100 600
400 900 100 600 100 600 100 600
100 600 100 600 100 600 000 500
500 000 500 000 500 000 000 500
400 900 500 000 500 000 000 500
300 800 300 800 300 800 000 500
300 800 300 800 300 800 000 500
300 800 300 800 300 800 000 500
900 400 900 400 900 400 700 200
500 000 500 000 500 000 700 200
500 000 500 000 500 000 700 200
500 000 500 000 500 000 400 900
800 300 800 300 800 300 400 900
800 | 10,300 800 | 10,300 800 | 10,300 400 900
KR (AR |_J 8700 | 8200 700 | 8,200 700 | 8,200 000 500
400 900 200 700 200 700 300 800
400 900 200 700 200 700 300 800
400 900 200 700 200 700 300 800
400 900 400 900 400 900 300 800
700 200 700 200 700 200 400 800
300 800 300 800 300 800 400 900
300 800 300 800 900 400 800 300
300 800 300 800 900 400 800 300
300 800 300 800 900 400 800 _|_10,300
400 900 400 900 400 900 300 | 9,800
400 900 400 900 400 900 300 | 9,800
500 000 500 000 500 000 800 10,300
500 000 500 000 500 000 800 10,300
500 000 500 000 500 000 800 10,300
R (PE) = R (AE) R | 20,000 500 20,000 500 20,000 500 20,800 20,700
500 | 17,000 500 | 17,000 700 200 20,800 20,700
100 600 100 600 100 600 20,800 20,700
] 700 200 700 200 700 200 700 200
100 600 100 600 100 600 100 600
700 200 700 200 700 200 700 200
HR (RE) =K% ERREE] 20,400 900 20,400 900 20,400 900 000 23,900
800 900 23,800 900 25,800 23,900 28,800 28,300
800 900 23,800 900 25,800 23,900 28,800 28,300
800 000 23,800 000 25,800 23,900 28,800 28,300
800 900 23,800 900 25,800 23,900 28,800 28,000
800 900 3,800 900 25,800 3,900 28,800 28,000
A% 100 100 800 100 2,800 100 4,600 900
100 100 800 100 2,800 100 4,600 900
000 800 000 800 7,000 800 7,500 300
000 800 000 800 7,000 800 7,500 300
100 400 100 400 7,100 300 6,100 400
100 300 100 300 6,100 400 5,100 400
R (PE)-RB RR(PE)R 400 400 400 400 22,400 400 25,800 25,700
400 400 400 400 25,800 400 | 27,900 25,700
100 400 100 400 25,100 400 | 28,100 26,000
100 400 100 400 25,100 400 | 28,100 26,000
800 000 800 000 25,800 900 28,800 28,000
800 000 800 000 25,800 900 28,800 28,000
EBR ,000 800 000 800 000 800 800 600
,000 800 000 800 000 800 800 600
000 800 000 800 000 800 800 600
400 200 400 200 400 200 900 700
400 200 400 200 400 200 900 700
000 800 000 800 600 800 900 700
R E) A R EE | J 20,800 | 20000 | 20,800 | 20000 | 25300 | 22,000 | 28,800 28,000
300 300 300 300 21,300 300 24,500 24,400
300 300 300 300 21,300 300 24,500 24,400
300 000 300 000 25,800 900 28,800 28,000
300 000 300 000 25,800 900 28,800 28,000
800 900 800 900 25,800 900 28,800 28,000
000 000 000 000 14,000 000 24,500 24,400
800 900 800 900 25,800 900 28,800 28,000
AR 000 800 000 800 7,000 800 000 7,900
800 000 200 000 200 000 700 500
800 000 200 000 200 000 700 500
500 300 500 300 500 300 700 500
500 300 500 300 500 300 700 500
300 400 300 400 300 400 300 400
200 000 200 000 200 000 200 000
000 000 000 000 000 000 000 000
e (PE) 28 ESACE] 8 28 300 400 ,300 400 25,300 ,400 28,800 28,500
800 400 800 400 25,800 500 28,800 28,700
800 500 800 500 25,800 900 28,800 28,700
300 | 20,000 300 _|_20000 | 25800 900 28,800 28,700
800 1,900 800 1,900 25,800 900 28,800 28,500
800 1,900 800 1,900 25,800 900 28,800 28,000
o] 000 800 000 800 7,000 800 500 400
000 800 000 800 7,000 800 500 400
000 300 000 300 7,000 300 500 900
000 800 000 800 7,000 800 500 400
000 800 000 800 7,000 800 500 400
000 800 000 800 7,000 800 500 400
AR (PE-ERE EECE] 300 | 20,900 300 _|_20900 | 25800 900 28,800 28,700
800 900 800 900 25,800 900 28,800 28,700
800 900 800 900 25,800 900 28,800 28,700
000 200 000 200 23,000 200 25,900 25,800
000 200 000 200 25,800 500 28,800 28,700
800 000 800 000 25,800 900 28,800 28,700
,100 20,300 ,100 20,300 25,100 22,300 27,900 25,800
800 000 800 000 | 25800 900 28,600 7,600
BEREBR 000 000 000 000 4,000 000 400 4,400
000 000 000 000 4,000 000 400 4,400
000 800 000 800 7,000 800 000 900
000 800 000 800 7,000 800 000 800
100 100 100 100 4,100 100 700 700
100 100 100 100 5,100 100 700 700
800 800 800 800 7,800 800 300 300
,800 ,400 ,800 ,400 7,800 ,800 ,300 ,400

JAL



TEBE5 ESER (12830~31 B ES)

EEEAR 2016/09/13
12730 12731
=R M7A | 5478 | 57A | 5478
R R R
RRCAB)=XR(FM | RR(EBE) R 300 800 000 500
100 600 100 600
100 600 100 600
000 500 000 500
000 500 500 000
000 500 000 500
000 500 700 200
000 500 700 200
000 500 300 800
700 200 300 800
700 200 800 300
700 200 800 300
400 900 800 300
400 900 800 300
1400 ,900 800 300
KR (% I 000 500 ,000 500
1300 800 ,300 800
,300 ,800 ,300 800
1300 800 1300 800
,300 800 ,300 800
400 800 ,400 800
,400 ,900 ,400 ,900
800 ,300 800 300
800 ,300 800 300
800 | 10,300 800 | 10,300
300 | 9.800 300 | 9,800
300 | 9.800 300 | 9,800
800 300 800 300
800 ,300 800 300
800 ,300 800 300
FRCRE)=K5 RRCRE) % ,000 23,900 ,900 ,400
28,800 28,300 28,800 26,900
28,800 28,300 28,600 26,900
28,800 28,300 300 ,000
28,800 28,000 000 500
28,800 28,000 000 500
K55 5,200 ,900 ,900 ,900
5,200 ,900 ,900 ,900
7500 300 ,000 800
7500 300 ,000 800
6,100 ,400 100 200
5,100 400 100 200
R (PE) =R RRPE)%E [ 25,800 25,700 400 400
27,900 25,700 7,000 ,000
28,100 26,000 25,100 ,000
28,100 26,000 25,100 ,000
28,800 28,000 200 ,200
28,800 28,000 200 200
g% 400 ,600 400 100
,400 ,600 ,400 600
,800 ,600 ,800 300
900 700 ,900 700
900 .700 ,900 700
,900 ,700 ,900 ,000
FR(CRE) =R HECRE) % |_JL623 | 28,800 28,000 ,100 ,300
24,500 24,400 800 ,000
24,500 24,400 ,600 600
28,800 28,000 ,600 000
28,800 28,000 ,600 000
28,800 28,000 25,800 ,600
24,500 24,400 14,000 ,000
28,800 28,000 25,800 800
AR ,000 7,900 600 500
,300 500 300 500
300 500 ,300 500
,000 500 ,700 500
000 500 700 500
800 ,900 ,300 500
,800 ,000 200 500
000 ,000 000 ,000
AR CRIE) =58 R CRE) # 28,800 28,500 28,300 26,400
28,800 28,700 28,800 26,900
28,800 28,700 25,800 ,800
28,800 28,700 25,800 800
28,800 28,500 25,300 200
28,800 28,000 800 200
e 8,800 7,400 600 100
8,500 7,400 300 500
7500 ,900 ,500 ,200
8,000 ,900 ,000 200
7,000 ,800 500 ,500
7.300 ,800 7,000 ,900
RRCPAE)=-ERE RECRE) & 28,800 28,700 28,800 26,900
28,800 28,700 28,800 26,900
28,800 28,700 28,800 26,900
25,900 25,800 100 200
28,800 28,700 100 200
28,800 28,700 300 ,500
27,900 25,800 ,600 500
28,600 7,600 300 500
ERER ,400 4,400 700 ,000
,400 4,400 ,200 400
500 7,400 ,000 400
500 300 ,000 700
3,700 700 700 1400
4,700 700 700 100
7.800 ,800 800 1400
7.800 ,800 7,800 1400

JAL



rEBEE EER(A1~4BEES)

EERAA 2016/09/13
72 73 7%
] 5{7A 5{78 5{7A 5{78 5{7A 5{78
FR CRE) =Kk () RRCAE) & 000 [ 9500 000 [ 9500 600 100
800 300 800 300 600 100
800 300 800 300 500 000
800 300 800 300 400 900
800 300 800 300 400 900
800 300 800 300 900 400
800 300 800 300 900 400
800 300 800 300 800 300
800 300 800 300 800 300
800 300 800 300 300 800
500 600 500 600 200 700
500 600 500 600 200 700
500 600 500 600 200 700
500 600 500 600 200 700
500 600 500 600 200 700
KR(FDRE [ 500 000 500 000 500 000
500 000 500 000 500 000
500 000 500 000 500 000
500 000 500 000 500 000
500 000 500 000 500 000
500 000 500 000 500 000
500 000 500 000 500 000
500 000 500 000 500 000
500 000 500 000 500 000
500 000 500 000 500 000
500 000 500 000 500 000
500 000 500 000 500 000
500 000 500 000 500 000
500 000 500 000 500 000
500 000 500 000 500 000
HR (RE) =K R (PE) R 600 100 500 100 700 800
800 800 800 900 700 800
7,000 800 000 900 900 800
7,700 500 000 900 000 900
7,000 800 000 7,900 000 900
7,000 800 000 7,900 000 900
A% 25,000 — 25,000 — 20200 | 20,100
25,000 — 25,000 — 20200 | 20,100
28,800 28,800 20200 | 20,100
28,800 28,800 20200 | 20,100
28,800 28,800 20200 | 20,100
25,000 25,000 20200 | 20,100
FRCRE) =R RERCPAE)E | J ,500 ,400 ,400 ,900
100 100 800 600
100 100 800 600
100 100 800 600
600 600 000 800
600 600 000 800
EBR 28,800 28,800 600 500
27,900 27,900 600 500
28,800 — 28,800 — 600 500
28,800 28,800 600 500
28,800 28,800 600 500
28,800 — 28,800 — 600 500
R (PE) X RR(PE) % |_JL623 | 000 800 000 800 700 200
500 300 500 300 200 700
800 600 800 600 300 100
800 600 800 600 300 1100
800 600 800 600 300 100
000 900 000 900 500 400
800 600 800 4,600 1100 900
000 900 000 7,900 500 400
AR 28,800 — 28,800 — 20300 | 20,200
28,800 — 28,800 — 20,300 | 20,200
25,900 25,900 20,300 | 20,200
25,900 25,900 20,300 | 20,200
28,800 28,800 20,300 | 20,200
28,800 — 28,800 — 20,300 | 20,200
28,800 — 28,800 — 20,300 | 20,200
25,900 — 25,900 — 20300 | 20,200
R (E)-ER [SAEES 7,000 5,800 7,000 5,800 4,000 700
7,500 5,800 500 5,800 4,000 700
000 7,900 000 7,900 000 100
200 3,700 900 3,700 900 700
300 7,900 500 7,400 500 400
500 7,400 000 7,900 000 900
o] 28,800 28,800 800 700
28,800 28,800 800 700
28,800 28,800 800 700
28,800 28,800 800 700
28,800 28,800 800 700
28,800 28,800 800 700
R HE) -ERE EECEIE] 6,500 6,500 000 900
7,800 7,800 500 400
000 7,800 000 200
500 500 500 500
500 500 500 500
000 000 100 100
800 800 300 100
800 800 800 000
BERER 28,800 28,800 25,200 25,100
26,400 26,400 25,200 25,100
28,800 28,800 25,200 25,100
28,800 28,800 25,200 25,100
26,400 26,400 25,200 25,100
28,800 28,800 25,200 25,100
28,800 28,800 25,200 25,100
28 25,800 ,600 28,800 e 28,800 e 25,200 25,100

JAL



rEBE5 EER(1A5~6HEBED)

EEEAR 2016/09/13
176
& 37A | 5{7B
R R
R HE) =AS R () % 000 | 13,000
700 200
700 100
700 400
700 400
700 400
K% 600 100
700 200
900 400
900 400
700 200
200 700
R (HE) -RA R (HE) % |_J 600 _|_13,000
400 400
,400 800
,400 800
,600 200
,600 200
RiIa% ,800 ,000
,600 600
,300 600
,000 ,000
7,000 ,000
7,000 ,000
FR(CRE) =R RRCRE) % ,600 700
100 200
,900 700
,900 700
,900 700
,000 800
| 14.000 800
,800 800
AR ,100 .100
,300 400
500 500
500 500
,800 ,900
,000 ,000
7,000 ,000
7,000 000
FR(CRE)=215 RRCRE) % ,000 000
| 14,000 | 13,000
,900 800
700 900
100 300
700 700
ECES ,600 600
500 500
,800 200
,600 600
500 500
,700 700
ERCPE)-ERS EEAC RS ,000 ,800
500 300
,200 800
500 ,400
500 400
,200 400
,000 200
,000 200
EReR ,300 500
,900 100
,900 100
,000 200
,000 200
,300 500
,300 500
25,200 300 500

JAL



T&BEI5| SEER(1A10~16BEESD)

WEEA A 2016/09/13
16
5MTA 378
(=40} E%
TR S BEH T8 BE BEH
| ERR | six kil mamg| EAH | maiw | kil
TR (PE AR (FH | BRPH) % L101 kil 600 54% 000, £:11,800 45B ] 100 56% | H:0500, T:11,600
[ JL103 600 5% 400, £:11,800 458 100 56% 00, £:11,600
7 500 46% 100, +:11,800, H:10.400 458 000 48% 600, £:11,700, H:10,300
L1t 400 1 000, £:11,800, H:10.400 458 900 53% 500, £:11,700, H:10,300
L113 400 1 500, £:11,800, H:10.400 458 900 53% 000, +:11,700, H:10,300
L115 900 3 000, F:11,800, H:10.400 458 400 55% 500, £:11,700, H:10,300
L117 900 3 400, £:10,800, H:10,400 458 400 55% 900, F:10,600, H:10,300
9 800 7 300, H:10,400 458 300 59% 800, F:10,600
[JLizi 800 7 1,300, H:10,400 458 300 59% 800, F:10,600
[ JLi2s 300 1% | K:12,700, £:13,000, £:10,400, H:10.800 458 800 53% 2,200, £ H:10,300
L127 200 48% | Bl 400, B:11,000 458 700 50% 400, A #:13,500, £:10,300, H:10,600
L131 200 48% |} 10400, H:11,800 458 700 50% 400, A #:13,500, £:10,300, H:11,700
L133 200 48% | A1 400, H:11.800 458 700 50% 400, 7 %:14,000, £:10,300, H:11,700
L137 200 48% | A1 400, H:11.800 458 700 50% 400, 7 #:14,000, £:10,300, H:11,700
L 200 48% | A1 400, H:11.800 458 700 50% | H:12.400, A%:14000, +:10,300, H:11,700
BN ACEE] L 700 65% |t 458 200 67% | H:8600, :10,300
L 200 48% | H:9,100, H:14,100, £:10,400 458 700 50% | F1:8,600, F:14,000, £:10,300
L ,200 48% [H:9,100, H:13400, +:10.400 458 700 50% 1:8,600, f:13,300, +:10,300
L 200 48% [H:9.100, H:13400, £:10.400 458 700 50% 1:8.600, f:13,300, £:10,300
L 400 51% :9.100, F:11,300 458 900 53% | F1:8,600, F:10,800
L 700 54% | 61:9,600, £:11,800 458 200 56% 9,100, F:11,700
L 300 55% 11,800 458 800 57% 300, F:11,700
L 300 5% K:10,900, F:10,800 458 800 57% 300, 7K:10,400. F:10,300
L 300 5% 900, £:10.400 458 800 57% 300, 7K:10,400, F:10,300
L 300 5% .900, £:10400 458 800 57% 300, 7K:10,400, F:10,300
L 1600 54% 300 458 100 56%
L 600 54% 300 458 100 56%
L 500 46% 400 458 000 48%
L ,500 46% 100, £:10.400 458 000 48% 700, £:14.000, +:10.300
L ,500 46% 100, £:10.400 458 000 48% 700, £:14.000, +:10.300
RR(AE) =K% R (AE) R L66 1 000 65% 13,800, H:12.500 458 800 68% 11,300, £:13,000, +:12,900
[JL663 700 61% 14,800 458 000 65% 4,200, £ +:14.700, H:13,100
[ JL665 700 63% 000 458 000 67% 113,100, +:13,400
[ JL667 000 65% 200 458 300 72% 11,600, %:13,400, H:13,900
[ JL669 000 65% 6.400 458 000 67% 300, 1:12,800, H:14,800
L671 000 65% 400 458 000 67% 300, +:12,800, H:14,800
KH%E | _JL662 800 68% 3400, £:14900 458 300 72% 200
[ JLe64 800 68% 400, F:14,900 458 300 72% 200
[ JLe6s 000 65% 458 000 67% 800
670 000 65% 458 000 67% 800
L672 700 1 200 458 100 65% 700, F:14,000, H:15,500
L674 700 3% | +:14000, H:16,000 458 100 67% 700, F:13,000, H:14,500
e (OE) B8 HR CAE) 5 [ JL605 600 7" K:14,300, F:16,300, H:13,00 458 000 70% 900, F:11,300
[ JL607 600 4 7,400, +:17.000, H:14900 458 200 67% 700, F:15,400, H:13,600
[ JL609 500 7 K:14.000, & +:15200, H:14.100 458 200 70% K:13.000, F:13,400, H:12,600
611 500 114,000, % F:15,200, H:14,100 458 200 70% 113,000, F:13.400, H:12,600
1613 900 4,000, £:16.000, H:16,600 458 700 7 113,200, 3:12,700, H:13,700
L615 900 4,000, £:16,000, H:16,600 458 700 7 113,200, F:12,700, H:13,700
RB% | _JL606 000 00, & +:15.400 458 500 7 13,200, H:12,800
L608 000 300, £+ 15400 458 500 7 13,200, H:12,800
L 000 14,600, £:14,800, F:14,500, H:14.300 458 700 7 12,300
L 400 800, F:13.900, H:17,300 458 300 7 300, F:11,600, H:14,300
L 400 00, F:13,900, H:17,300 458 300 7 300, +:12,400, H:14,300
L 600 13,900 458 000 7 900, F:11,600, H:13,700
R (OE)FA R (FH) 3 |__JL62: 700 000 458 400 72% 700, H:10,800
[ JL625 200 X 458 900 7% 200 H:11,300
[ JL627 600 ,900, H:14.400 458 400 70% 700, H:11,300
[ JL629 600 ,900, H:14.400 458 400 70% 700, H:11,300
L631 600 ,900, A:14.400 458 400 70% 2,700, H:11,300
1633 000 458 800 69% 000
[ JL637 000 200, H:15,300 458 400 72% 800, F:11,300, H:12,700
1639 000 000, H:16,400 458 800 69%
AR | JL622 700 458 000 68%
[ JL624 200 300, H:13,600 458 300 70
[ JL626 200 @l 300, H:13,600 458 300 7 000, % F:11,600, H:11,500
[ JL628 500 000, +:13.700, H:14,600 458 300 7
[ JL630 500 000, 13,700, F:14,600 458 300 7
[ JL632 500 000, £:16,000, 13,300, H:16,400 458 300 7 £13.100, H:13,400
[ JL634a 200 800, H:16,400 458 300 7 700
1638 200 458 300 7 700
R (AB)=-BH RR(FAE) % [ JL6s7 000 458 000 68% 2900
[ JL689 000 458 000 68% 900
L691 700 14,400 458 200 68% 800 H:13,000
1693 900 13,700, H:14500 458 800 74% 11,500
L695 400 300, 115,800, F:14,300, H:16,600 458 000 68% 14,800
697 500 4,200, %:17,300, H:16,600 458 200 68% 14,800, 14,600
B | JL68s 500 16,100, K F1:14,000, #:15,300, F:16,600 458 200 68% 3,000, £:13.800, F:14,800, H:12,800
[ JL690 300 458 800 66% 13,000, %:13,200, H:12,800
[ JL692 500 00, £ 00, 458 000 7% 2,200
[ JL694 000 500, 15,300, &:14, 458 200 68% K:12.800, 13,000, H:14,800
[ JL696 000 458 800 69% 4,400, F:13.200, H:15,300
698 700 458 500 67% f:12,900, H:14,800
RRCAHE)=-ERS RR(HH) # L ,000 458 800 73%
L 900 458 300 72%
L 200 458 800 71
L 500 458 300 7 +:12.400, B:11,700
L 500 458 300 7 12,400, H:11,700
L 100 458 300 7 112,400, H:13,000
[ JL 300 5000, H:16,300 458 100 7 200, F:12,500, H:14,500
L655 800 5000, F:14,300, H:16,500 458 800 7 200, F:12,500, H:14,700
BERER L 500 0 458 400 74 000, +:12,400
L 500 458 400 74 000, +:12,400
L 000 458 800 71% | X:13,400, £+:13000
L 500 458 400 72% | H:12.800, %:13,000, F:12,700
100 458 400 74% £ [:12.300, +:11,300
100 458 400 74% € [:12.300, F:11,300
000 458 000 68% | 14,400, 3:12,400, H:14,500
000 458 800 68% 4,400, % A:14.500, £:12.400
AL ] P ACEE] 200 458 700 58% 4,300, F:15,300
800 458 300 56% 16,000, B:14,100
200 458 700 55% 6,000, 15,600, H:15,300
200 458 700 52% 17,700, £:15,000
FB% 100 458 600 49% 5,600
500 458 000 54% 16,600, H:15,800
600 458 100 57% 116,000, £:17.100, F:13,500
4,600 458 100 57% 6,000, £:17.100, £:13,500
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5MTA 378
(=40} E%
TR S BEH T8 = BEH
| ERR | six kil mamg| EAH | maiw | kil
TR (PE AR (FH | BRPH) % L101 kil 600 54% 000, £:11,800 45B ] 100 56% | H:0500, T:11,600
[ JL103 600 5% 400, £:11,800 458 100 56% 00, £:11,600
7 500 46% 100, +:11,800, H:10.400 458 000 48% 600, £:11,700, H:10,300
L1t 400 1 000, £:11,800, H:10.400 458 900 53% 500, £:11,700, H:10,300
L113 400 1 500, £:11,800, H:10.400 458 900 53% 000, +:11,700, H:10,300
L115 900 3 000, F:11,800, H:10.400 458 400 55% 500, £:11,700, H:10,300
L117 900 3 400, £:10,800, H:10,400 458 400 55% 900, F:10,600, H:10,300
9 800 7 300, H:10,400 458 300 59% 800, F:10,600
[JLizi 800 7 1,300, H:10,400 458 300 59% 800, F:10,600
[ JLi2s 300 1% | K:12,700, £:13,000, £:10,400, H:10.800 458 800 53% 2,200, +H:10300
L127 200 48%_|J 400, B:11,000 458 700 50% 400, A #:13,500, £:10,300, H:10,600
L131 200 48% |} 10400, H:11,800 458 700 50% 400, A #:13,500, £:10,300, H:11,700
L133 200 48% |} 400, H:11.800 458 700 50% 400, 7 %:14,000, £:10,300, H:11,700
L137 200 48% |} 400, H:11.800 458 700 50% 400, 7 #:14,000, £:10,300, H:11,700
L 200 48% |} 400, H:11.800 458 700 50% | H:12.400, A%:14000, +:10,300, H:11,700
BN ACEE] L 700 65% |- 458 200 67% | H:8600, :10,300
L 200 48% | H:9,100, H:14,100, £:10,400 458 700 50% | F1:8,600, F:14,000, £:10,300
L ,200 48% [H:9,100, H:13400, +:10.400 458 700 50% 1:8,600, f:13,300, +:10,300
L 200 48% [H:9.100, H:13400, £:10.400 458 700 50% 1:8.600, f:13,300, £:10,300
L 400 51% :9.100, F:11,300 458 900 53% | F1:8,600, F:10,800
L 700 54% 00, £:11,800 458 200 56% 9,100, F:11,700
L 300 55% 11,800 458 800 57% 300, F:11,700
L 300 5% 900, £:10.800 458 800 57% 300, 7K:10,400. F:10,300
L 300 5% 900, £:10.400 458 800 57% 300, 7K:10,400, F:10,300
L 300 5% .900, £:10400 458 800 57% 300, 7K:10,400, F:10,300
L 1600 54% 300 458 100 56%
L 600 54% 300 458 100 56%
L 500 46% 400 458 000 48%
L ,500 46% 100, £:10.400 458 000 48% 700, £:14.000, +:10.300
L ,500 46% 100, £:10.400 458 000 48% 1:11,700, £:14.000, £:10.300
R (N -AA EC ] L661 700 66% 13,800, H:12.500 458 800 68% 000, +:12,900, H:11,300
[JL663 700 61% 14,800 458 000 65% 200, % F:14,700, H:13,100
[ JL665 700 63% 000 458 000 67% 100, £:13.400
[ JL667 000 65% 200 458 300 72% 11,600, %:13,400, H:13,900
[ JL669 000 65% 6.400 458 000 67% 300, 1:12,800, H:14,800
L671 000 65% 400 458 000 67% 300, +:12,800, H:14,800
KH%E | _JL662 800 68% 458 300 72%
[ JLe64 800 68% 458 300 72% 200
[ JLe6s 000 65% 458 000 67%
670 000 65% E 458 000 67%
L672 700 61% E 458 100 65% [ :14,700, £:14,000, H:15500
L674 700 63% 000, H:16,000 458 100 67% 700, F:13,000, H:14,500
R (HE) =K% HR CAE) 5 [ JL605 300 67% 14,600, %:16,300, H:13.200 458 000 70% 900, F:11,300
[ JL607 600 64% | £:17,400, %:17,000, H:14,900 458 200 67" 700, F:15,400, H:13,600
[ JL609 000 68% | H:14,500, £:16,800, £:15,200, H:14.100 458 000 7 200, £:15,000, £:13.400, H:12,600
611 000 68% | H:14,500, £:16,800, :15,200, H:14.100 458 000 7 200, £:15,000, 13,400, H:12,600
1613 900 68% £:14,000, £:16,000, H:16,600 458 700 7 200, +:12,700, H:13,700
L615 900 4,000, £:16,000, H:16,600 458 700 7 200, £:12,700, H:13,700
RB% | _JL606 000 458 500 7 13,200, H:12,800
L608 000 458 500 7 13,200, H:12,800
L 000 114,800, F:14,500, H:14.300 458 700 7 114,900, £+ H:12,300
L 400 +:13,900, H:17.300 458 300 7 300, +:11,600, H:15,900
L 400 3900, H:17,300 458 300 7 300, F:12,400, H:15,900
L 600 13,900 458 000 7 900, F:11,600, H:13,700
R (OE)FA R (FH) 3 |__JL62: 700 000 458 400 72% 11,700, H:10,800
[ JL625 200 X 458 900 7% 12,200, H:11,300
[ JL627 600 ,900, H:14.400 458 400 70% 600, +:12.700, H:11,300
[ JL629 600 ,900, H:14.400 458 400 70% 900, F:12,700, H:11,300
L631 600 ,900, A:14.400 458 400 70% 900, F:12,700, H:11,300
1633 000 00 458 800 69%
[ JL637 000 200, H:15.300 458 400 72% 1,300, H:12.700
1639 000 000, H:16,400 458 800 69% 3,800, H:14,800
AR | JL622 700 458 000 68% 4,300, F:12,800
[ JL624 200 458 300 70 2,600, F:14,900, H:13,300
[ JL626 200 000 458 300 7 1,600, 12,500, H:12.400
[ JL628 500 700, H:14.600 458 300 7
[ JL630 500 00, F:14,600 458 300 7
[ JL632 500 16,000, F:13,300, H:16.400 458 300 7 400
[ JL634a 200 400 458 300 7 700
1638 200 400 458 300 7 700
RR(AE) =B8R RRCAE) 5 [ JL68T 000 458 000 68% 3200 Hid2000 |
[ JL689 000 458 000 68% 200, H:12,900
L691 700 458 200 68% 800, H:13,000
1693 900 458 800 74% 900, H:11,500
L695 400 458 000 68% 14,800
697 500 458 200 68% £:16.500, H:14,600
B | JL68s 500 458 200 68% £:13,800, 7K:13,000, 14,800, H:12,800
[ JL690 400 458 000 68% 200, 3:13,800, H:12,800
[ JL692 500 0, 458 000 7% 200
[ JL694 000 500, 114, 458 800 69% 13.200, 13,000, H:14,800
[ JL696 000 [£:15.200, B:16 458 800 69% 400, +:13.200, H:15,300
698 700 [£:16.000, F:14, 458 500 67% 700, F:12,900, H:14,800
RRCAHE)=-ERS RR(HH) # L ,000 .100 458 800 73%
L 900 100 458 300 72%
L 200 500 458 800 71 12,400
L 500 458 300 7 12,400, B:11,700
L 500 458 300 7 +:12.400, B:11,700
L 100 458 300 7 H:13,
[ JL 300 458 100 7 12,500, B:14500
L655 800 458 800 7 12,500, 8:14,700
BERER L 500 458 400 74% | 14,400, %:12,000, F:12,400
L 500 458 400 74% | X:13,000, %:12,000, +:12,400
L 000 458 800 71% | X:14,400, &+ 13000
L 500 458 400 72% | #:13,000, +:12,700, H:12,800
100 458 400 74% [£A:
100 458 400 785 |4
000 458 000 68%
000 458 800 68%
KR (BB P ACEE] 200 458 700 58% 15300
800 458 300 56% 14,100
200 458 700 55% 5,600, B:15,300
200 458 700 52% £:15.000
FB% 100 458 600 49%
500 458 000 54% 16,600, H:15,800
600 458 100 57% 116,000, £:17.100, F:13,500
4,600 458 100 57% 6,000, £:17.100, £:13,500
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(=40} E%
TR S BEH T8 BE BEH
mamg| EHE | wsiw - kil pamg| TR | gEw | kil
RE CRE)=A R (B ESACTES Lio1 B 600 54% 000, £:11.800 45EFI 100 56% | H:9,500, £:11,600
[_JL103 600 54% 400, £:11,800 45H 100 56% 300, £:11,600
7 700 46% 400 JE 3500, £:11,800 45H 200 48% 300. 7E 13,000, £:11,700
Litt 700 50% 400 JE 2,400, 1:11,800 45H 200 52% 300. 7E 11,900, £:11,700
L113 700 50% 400 JE 2,400, 1:11,800 45H 200 52% 300. 7E 11,900, £:11,700
L115 700 50% 400 JE 1,900, +:11,800 45H 200 52% 300. 7E 11,400, £:11,700
L117 400 51 400 JE 1,900, +:10.800 45H 900 53% 1:10,300. 7E 11,400, 1:10,600
9 800 7" 400 I 1,300, %:11,300 45H 300 59% 800, £:10,800, +:10,600
[_JLi2i 800 7" 400 I 1,300, £:11,300 45H 300 59% 800, £:10,800, +:10,600
[ JL125 300 1 800. I 2,700, £:13,000, £:10.400 45H 300 59% 800. I 12,200, £:12,500
L127 400 7" 000. JE 3,200, 1:10,400 45H 900 49% 600. 7E 12,700, £:10.300
L131 400 7" 800. JE 3,200, 1:10,400 45H 900 49% 700. 7E 12,700, £:10.300
L133 400 7" 800. JE 3,200, 1:10,400 45H 900 49% 700. 7E 12,700, £:10.300
L137 400 7" 800. JE 3,200, 1:10,400 45H 900 49% 700. 7E 12,700, £:10.300
L 400 7" | H:11,800. JE 3,200, £:10,400 45H 900 49% 1:11,700. 7E 12,700, £:10.300
KR () 5 L 700 65% 458 200 67% 1:8,600, +:10,300
L 200 48% 45H 700 50% 1:8,600 £:10,300
L ,200 48% 458 700 50% | F1:8.600, F:10,300
L ,200 48% 458 700 50% | F1:8,600, F:10,300
L 400 51% 458 900 53% | H:8600, +:10,800
L 700 54% 458 200 56% 9,100, %:11,700
L 300 55% 458 800 57% 300, +:11,700
L 900 57 £10,800 458 300 59% 300, 7K:10.400, F:10.300
L 900 7 0 458 300 59% 400
L 900 7 458 300 59% 300 £:10.300
L 600 4 458 100 56%
L 600 |54 458 100 56%
L ,500 6% 45H 000 48%
L ,500 46% 45H 000 48%
L ,500 46% 45H 000 48%
B TR CHE) 5 |_JL66! 700 63% 458 100 65%
[ JL663 200 57% 458 700 61%
[ JL665 700 63% | +:15200 458 700 66%
[ JL667 500 64% | A%:14.700, H:15200 458 500 68%
[ JL669 700 63% 800, +:14,200, H:17.300 458 000 7
L671 700 63% | £:17,800, F:14,200, H:18.100 458 000
KHFE  |_JL662 800 65% 400, £:15,600 458 600 100
[ JL664 800 65% 400, £:15,600 458 600 100
[ JL668 700 63% 458 000  F1.13.600. T 13,700
670 700 63% 458 000 13,600, +:13,700, H:13,900
L672 500 50% 458 500 %16,700, + 15,000, H:18.400
L674 500 50% 458 500 200, B:17,500
HFE(PE)=RF B (FE)F |_JL605 400 67% 458 100 400, H:11,600
[—JL607 800 61% 458 200 700, +:16,400, B:14,600
[—JL609 300 67% 458 000 213,500, 1:15,000, B:13,600
611 300 67% 458 000 70% [%:13,500, :15,000, H:13,600
L613 000 68% 458 600 71% i
L615 000 68% 458 600 E
R | JL606 000 68% 458 000 70% |2
L608 000 68% . 45H 000 70"
L 100 68% |4 700, F:16.000 45H 600 7
L 400 67% 700, F1:19.300 45H 000 7
L 400 700, 8:19,300 45H 000
L 700 45H 100
R PE) A R (AE) 5 |_JL62 700 45H 000 100, F:12.700. H:10800
[ JL625 200 . 45H 500 600, +:14,200, H:12.200
[ JL627 1000 000, F1:15.600 45H 000 66% 200, 114,700, F:15.500. H:12,900
[ JL629 700 000, F:16.100. H:15.400 45H 700 67% 000, 13,200, H:11900
L631 700 000, F:16.100. H:15.400 45H 700 67% 000, 13,200, F:11,900
L633 900 45H 000 68% 800, 13,100, F:13,600
[ JL637 000 45H 800 66% 000, + 12,900, H:15,000
L639 900 45H 100 68% 600, £:15,500, F:12,800, H:15,800
FeAR | J622 700 45H 300 68% 300, H:13,000
[ JL624 100 45H 900 69% 3400, H:13,300
[ JL626 300 45H 900 71% 2,400, H:13,300
[ JL628 400 45H 300 73% 11,800, B:12,100
[ JL630 400 45H 300 73% 1,800, A:12,100
[ JL632 100 45H 900 69% 800, +:12,400, F:15,300
[ JL63a 900 45H 900 69% 800, H:16,000
L638 900 45H 900 69% 00, H:15.500
TR (B B8 TR (FIE) 3 |_JL687 700 458 000 | 68% 900, F:13,900
[ JL689 900 45H 000 68% 900, +:13,900
L691 700 000 45H 700 67% 700, +:14,500, B:13.300
L693 900 700, F1:15.600 45H 800 7% 900, +:12,200, H:12.300
L695 700 300 45H 300 68% 900, H:14,800
697 700 14,100, H:16.800 45H 300 68% 400, B1:14,800
ERRE | _Jess 700 000, F:17.100. H:14,000 45H 000 68% 200, 13,800 F14800
[ JL690 700 000, F:14.000 45H 300 68% 900, +:14,500, B:13,000
[ JL692 500 14,000 45H 200 70% 12,000
[ JL6o4 000 700, F1:17.300 45H 000 68% 700, £:13:300, B:14,800
[ JL696 000 45H 200 68% 400, F:13.400, H:15,700
698 700 45H 900 66% 000, F:13,000, F:15,900
RRCAHE)=-ERS FRCRE) L 200 456 800 73% 000
L 900 456 300 69% 300, £:15,000, H:12,400
L 000 456 800 66% 16,000, F:13.100
L 200 456 700 73% 800, +:13,000, H:12,700
L 200 456 700 73% 800, F:13,000, H:12,700
L 500 456 400 74% 100, +:11,700, H:13,800
L 100 456 100 72% 500, +:12,400, H:13,900
L655 100 456 100 72% 500 +:12,400, H:13,900
BERER L 800 100 458 300 72% 800, F:13,500
L 800 458 300 72% 800, F:13,500
L 200 456 000 70% 200, £:13,500
L 200 456 800 7% 200, B:13,000
200 456 300 72% 13,200, +:12,000
200 15,700 456 300 69% 14,200, +:13,000
200 5,700, +:14,300_H:16.500 456 500 67% 4,900, 1:12.400, B:15,500
200 E 456 500 69% 13,900, F:12.400
AR ] EACE] 600 E 456 100 57% 4,700 1:15,700
300 E 456 800 54% 16,500, B:14,500
600 E 456 100 50% |%:16,500, +:16.100, H:15,700
600 E 456 100 50% 18,200, F:15,500
FaR 600 I 458 100 47% 6.100
000 456 500 52% 17.100, F1:16.200
000 456 500 5% 500, £:17,600, £:13,900
2250 000 458 500 55% | H:16.500, £:17,600, £:13,900
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mamg| EHE | wsiw kil mAmg| EAH
R (BHE)=KK (F/7) BR(HE) R B 600 54% 000, £:11,800 458 A 100
600 5% 400, £:11,800 458 100
500 46% 100, +:11,800, H:10.400 458 000
400 1 000, £:11,800, H:10.400 458 900
400 500, £:11,800, H:10.400 458 900
900 000, F:11,800, H:10.400 458 400
900 400, £:10,800, H:10,400 458 400
800 300, H:10,400 458 300
800 1,300, H:10,400 458 300 +:10
300 2,700, %:13,000, £:10,400, H:10,800 458 800 53% 2,200, £ H:10,300
200 2,900, A%:14,000, £:10400, B:11,000 458 700 50% 400, A #:13,500, £:10,300, H:10,600
200 2,900, A %:14,000, £:10.400, H:11,800 458 700 50% 400, A #:13,500, £:10,300, H:11,700
200 2,900 100 400, H:11.800 458 700 50% 400, 7 %:14,000, £:10,300, H:11,700
200 2,900 100 400, H:11.800 458 700 50% 400, 7 #:14,000, £:10,300, H:11,700
L 200 <%:14,100. 400, H:11.800 458 700 50% | H:12.400, A%:14000, +:10,300, H:11,700
IR (A5 |_JL 700 100 458 200 67% | H:8600, :10,300
L 200 100 £:10,400 458 700 50% | F1:8,600, F:14,000, £:10,300
L 200 400, £:10,400 458 700 50%
L 200 13,400, £:10,400 458 700 50%
L 400 11,300 458 900 53%
L 700 11,800 458 200 56%
L 300 11,800 458 800 57%
L 300 K:10,900, F:10,800 458 800 57% 300, 7K:10.400, F:10,300
L 300 900, £:10.400 458 800 57% 300, 7K:10.400, F:10,300
L 300 .900, £:10400 458 800 57% 300, 7K:10,400, F:10,300
L 600 300 458 100 56% 700, +:9.800
L 600 300 458 100 56% 700, 9
L 500 400 458 000 48% 700, £:10,300
L 500 100, F:10400 458 000 48% 700, %:14,000, £:10.300
L 500 1,100, +:10400 458 000 48% 700, #:12,000, £:10,300
RR(AE) =K% R (AE) R 700 %:16.000, £:15,600, H:13,500 458 100 65% 200, H:11,600
N 700 17,200, B:15,600 458 700 63% 200, % F:15,700, H:14,000
N 700 458 700 66% 900, H:13,000
[ 500 15,200 458 100 70% 12,600, £:13,700, H:13,900
N 700 00, F:17.300 458 000 7 114,400, H:14,800
700 00, F:18,100 458 000 115,400, H:15,800
RAF 800 400, 15,600 458 600
[ 800 400, 15,600 458 600 100
700 458 000 X:13,200, 2 H:13,600, £:13,700
700 458 000 X:13,200, £:13,600, +:13.700, H:13,900
500 8200, H:20,000 458 500 900, £:16,700, F:15,000, H:18,400
500 00 458 500 00, H:17,500
RR (AE)=RK R CAE) R [ JL 400 16,900, H:14.200 458 100 0% 00, H1:12,000
[ 800 000, H:15,900 458 200 65% | £:16,700, F:16,400, H:14,600
300 800, £:17,200, F:15,200, H:15.100 458 000 70% | H:13,200, £:14,900, £:16,200, 13,900, H:13,600
300 800, £:17,200, F:15,200, H:15.100 458 000 70% | H:13,200, :14,900, £:16,200, £:13.900, H:13,600
000 00, H:17,200 458 600 7% 200, %:13,000, H:14,700
000 00, F:17,400 458 600 71% [:14,200, F:13,000, H:15,700
RA% 000 100, £:16.600 458 000 70% | X:14,900, £:14,200, F:15,200
[ 000 45H 000 70" 114,900, % F 14,200
L 100 458 600 7 200, +:13,000, H:14,000
L 400 458 000 7 900, #£:17,000, F:14,900, H:17,200
L 400 458 000 16,900, £:17,000, :14,900, H:17,200
L 700 458 100 16,000, F:12,500
WS (HH)-BEA HE(HE) % | J 700 458 000 112,100, +:12,700, H:10,800
[J 200 0 458 500 3600, 14,200, H:12,200
[J 000 g 17,000, H:15,600 458 200 65% 7K:14,000, %:14,700, F:15,500, H:12,900
[J 000 7K:14,700, #:16,000, +:16,100, H:15.400 458 200 68% 7K:13,000, % +:13700, B:11,900
000 116,000, F:16.100, A:15.400 458 200 68% 7K:13,000, & +:13.700, H:11,900
000 H.14.700 458 000 68% ) 7K:12,800
[ JL 000 116,000, F:14,900, H:17.300 458 800 66% 2,900, F:15,000
900 7,500, £:14,800, H:17.800 458 100 68% 3,600, £:16,100, F:12,800, H:15,800
RAR | J 700 00 458 300 68% 13,000
[J 100 458 900 69% t:13.400, H:12,300
[J 100 458 900 1% F 12,400, H:12.300
[J 400 458 300 73% 2,100
[J 400 458 300 73% 3:12.100
[J 100 458 900 69% 2,400, F:15,300
[J 900 458 900 69% 6,000
900 458 900 69% 5,500
RR(AE) =B8R RRCAE) R [_J 700 458 000 68%
900 458 000 68% 900
700 458 700 67% 700, F 14,500, H:13,300
[J 900 700, H:15,600 458 800 74% 900, F:12,200, H:12,300
700 300 458 300 68% 800, %:13,000, H:14,800
700 458 300 68% 15,400, H:14,800
ECE 100 100, B:14,000 458 200 68% 7K F:13.000, %:13,800, F14,800
[J 700 000 458 300 68% 900, 14500, H:13,000
[J 500 458 000 7% H:12,200
[J 000 200, F:14.700, H:17.300 458 000 68% | H:13,200, £:13,700, 313,300, H:14,800
[J 000 900, H:17.300 458 200 68% 4,400, F:13,400, H:15,700
700 100, H:17,300 458 900 66% 000, F:13,000, H:15,900
RRCHE)-ERE R CAE) 5 [ JL 200 458 800 73% 3,000
L 900 458 300 69% 4,300, F:15,000, H:12,400
L 000 458 800 66% |£+:16000, H:13,100
L 500 458 700 73% 112,800, 3:13,000, H:12,700
L 500 458 700 73% 800, F:13,000, H:12,700
L 500 458 400 74% 200, F:11,700, H:13,800
[ JL 100 458 100 72% 500, F:12,400, H:13,900
L655 100 458 100 72% 500, F:12,400, H:13,900
BERER L 800 458 300 72% 800, +:13,500
L 800 458 300 72% 800, +:13,500
L 200 458 000 70% 000, %:13,00, +:13500
L 100 458 800 71% | 4:13,200, H:13,000
200 458 300 72% :13,200, +:12,000
200 458 300 69% 14,200, F:13,000
200 458 500 67% 4,900, F:12,400, H:15,500
200 458 500 69% 13,900, F:12,400
AL ] KR (D 5 |_JL22d 600 458 100 57% 4700, F:15,700
224 300 458 800 5% £:16.500, B:14500
[JC224: 600 458 100 54% | 116,500, 3:16,100, H:15,700
1225 600 458 100 50% 18,200, £:15,500
FB% 1224 600 458 100 47% 6,100
1224 000 458 500 52%
[JC2226 000 E . 458 500 55%
2250 000 000, %:18,100, +:14.400 458 500 55% | F:16,500, £:17,600, +:13,900




rEJEE EER(1AT~9BERESD)

EERAA 2016/09/13
78 79
] 37A | 5478 | S{7A | 5478
FR CRE) =Kk () RRCAE) & 000 [ 9500 000 | 9,500
400 300 400 300
400 300 400 300
400 300 400 300
400 300 400 300
400 300 400 300
400 300 400 300
400 300 400 300
400 300 400 300
800 300 800 300
000 600 000 600
800 700 800 700
800 700 800 700
800 700 800 700
800 | 11,700 800 | 11,700
KR(FDRE [ 100 600 100 600
100 600 100 600
100 600 100 600
[o.100 600 100 600
0600 | 8600 600 | 8,600
400 100 400 100
400 300 400 300
400 300 400 300
400 300 400 300
400 300 400 300
800 700 800 700
800 700 800 700
800 700 800 700
800 700 800 700
800 700 800 700
FRCRE)=K5 RRCRE) % ,800 .300 ,800 .300
800 100 800 100
000 900 000 900
700 400 800 000
700 400 700 400
700 400 700 400
K55 800 300 100 300
800 300 100 300
700 000 600 800
700 000 600 800
200 900 600 900
200 900 600 7,100
FRCRE) =R RERCPAE)E | J ,500 300 ,500 300
900 600 900 600
100 600 700 600
100 600 700 600
900 700 600 500
900 700 600 500
[ 500 200 400 200
500 200 400 200
100 300 400 300
700 300 600 100
700 300 600 100
700 700 000 000
FR(CRE) =R RRCAE)E | J ,000 ,800 ,000 800
500 300 500 300
800 300 400 300
800 300 400 300
800 300 400 300
600 000 300 800
700 700 900 700
200 200 600 900
AR 000 800 000 800
200 500 200 500
200 500 200 500
600 300 600 300
600 300 600 300
200 200 100 500
200 700 600 600
200 700 600 600
RRCRR)=21 EEACT:ES ,000 ,900 ,000 ,900
000 900 000 900
400 000 300 800
700 500 500 600
700 500 600 800
200 200 600 100
EEE] 500 200 300 800
000 800 100 300
000 200 600 300
200 800 700 800
200 400 800 900
000 700 800 7,900
AR (PE-ERS RR(PE)R 000 800 000 3,800
500 300 500 4,300
500 400 500 4,400
200 700 500 700
200 700 500 700
200 000 000 000
000 500 500 700
000 500 500 4,700
BEREBR 500 400 500 1,400
500 400 500 1,400
000 800 100 400
000 800 100 400
200 300 000 200
200 300 000 200
000 000 800 900
000 000 800 7,900

JAL



rEBE5 EER(2A6~IBRESD)

EERAA 2016/09/13
277 278 279
=R M7A | 378 | B7A | #yB | 37A | 5478
HR (AE) =K R (DB R 700 00 700 600 4,700 100
700 700 700 700 7,500 000
700 700 700 700 700 700
500 100 500 100 700 600
700 | 13,000 700 | 13,000 700 000
700 | 13,000 700 | 13,000 700 000
K% 800 600 800 600 800 600
800 600 800 600 800 600
700 200 700 13,000 700 000
700 200 700 | 13,000 700 000
500 500 500 500 500 500
500 500 500 500 500 500
R (RE) =B R (PE) % [_JL605 | 400 100 400 100 400 100
800 800 800 200 800 200
300 000 300 000 300 000
300 000 300 000 300 000
000 600 000 600 000 600
000 600 000 600 000 600
R 000 000 000 000 000 000
000 000 000 000 000 000
1100 600 100 600 300 600
400 000 400 000 400 000
400 | 13,000 400 | 13,000 400 000
700 100 700 100 700 100
R (PE)=REX R (PE) R 700 000 700 000 700 000
200 500 200 500 200 500
700 000 700 000 000 200
700 000 700 000 000 200
700 000 700 000 000 200
000 800 000 800 100 000
000 800 000 800 100 800
900 100 900 100 900 600
A% 700 300 700 300 700 300
100 900 100 900 100 900
100 900 100 900 100 900
400 300 400 300 400 300
400 300 400 300 400 300
100 900 100 900 700 900
900 900 900 900 100 900
900 900 900 900 900 900
R (DB -2 R (PE) R 700 000 700 000 700 000
900 000 900 000 900 000
700 700 700 700 700 700
900 800 900 800 900 800
700 300 700 300 700 300
100 300 700 300 700 300
] 100 200 700 000 100 200
700 300 700 300 700 300
500 000 500 000 500 000
000 000 000 000 000 000
000 200 000 200 000 200
700 900 700 900 700 900
ERCPE)-ERS EEAC RS ,200 .800 ,200 .800 ,200 .800
900 300 900 300 900 300
000 800 000 800 000 800
500 700 500 700 500 700
500 700 500 700 500 700
500 400 500 400 500 400
100 100 100 100 100 1100
100 100 100 100 100 100
BRBR 800 300 800 300 800 300
800 300 800 300 800 300
000 000 200 000 200 000
1100 800 100 800 100 800
200 300 200 300 200 300
200 300 200 300 200 300
200 500 200 500 200 500
200 500 200 500 200 500

JAL



MEBE5| 1 BER(2A10~12BEES)

EEEAE 2016/09/13
2710 2711 2712
=R HM7A | 378 | 57A | 5478 | 57A | 5478
RERCAB)=XR(FF) | RR(AB) % 100 600 800 600 000 | 9,500
100 600 800 600 400 300
100 600 800 700 400 300
000 500 800 700 400 300
500 000 800 700 400 300
000 500 800 700 400 300
000 600 800 600 400 300
000 600 800 600 400 300
000 600 800 600 400 300
000 600 400 300 800 300
000 600 400 300 000 600
000 600 400 300 800 700
000 600 400 300 800 700
000 600 400 300 800 700
000 | 10,600 ,400 300 800 | 11,700
KR () 5 |_J 700 | 8.200 400 300 100 600
600 100 ,400 300 100 600
1600 100 ,400 300 100 600
1600 100 ,400 300 | 9,100 600
1600 100 1300 300 | 9600 | 8600
700 00 1800 800 400 100
300 800 800 700 400 300
000 600 800 300 400 300
000 600 ,400 300 400 300
000 600 400 | 10,300 400 300
000 600 300 | 9,800 800 700
000 600 300 | 9,800 800 700
000 600 400 300 800 700
000 600 ,400 300 800 700
000 600 ,400 300 800 700
R CHE) =K% RRCFE) 5% 000 200 ,600 100 500 600
200 700 200 700 600 000
700 700 200 900 700 000
700 700 500 600 200 900
800 400 200 000 300 800
800 400 200 000 100 800
KA 400 600 600 100 800 600
400 600 ,600 100 800 600
700 600 700 700 700 600
700 600 700 700 700 900
200 700 500 000 20,000 400
500 500 ,000 200 500 500
R CHE)=RA RRCHE) % [ J 700 100 ,900 ,400 200 000
400 700 ,000 400 900 600
200 500 200 ,900 100 600
200 500 200 900 100 600
500 700 000 ,000 200 700
500 700 000 ,000 7,400 700
RER 100 200 600 200 000 000
100 200 400 200 000 000
200 200 700 ,000 000 000
200 200 800 900 300 200
200 400 800 ,900 300 200
,000 ,000 300 500 000 000
RRCHE)=REA RARCHE) % [_JL623 | 700 100 800 700 900 800
200 ,600 ,000 200 200 200
800 700 7,000 500 600 ,900
800 700 100 700 400 900
800 700 100 700 400 ,900
,900 800 100 ,000 700 000
400 200 900 900 300 000
,000 ,000 800 800 7,800 800
AR 700 300 800 300 500 000
,300 ,400 300 ,400 500 300
,300 400 300 400 500 300
,000 1800 600 1800 600 100
000 800 600 800 600 100
,000 800 100 ,400 000 300
,000 800 ,900 ,900 7,500 000
7,800 800 900 900 7,500 500
RRCHE) =R R CFE) 5% 700 ,000 ,000 ,900 100 000
,000 ,000 ,200 ,900 900 000
800 700 000 500 700 300
,000 ,900 700 200 600 300
600 ,900 700 ,300 300 800
800 ,000 100 300 7,100 800
BER 000 800 100 800 000 000
200 ,900 ,000 500 000 000
700 200 700 200 000 200
,200 700 700 ,300 300 800
200 400 ,900 400 7,300 700
800 800 100 ,000 7,300 ,900
RRCPAE)=-ERE RECRE) & ,200 .800 100 ,000 ,000 .800
700 300 100 ,000 300 400
000 000 000 000 500 100
200 ,800 200 ,000 200 700
200 ,800 200 ,000 200 700
,100 200 200 700 700 800
100 ,900 100 400 300 900
100 ,900 100 ,400 300 900
ERER 800 ,800 500 ,500 100 300
800 ,800 500 ,500 100 300
200 200 200 ,500 200 000
200 200 200 800 200 000
200 200 500 ,000 700 200
200 200 500 ,000 700 200
700 900 300 400 500 500
700 ,900 100 ,400 700 900
KR (FFH =378 KER (A% | J ,600 100 ,600 100 ,000 500
000 500 000 500 000 500
5,600 100 5,600 100 200 700
6,600 100 6,000 500 8,700 200
F=E 7,600 100 7,600 100 6,600 100
7,600 7,100 7,600 7,100 7,000 ,500
5,700 5,200 4,400 3,900 7,000 ,500
5,700 5,200 4,400 3,900 7,000 ,500

JAL



TERBEEI EERCAI~IBERS)

EEEME 2016/09/13
3779
378
=30 EEW "%
EIEES - "
HR(PA)=ARFF) | KRCAB R 54% 500. +:11.600
54% $:11.600
48% 1.700. B:10.300
5% 113500, 011
51% 000, £:11
53% 500, +:11.700. H:10.300
53% 900, £:10.600. H:10.300
57% 800, £:10.600
57%
51%
48%
48%
48%
48%
48% R4
NG 65% 100 ¢
48% 600. F:14000. T
48% E2
48%
5% i
54% 1 00 :11.700
55% 0. 300, :11.700
55% 900, %:10800 1 300. 7K:10.400. F:10.300
55% 900, £:10400 0. 300, 7K:10400. F:10.300
55% 900. 1:10400 1 300. 7K:10400. F:10.300
54% i
5% i
6% 13
46% 13
6% 13
TR RE) X5 634 [ 14
60% 1
63% 1
63% 1
63% _:14500. H:17.300 1
63% :14500. H:18.300 1
Er) 65% %:14.700. 1:16.800 [
65% 3:14.400, %:14.700, £:16.000 1
63% 1
63% 1 x 00
59% 6.700. %:18.700. £:16.400. H:19.000 1 > B:17.500. £:14.900
59% 6.300. B:18.500 1 3.17.100
ER AE) - 67% 14.700. £:17.500 1
59% 9.400. £:19.000. H:16900 1
65% 700 1
65% |
67% 00. %:16.000. B:17.300 1
67% 4,500, £:17.000. B:18.300 13000
T 67% 6.100. £:17.600. B:14.700 13000
67% 13000
66% 1 13000
62% 118900, %:17.200. F:16.700 14.900
62% :18.900. %:17.200. +:16.700 14,900
62% 000, £:16.100. H:18.900 500
R CAE)=fEA 67% 800 Al | 12.200
63% 13700
61% 5.700. #:17.000. £:18,000. B:16.500 600
63% 4700, #:16,000. £:16.200, B:16.100 13600
63% :14.700. %:16.000. +:16.200. B:16.100 600
64% 000
63% H 000
61% &:17.500, £:15.800. H:18.500 900
3] 64% 800 13.700
61% 000, X:15.700. %:17.200. 17,400, B:15.100 900
63% 000 :14.700. %:16.200. +:16.400 900
65% 600
65% 600
63% 000._H:17.000 300
1 :18.500 900
I 18500 900
RRCPR) =28 4 L:16.000 | 13400 |
4 2:15.000. F:15200 13.400 |
4 »:16.800. 1:16000 [ 13700 |
7 800, %:15.000_ F:13.700. B:16.300 11.100
4 6.000. F:15500. B:17.300 13700
63% 14700, & 8:17.300 13.900
EER 61% +15.200. 7K:14.700. F:17.300. B:14,000 13,600
64% 200, £:16.000. H:14000 700
67% 3.70 000
66% . %:15.200. £:14.700. B:17.300 000
66% +:14.70 200
64% B:17.300 900 |
ROAE) R e 70% Al | 11.800 £:14.800
66% _£:18.700 13300 F:15.300. £:17.300,
63% £:19.000. B:15000 800 6.000. £:17.70¢
68% £:16.900._H:14.200 12300
68% :14.200. +:15.900 Al | 12.300
68% £:14.200. H:14.700 11900
7 [ 12600
12600
ERER A | 12800
—£:16.500 12800
13,000
[—12.800
63% H.16,500 [ 14700
63% . H:16.500 14.700
65% +:14.800_ H:16.500 500
67% £:14.000. B:15.700 500
KR () =58 BN 55% 00, £:16.2 00
53% 564 |4 F:17.000. B:15.000 12800
52% 55% 7,000, +:16.600, B:16.200 100 6,500,
49% 534 700. £:16.000 00 :18200. :15.500
FRR 46% 50% | F:16,600 00 1:16.100
51% 54% |4 F 17,600, B:16.700 500 7.100._H:16.200
54% 57% 7,000, %:18.100, £:14.400 500
54% 574 7,000, %:18.100. £:14400 500




I%/E5 :BEXR(BA10~16AEED)

WEEA A 2016/09/13
16
5MTA 378
B B8 IH T amm [E0W o 0 | arm prom
mm) =M BBIE | il BAME| T
RRAE) -AR (FF) | RxCHE) % |_JLi0l kil 600 58% | H:10,000, £:11,800 45B ] 100 500, E:11,600
[ JL103 600 58% 400, £:11,800 458 100 00, £:11,600
7 500 51% 100, £:11,800, H:10,400 458 000 600, £:11,700, H:10,300
L1t 400 55% 000, £:11,800, H:10.400 458 900 500, £:11,700, H:10,300
L113 400 55% 500, £:11,800, H:10.400 458 900 000, +:11,700, H:10,300
L115 900 57% 000, F:11,800, H:10.400 458 400 500, £:11,700, H:10,300
L117 900 57% 400, £:10,800, H:10,400 458 400 900, F:10,600, H:10,300
9 800 6% 300, H:10,400 458 300 800, F:10,600
[JLizi 800 6% 1,300, H:10,400 458 300 800, F:10,600
[ JLi2s 300 55% | A:12,700 0,400, H:10,800 458 800 2,200, £ H:10,300
L127 200 52% | H:12,000, K3 400, B:11,000 458 700 400, A #:13,500, £:10,300, H:10,600
L131 200 52% | H:12,000, K 400, H:11.800 458 700 400, A #:13,500, £:10,300, H:11,700
L133 200 52% | H:12,900 400, H:11.800 458 700 400, 7 %:14,000, £:10,300, H:11,700
L137 200 52% | H:12,900 400, H:11.800 458 700 400, 7 #:14,000, £:10,300, H:11,700
L 200 52% | H:12,000 400, H:11.800 458 700 112,400, A%:14,000, £:10.300, H:11,700
IR (A5 |_JL 700 68% | +:10,400 458 200 600, £:10,300
L 200 52% | H:0,100, H:14,100, £:10,400 458 700 600, F:14,000, :10,300
L ,200 52% |H:9,100, §:13.400, £:10400 458 700 600, H:13,300, £:10,300
L ,200 52% | £1:9,100, 5:13.400, £:10400 458 700 300, £:10,300
L 400 55% | HC 1,300 458 900 8,600, F:10,800
L 700 58% | H:C 800 458 200 9,100, F:11,700
L 300 5% 800 458 800 300, F:11,700
L 300 5% 900, F:10,800 458 800 300, 7K:10.400, F:10,300
L 300 5% K:10,900, F:10,400 458 800 300, 7K:10.400, F:10,300
L 300 900, F:10,400 458 800 300, 7K:10,400, F:10,300
L 1600 300 458 100
L 600 300 458 100
L 500 10,400 458 000
L ,500 100, 1:10.400 458 000 700, £:14.000, +:10.300
L 500 >:14,100, £:10,400 458 000 11,700, £:14,000, £:10,300
e (RE) XS R (AE) % |__JL66l 700 300, F:16,400, H:13,800 458 800 600, F:14,900, H:13,400
[ JL663 700 X 18,000, H:15,900 458 000 16,500, H:14,400
[ JL665 700 200, H:15.100 458 500 000, H:14,400
[ JL667 000 300, £:15,700, H:16,200 458 100 600, :15,500, H:15,900
[ JL669 300 100, $: H:17,800, £:15000 458 600 400, % H:17,000, £:13,800
L671 300 100, £::18,800, F:15,000, H:18,500 458 600 400, %:17,600, 13,800, H:17.000
KH%E | _JL662 100 0, £:16,800 458 400 300
[ JLe64 100 0, £:16.300 458 400 300
[ JLe6s 700 100 458 500 600, :15,400, KK:14.400
L670 700 15,100 458 500 600, :15,400, KK:14.400
L672 500 > £:19.000, F:16,800 458 500 £ 817,500, +:15900
1674 500 6 458 500
HFE(PE)=RF HR(FE) % [_JL605 600 G 17,900, H:15,500 458 500
[ JL607 900 £ 16,900 458 900
[ JL609 300 16,200, H:16,100 458 100
L611 300 16,200, H:16,100 458 100
L613 000 500, £::17.000, H:18,200 458 200
L615 000 500, %:18.000, H:18,400 458 200
RB% | _JL606 000 100, +:17,600 458 200
L608 000 100, +:17.400 458 200
L 100 15,700, H:17.000 458 900
L 400 00, H:18,900 458 200
L 400 458 200
L 400 458 400
HR (FH)=fEX FR (FE) § [ JL62: 700 458 .500
[ JL625 200 458 000
[ JL627 700 458 000
[ JL629 000 g _H:16,500 458 100
L631 000 7 . F:16,500 458 100
1633 000 0 458 800
[ JL637 000 5900, F:18,300 458 800
1639 .900 15, 458 100 6,500, 13,800, F:17.000
AR | JL622 700 458 500
[ JL624 200 400, B:15500 458 000
[ JL626 200 400, H:15,500 458 000
[ JL628 400 458 200 X
[ JL630 400 458 200 X 14,900
[ JL632 100 458 000 14,600, H:16,500
[ JL634a .900 458 000 17,000, £:14,600
1638 .900 458 000 17,000
R (AB)=-BH R CAE) % |_JL6sT 600 458 400 16,500, H:14,500
[ JL689 900 458 400 000, H:14,500
L691 700 458 500 7,000, £:16,500
1693 500 4,700, H:16,300 458 300 15500, F 14500
L695 700 00, & . H:17,900 458 500 6,000, £:16.500, H:17,100
697 700 5100, %:18,500, H:17,400 458 500 15,000, %:17,500, H:16,600
B | JL68s 800 15,700, £:17,000, +:17.900, H:15,000 458 600 5500, £:16,500, +:17.100, H:13,800
[ JL690 700 5,000 458 500 £:16,500, 800
[ JL692 500 458 300 14,500, F:14,000
[ JL694 000 458 800 300, £:15.800, £:15,400, H:17,500
[ JL696 000 458 800 . £:15,300, H:17,500
698 700 458 500 500, 14,500, F:17,100
R (RE)-ERE FRCRE) L 500 456 300 500
L 000 8700, B:15,800 458 800 800, F:17,300, H:13,800
L 500 15,800 458 100 17,500, B:13,800
L 000 700, A:15.700 458 800 300, +:15.900, H:15,400
L 000 15,700 458 800 000, F:14,900, H:15.400
L 700 458 700 500, F:14,200, H:16,000
[ JL 700 458 700 500, F:14,200, H:16,000
L655 700 458 700 500, F:14,200, H:16,000
BERER L 000 458 800 000
L 000 458 800 800, F:16,000
L 700 458 700 15,500
L 000 115,700 15500 458 800 500, F:14,500, H:14,700
700 117,500, +:16,000, H:17.900 458 900 800, F:12,500, H:16,100
900 117,500, F:15,800, H:18.000 458 900 500, F:13,800, H:17,000
700 [£:17,200, F:15,600, H:18,000 458 100 500, F:13,800, H:17,000
700 E 458 500 16,000, F:13 800
AL ] P ACEE] 600 E 458 100 4700, F:15,700
300 E 458 800 £:16.500, B:14500
600 E 458 100 6,500, +:16.100, H:15,700
600 E 458 100 18,200, £:15,500
FB% 600 I 458 100 6,100
000 7,600, H:16,700 458 500 17,100, H:16,200
000 7,000, %:18.100, F:14,400 458 500 500, %:17,600, F:13,000
000 +17,000, %:18.100, +:14.400 458 500 116,500, £:17.600, £:13,900




rEiss

15| SEE R (3H21~25B1E%H)

WEHHA
377125
=L % HTA 7B
e % %
R (RE)-KH kil 17,000, %:17,700, £:18.500 000, £:17,400
[J 700, %:19,600, £:20.100 500, £:18,100, F:18,600
[ [ :18,800. 900, F:17,000
[ [X:18.100. 16,400, 7:16,000, 216,500
[ [ k:16,500, 7:16,700, £:18,800, £:16,000 458 800, :16,000, £:18,000, £:15,200
[ K:16,500, 7:16,700, £:19,800, F:16,000 458
) 700, %:16,000, +:18,300 458
[ 700, %:16,000, F:17.800 458
[ 000, % 16,700 458
[ 418,000, & 16,700 458
[%:19,500, :20,700 458
[%:20,000, +:17,700 458
e (DE) B8 [ 418,000, %:16,700, £:19,500 458
[ [£:21,500, +:21,000 458
[ 100, % £:17,200 458
100, % %:17,200 458
100 000 458
X:18,100, 21 458
[ J 100, £:19.900 458 6,400, £:18.900
J 3,100, F:19,000 458 6,400, £:18,200
) :17,200, £:16.700 458 7.000, £:16.500
200, +:18,100 458 7.100
200, £:18,100 458 7.100
L 000, F:17,300 458 0,000, £:16,300
R (HE)=EA L 800 456 17,000
[ 300 458 8,500
[ 200, :19,000, F:20,500 458 8,400, £:18,500
[ JLe 200, £:18,000 458 17.100
17,200, £:18.000 458 £:17,100
000 458 5700, £:16.500, £:16,400
[ JL K:17,700, £:18,000, £:17,500 458 7,400, 15,500
400, £:19,500, F:17,400 458 8500, F:15.400
[ 00 458 18,000
oL 456
[y 458
[y 458
[y 458
[ 458 500, :17,000, F:16,200
[ 458 6,500, :19.400, £:16,200
458 400
R CHE) =285 458 17,500
000, £:17.200 458
17,200, £:18,800, £:18,000 458 7,000, %:18.000, £:17,500
300, £:17,000, F:15,700 458 6,500, £:15,500
458 117,500
9300, £:16,700 458 400, £:18,500, :16,500
[ 7.200, £:18.000, F:19.300 458 500, 7:17,000, £:17,500, :18,500
[J 7,200, £:18,000 458 700, :17,000, +:17.500
[ JL & +:15700 458 900, & 15,500
[ £:17,000, £:16.700 458 400, 217,000, £:16,500
[ 200, 16,700 458 00, £:17,000,
16,300 458 K:16.500, £:16,100
R (PE)-ERE 7.200 458 6,400, £:16.600
:19,000, £:20200 458 7,300, :17.800, £:19.100
19,500 458 18500
458 5,300, £:16.300, £:17.200
458 14.800, £:16.200
458 00, +:15,300
[ 458 00, £:15,300
458 500, F:15,300
458 .00, £:17,100
458 900, #£:15,800, £:17,600
458 £
700, £:16.600 458 00, £:16,500, £:15,600
t:17,000 458 300, +:15,600
500, £:16.800 458
8200, £:16,600 458
117,200, F:15,600 458
KR (B =#8 :16.200 458 A £:15
458 16,500
458 6,500, £:16.100
:18,700, £:16,000 458 8200, £:15,500
458
& £:17.600 458 £1:17.100
#:18,100, £:14,400 458 600, F:13,900
#£:18.100, £:14400 458 £:17.600, £:13.900
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3717 3/18 3/19 3720
=R WM7A | 378 | B7A | 3478 | 57A | 5478 | 547A | 5478
R (BE)=-AR(FR) | RRCHE) % 500 000 800 700 400 300 400 300
600 100 800 700 400 300 400 300
200 100 800 700 400 300 400 300
500 400 800 700 400 300 400 300
500 200 800 700 400 300 400 300
500 200 800 700 400 300 400 300
700 200 800 700 400 300 400 300
600 100 800 700 400 300 400 300
600 100 800 700 400 300 400 300
400 900 400 300 800 700 800 700
400 900 400 300 800 700 800 700
400 900 400 300 800 700 800 700
400 900 400 300 800 700 800 700
400 900 400 300 800 700 800 700
400 900 400 300 800 _|_11,700 800 _|_11,700
KR(FDRE [ 900 400 400 300 000 | 9,500 000 | 9,500
400 900 400 300 000 | 9,500 000 | 9,500
400 900 400 300 000 | 9,500 000 | 9,500
400 900 400 300 000 | 9,500 000 | 9,500
700 200 800 300 400 | 9,500 400 | 9,500
700 200 800 700 400 000 400 000
600 100 800 700 400 300 400 300
600 100 800 700 400 300 400 300
600 100 400 300 400 300 400 300
600 100 400 300 400 300 400 300
600 100 400 300 800 700 800 700
600 100 400 300 800 700 800 700
500 200 400 300 800 700 800 700
500 200 400 300 800 700 800 700
500 200 400 300 800 700 800 700
HR (RE) =K R (PE) R 500 500 20,500 500 400 700 400 700
600 100 23,400 800 300 800 900 7,600
300 100 2,500 500 500 800 700 7,600
300 500 600 900 700 500 22,100 000
200 900 600 900 700 500 22,000 000
400 7,900 600 900 700 500 2,000 000
A% 300 6,000 22,400 20,900 000 700 000 700
7,300 6,000 2,400 20,900 000 700 000 700
700 7,600 300 500 800 500 300 100
700 7,600 300 500 800 7,500 300 100
000 500 800 500 20,500 500 23,000 500
20,500 000 000 500 20,500 500 3,000 500
R (RE)=RB R (AE R | 18,900 100 500 500 7,400 600 7,100 600
20,900 900 500 500 400 400 400 400
200 400 500 500 200 7,400 200 7,400
200 400 500 500 200 7,400 200 7,400
700 000 600 900 300 500 800 20,400
900 000 600 900 300 500 800 20,400
EBR 600 900 500 500 600 900 600 900
600 900 500 500 600 900 600 900
700 000 300 500 600 300 600 300
20,700 20,000 000 20,000 500 20,500 22,500 500
20,700 20,000 000 20,000 500 20,500 22,500 500
900 8,900 800 16,300 500 20,500 22,200 200
R E) A R EE | J 300 7,500 1,500 20,500 000 200 400 200
800 500 4,000 000 700 700 700 700
700 500 800 900 400 400 400 400
700 000 800 900 200 400 200 400
700 000 800 900 200 400 200 400
700 700 300 700 800 400 300 500
700 200 500 5,500 000 000 300 20,500
900 400 800 6,900 20,500 200 22,000 000
AR 300 200 500 1,500 600 900 600 900
,000 200 500 | 22,400 800 000 500 700
,000 200 500 400 800 000 500 700
000 200 300 000 300 500 300 200
000 200 300 000 300 500 300 200
500 400 000 500 500 500 22,000 000
20,400 400 000 500 20,500 000 22,000 000
20,400 400 500 500 20,500 900 700 700
R (E)-ER (G HE] 500 700 500 500 600 100 300 100
,900 7,700 500 500 600 100 900 100
300 8,500 500 500 500 700 300 500
300 7,500 300 500 800 7,000 900 900
300 500 300 8,500 800 000 22,000 000
700 000 600 7,700 800 000 22,200 200
o] 800 000 22,500 1,500 100 400 100 400
800 000 300 8,500 100 400 100 400
300 500 300 7,500 600 500 300 500
900 100 300 500 800 000 300 500
300 500 300 500 900 000 22,300 300
300 500 300 100 800 000 22,500 500
AR (PE-ERE EECE] 100 400 22,500 500 100 400 500 300
20,500 500 24,500 400 800 500 800 800
500 20,000 24,500 500 800 800 000 300
400 7,600 20,300 400 700 500 100 500
800 7,600 300 400 700 500 100 500
700 7,800 900 300 700 500 300 500
700 000 900 300 500 500 500 500
700 000 900 300 7,300 500 500 500
BERBR 100 400 22,500 500 7,500 900 500 900
600 800 500 22,500 7,500 900 500 900
000 300 300 500 900 900 600 900
700 6,500 300 500 200 900 600 900
100 7,300 600 800 000 300 20,900 100
500 8,300 600 800 000 8,000 21,800 900
20,200 8,400 600 800 000 8,000 21,800 900
19,300 8,300 600 800 800 8,000 21,500 900
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/722
A—N—%fF
wE

X[

ROABE)=XR () | RREPE) R

0,500, H:8.900
500.

9
600, +:11,600, H:9.700
500, F:11,600, £:9,700
000, +:11,600, H:9,700
800, F:11,600, £:9,700
1200, +:10,200, H:9,700
200

200
500, F:10.200, F:9.700
500, +:9,700, 5:10,200
500, F:9.700, H:10,200
400, :9.700, 6:11,600
400, F:9.700, B:11,600
400, 9,700, H:11,600
0

KB (%

,000, 1:10.000
.000, +:10.000
,000, +:10.000

800, £:9.700
.800, 1:9.700

13400, £:9.700
:14,600, £:16,100, £:16.100
00, %:16,500, +:16,500

R (CRIE) =

RR(PE)

00, % *:18.300. H15.400
00, & +:18,300, H:15.400

EXIE

R CRE) =& # 3 FROPE)FE [ JL565 |

>:13.600, £:15,000, H:13.900
13,600, 1:15,000, H:13,900

:13,600, 1:12.800
12,800, F:13.100
> H:12,800, £:12,100
100, +:11,500, H:12,600

P

TR CAE) =HIEE R CHE) 5 14300
#:13.100, +:15.800, H:11.700
211,700, £:11.600, H:12,600

212,200, +:12,600, H:11,500

FEES

3,000, £:12.200, B:15,000

HRCRE)=HIK FRERCRE) #

10,300, ﬁ 10,500, +:10.900
3,000

3,600, £:13,900, B:11,700
2,500, £:11,500, H:12,800
2,500, F:11,500, H:12,800

HR CRH) =&

7:13,900, £:14,300, B:12.400
> B:12.100, £:13.000

2,600
12,600, 1:11.800, H:14,300
6,000

TR GE) A5 EREE] 12,900, % F13,900, H-11,300

400, X:15,100, £:15,300, £:15.700, H:13.400
12.700, £:12,600, B:12.200
300, H:14,800

700, F:12.300 B:15:800
700, 1:12,300, B:15,700
200, B:11,300
200, H:11,300
12.700
:12,700, £:12,900, H:13.200
5,700, X:15,400, %:16,100_F:14,300. H:16,800
14,400, %:14.900, H:16.400

RRHE

R CRE) =R& RRPE)F [ JL JKA:12,400, 13,900, F:14.700, H:12,200
[ Ak:14.100. :16.700, £:15.200, H:14.300
000, JKK:12.400, H:12,800
12,400, H:12.800

200, H:15200
200, B:12,000
200, H:12,000
400, B:13,000

ECES

00
100, H:16,900
:15,100, H:15,900

X:11,400, £:12.500, H:10,600
X:12.900, +:15.000, H:11,900
:13,700, 7K:13.400, 713,600, £:14,200, +:15.400, H:13.200

(:12,700, 7K:12,400, A:12,600, £:13200, £:13700, H:12.200

700, 7K:12,400, 7:12,600, £:13.200, +:13.700, H:12.200

:12,200, % 1:12,400, H:12,900

13,200, 13400, B:14,700

R CRE)=REA RRPE) R

EF33 13,700, H:12,200
213,700, H:13.000

13,000

400, H:12,300
400, H:12,300
700, H:14,800
516,000 _
400

700, B

:12,500, £:13.200, H:12,000
(12,500, £:12,600, H:12,300
212,400, %:13.700, £:13,200
13,200, £:11,300, H:12000 _
13,200, 12,700, H:14,200

1:12,900, X:12,700. £:14.200, +:12,400, H:13,800
2,400, £:13,200, +:14,200, H:12.000

1:12,900. ‘&|2700 £:12,600, £:13.200, H:12,000

+ H:11,300

2,200, X:12,000, £:12,600, F:12,400, H:14,500
AR:11,800, %:12.600, F:12.400, H:14,600

RRCAE) =28 RRPE)FE [ J

X:12.900, #:13.200, B:15.000
2,600

3,600, +:14,600, H:12,300
5,000. 14,000, & +:14.900, H:12.800
1,800, & 1:13.400, H:12,500

1,800, & +:12.400, H:12,500

RRCAHE)=ERS RRPE) R

ERBR 3200, H:12,000

4,100, £:15.200, B:13,000

H:12,400
2,700, H:14,400

000, F:12,700, H:14,400

13,400, %:13,000, £:12.200. H:14,400

7K:12,400, #:12,600, £:11,600, H:13,000

KR () =318 KR () 213,600, 1:14,600
000, H:13.200
5,000+ H:14.600
16,500, :14,100
114,600
15,600, H:15.000
+15,000, 7K:13,200, 7K:13,200, £:16,000
1:15,000, £:16,000, +:12,700

Hing
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11/24-12/1
=R B4 T i A——%F
L2 1] e—" gil;’li =
FR CRE) =Kk () HERPE)RE | J ,000 60% 10,500, H:8.900
J ,000 60% 10,500, H:9.700
J 000 52% 112,600, 11,600, B:
J .000 56% 500, 11,600
J 000 56% 000, £:11,600
J 700 58% 800, 11,600
J 700 58% 200, £:10.200, B:
J 700 62% 200
[J 700 62% 200
[J .100 56% 500, £:10,200, B9
J 700 500, £:9.700, H:10
J 700 A%:12,500, £:9.700, B:11
J 700 7 400, £:9.700, H:11
J 700 7 400, £:9.700, H:11
J 700 | ¢ A%:13400. £:9.700. H:11.600
KR (P % |_JLi 7.700 69% 100, £:9.900
JL 700 54% 100, A:13,000. £:10,000
[J 700 54% 100, A:13,000, £:10,000
J 700 54% 100, A:13,000. £:10,000
J 000 56% 8,100, £:10,000
J 500 58% 600, £:11,000
J ,000 60% 700, £:11,000
J ,000 60% | H:9.700. 7K:9,800. £:9.700
J ,000 60% | H:9.700. 7k:9,800, £:9.700
J ,000 60% 700, 7K:9,800, £:9,700
[J ,000 60% 600, £:9200
J ,000 60% 1600, £:9,200
JL ,000 52% 600, £:9700
JL ,000 52% 600,
J ,000 52% 600,
FRCRE)=k#5 RR(PE)HE | JL 800 72% 600,
J 800 72% 600, £
J ,000 74% 113,600, &
Es S J 400 73% :12.800, £:13,100
J 900 74% :12,.800
JL! 1300 75% | A:11,900, H:12,600
IR CRE) =8I RRCAE) % [ J 300 74% | +:14,300
J ,000 72% | A%:12.800, £:15,300, H:11.400
J 000 75% 11,400, %:11,200, H:12,200
FEES J 1300 74% 1,900, £:12,200, H:11.200
J 600 76% +£:11,900. B:11.400
J 000 75% 12,200, £:13,000, H:15,000
R (PE)-Bh RRPERE | J 300 76% 500, £:10,900, H:10.200
J 200 72%
200 72%
.900 75%
ETR3 400 74% 1100
800 75%
800 75%
.600 75% . £:10,800. H:11,700
ESAC R "ERCAE)R [J ,100 66% ,300, H:12,400
600 70% 12,000, £:13,000
500 62% 500
IR 800 64% X
,000 66% 500, %:12,600. E:11,800, H:14,300
200 63% _
RR(CRE)=K59 ERCPEDSE [J ,200 67%
[J 700 63%
[J 700 68%
[J .900 70%
[J ,300 69%
,300 69%
xnk  |_J 300 72%
[J .300 72% 12,
700 68% 12,300, AKA:12,200
700 68% | 4:12,300, JKA:12,200, £ H:13.200
400 61% [A: 16,800, +:14,300
400 64% :
RR(CRR)=RIK RERCRE) % [ JU ,700 1% :
[J 900 66%
,000 72%
,000 72%
,000 72%
,000 72%
R ,000 72%
,000 72%
,000 72%
700 69%
700 69%
700 1%
RR(CRE) =R ERCpEDS [J .200 73%
[J 700 69%
[J ,900 66%
[J ,900 69%
,900 69%
,000 1%
,000 68%
700 69%
AR | J 700 69%
[J 600 69% ,000, H:11,800
[J .600 72% ,000, H:11,800
[J 800 74% 3:12,300
800 74% 2,300
600 69% 500, H:15,000
100 68%
700 69%
RE(CRR)=215 RCPEDFE [ J ,500 70%
[J 500 70%
[J 700 69%
[J .200 75%
[J 700 69%
,900 69%
BEE | _J 600 69%
[y 700 69%
[y ,000 73%
[y ,000 71%
[y ,000 71% |£:12,900, £:12.400. H:14)
900 69% | 413,200, %:14,000, £:12,400. H:15,000
RRCAE)-ERS R (FE) % T [ 55 700 75%
3 | 55 700 75% | &E:11,700
5 | 55 000 68% % +:15000. H:12.800
7 | 55 700 75%
[ JL649 | 55 700 75%
[_JLe51 | 55 500 74% | £:12,500, £:11,900. H:12.900
[y 55 .700 75%
55 700 75%
BERER% 55 700 75%
55 700 75% | E:11,700
55 700 75%
55 700 75%
y 55 700 75% | :13,900
[ JL650 | 55 700 75% | :15,300
[_JLe52 | 55 500 69% 14,000, ££:11,900, H:14.400
54 | 55 500 1% :12,900, £:10.900
KR () %8 KR () 5% 241 | 55 ,000 60% +13,600, +:14,500, H:12,700
243 | 55 000 60% 14,500, H:12.700
[ JL2245 | 55 600 58% 14,500, %:14,100, H:14.600
L2251 | 55 800 54% :16,000, 13,600
R L2241 55 ,000 54% 14,100
L2244 | 55 600 58% 15,000, H:14.500
[ JL2246 | 55 700 61% :14,500., %:15,500, £:12,200
250 | 55 700 61% :14,500, %:15,500, £:12,200
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12/2-15
=R B4 T A== F"
L2 1] e—"
FR CRE) =Kk () HERPE)RE | J ggg
J 000
J 000
J 000
J 700
J 700
J 700
[J 700
[J 100
J 700
J 700
J 700
J 700
J 700 600
KR (FFH % |_JLt 7,700 ) X
JL 700 100, F:13,000, :10,000
[J 700 100, A:13,000, £:10,000
J 700 100, A:13,000, £:10,000
J 000 60% 8,100, £:10,000
J 500 62% 600, £:11,000
J ,000 700, £:11,000
J ,000 700, 7K:9,800, £:9.700
J ,000 700, 7K:9,800, £:9,700
J ,000 700, 7K:9,800, £:9,700
JL ,000 600, £:9200
J ,000 1600, £:9,200
J ,000 . £:9.700
J ,000 7 ,400, £:9,700
J 000 | 57 400, £:9,700
R CRB)=#HIE BRCRE) S [ J 200 | 78%
J 700 4%
J 700 4%
J 900 76%
ETR3 J 300 75%
J 800 76%
J 800 76%
J 400 75%
FR(CRE)=X5 RRPE)RE | J 100 69%
[J 000 69%
[J 000 72% 112,100, £:12,400
[J 800 75% 11,100, £:12,400, H:12,900
[J 000 72% 113,300, H:14,800
J 000 72% 4300, H:14,800
Kk |J 500 75% :11,500
[J 500 75% 1,500
000 72%
000 72%
100 69% 700,
100 1%
RR(CRR)=RIK RERCRE) % [ JU 000 74%
[J 700 72%
500 75%
500 75%
200 76%
200 76%
R 200 76%
200 76%
100 76%
100 74%
100 74%
000 74%
FR(CRE) =R ERCPEDSE [J 600 76%
[J 100 72%
[J 500 1%
[J 500 74%
500 74%
000 72%
,900 75% 300, £:10,500. H:12,900
000 72% 200, £:12,800, H:14,.800
AR | J 000 72%
[J 100 72%
[J 600 76%
[J ,000 7%
500 76%
300 74%
500 74%
600 76%
RE(CRR)=215 CRE)% | J 000 12%
[J 000 72%
[J 200 72%
[J 800 68%
[J 000 72%
200 72%
BEE | _J 200 72%
[J 700 1%
[J 000 75%
[J 000 72%
[J 000 72
500 71
RRCPAE)=-ERE CRE) % L641 55 ,700 17
L643 | 55 700 77"
L645 | 55 ,600 73
L647 | 55 700 77
[ JL649 | 55 700 77"
[_JLe51 | 55 500 77 14,300, £:10.700, H:12,000
[J 600 75% £ H:10,700
300 73% £ H:10,700
BERER 700 7% | K:14,300
700 11,500
.700 i :12,300, X H:14,300
700 i
700 i
700 7
500 73% 113,100 £:12,300. H:13,800
500 75% :
EAGE KR (B % | JL2241 | 55 000 63% 600, F:
000 63% 14,500, H:12.700
600 61% 14,500, %:14,100, H:14.600
800 58% :16,000, 13,600
s 000 57 :14.100
600 1 15,000, H:14.500
,700 4 :14,500, £:15,500, F:12.200
700 4 :14,500, %:15,500, £:12,200
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12/16-21
=R B4 T A== F"
L2 1] e—"
FR CRE) =Kk () RR(PE)RE | JL 55 000
JL 55 000
JL 55 000
JL 55 000
JL 55 000
JL 55 700
JL 55 700
JL 55 700
[J 55 700
[J 55 100
J 55 700
JL 55 700
JL 55 700
JL 55 700 :
JL 55 700 58% 400, +:9,700, B:11,600
KR P % |_J 55 7.700 72% 100, £:9.900
JL 55 700 58% 100, F:13,000, :10,000
[J 55 700 58% 100, A:13,000, £:10,000
J 55 700 58% 100, A:13,000, £:10,000
JL 55 000 60% 8,100, £:10,000
JL 55 500 62% 600, £:11,000
JL 55 ,000 700, £:11,000
J 55 ,000 700, 7K:9,800, £:9.700
J 55 ,000 700, 7K:9,800, £:9,700
J 55 ,000 700, 7K:9,800, £:9,700
J 55 ,000 600, £:9200
J 55 ,000 1600, £:9,200
J 55 ,000
JL 55 ,000 7
JL 55 ,000 7
FR(CRE) =R RRCRE) R | JL 55 .500 1
[J 55 700 72%
J 55 700 72%
JL 55 700 72%
JL 55 ,000 7
J 55 ,000 7 700, £:13;
R J 55 ,000 7 112,700, +:13,700
[ L 55 ,000 7 H:12.700
J 55 ,000 7 H:12.700
J 55 100 7 115,800, £:12,900, H:15.700
J 55 100 7 115,800, £:12,900, B:15,700
J 55 700 70% 4,800, +:11,900. H:14.300
R (PE) =X ER@EE [J 55 500 7 900, H:10,000
[J 55 500 7 ,900. H:10,000
[J 55 500 7 ,900, H:11,200
[J 55 500 7 ,900, H:11,200
55 500 7 ,900, H:11,200
[ J 55 ,200 6 J 700, 7K:16,300
55 1400 74% | %:11,900, £:10,600, H:12.900
55 700 69% | H:14,800, X:14.700.
AR | _J 55 700 69% 114,800, £:15.300,
[J 55 100 72% 11,100
[J 55 600 76% 11,100, B:11,000
[J 55 ,000 7% £:11.100. B:11,300
55 500 76% 11,100, H:11,300
55 ,300 72% :14,300, H:13,900
55 600 73% :14,300, H:13,900
55 600 76% :13,300, H:12,900
RR(CRE)=21 ERCPEDSE [J 55 ,700 69%
[J 55 700 69%
[J 55 200 67%
[J 55 300 76% 1600
[J 55 700 69% 800, +:14,200, H:15.300
55 ,200 67% 3,700, % H:15.300
BEE | _J 55 200 67% |JH:13,700, £:14.800
[J 55 700 69%
[J 55 700 1%
[J 55 200 67% | JK:14,000, £ 113,700
[J 55 700 69% | %:14,200, H:14,800
55 700 69% | £:15,000, H:14,800
ERCPE)-ERS RERCRE) % 55 700 7%
55 700 7%
55 700 70%
55 700 7%
[J 55 700 77%
[J 55 10,700 77% |#:15,800, £:11,100. H:13,300
[J 55 13,000 72% | #:15,800, £:12,800, H:15,100
55 13700 | 70% [#H:15,800. £:13,500
BERER 55 10,700 i
55 10,700 i
55 10,700 i
55 10,700 i
[J 55 10,700 i
[J 55 10700 | 77
55 700 0%
55 700 72%
EAGCDE) KR (R % | J12241 | 55 000 63%
55 ,000 63%
55 600 61% 114,500, %:14,100, H:14.600
L: 55 800 58% :16,000, :13.600
iR [JL 55 ,000 57
55 600 1 15,000, H:14.500
55 ,700 4 :14,500, £:15,500, +:12,200
55 ,700 4 :14,500, £:15,500, +:12,200
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(O e

R CHE) =%k R (CAE) 5 [ _JL 55 300
JL 55 200

JL 55 200

JL 55 100

WILR JL 55 000

JL 55 300

JL 55 300

JL 55 300

FR CRIE) =g FRCPE)F [ JL585 | 55 500
[ JL587_| 55 400

JL589 | 55 500

mEER  |_JLs8d | 55 400

[ _JL586 | 55 000

JL588 | 55 200
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12/22 12/23
=R B4 FH [ 2oins | 2-nas
WAMR [ g =
FR CRE) =Kk () RR(PE)RE | JL 55 000
JL 55 000
JL 55 600
JL 55 500
JL 55 000
JL 55 800
JL 55 200
JL 55 200 | 1C
[J 55 200 | ¢
[J 55 500
J 55 500
JL 55 500
JL 55 400 | 1
JL 55 400 |9
JL 55 400 |9
KR (PR | J 55 7700 |
JL 55 700
[J 55 700
J 55 700
JL 55 000
JL 55 500
JL 55 ,000 1
J 55 800
J 55 800
J 55 800 | ¢
J 55 000 | ¢
J 55 000 | ¢
J 55 000
JL 55 200
JL 55 200
FR CRE)=EfE RR(PE)HE | JL 55 .600 X . .
J 55 ,900 000 | 15000 | 15000 | 15000 | 15000 7,000 20,600
JL! 55 ,900 ,900 ,900 ,900 ,900 ,900 ,900 20,600
s JL! 55 800 500 500 500 500 500 500 13,500
J 55 500 300 300 100 ,900 ,900 ,900 12,900
JL! 55 600 600 ,600 300 ,600 ,600 ,600 12,600
R CHE)=RA RRCHE) R |_JL 55 500 600 ,600 600 600 600 600 —
[J 55 700 20,800 800 800 800 800 20,800 25,600
J 55 700 20,800 800 800 800 800 20,800 25,900
JL 55 700 20,800 800 800 800 800 20,800 25,900
J 55 ,000 ,900 20,900 20,900 20,900 20,900 23,800 7,000
JL 55 ,000 ,900 20,900 1800 20,900 20,900 3,800 7,000
R JL 55 ,000 700 700 700 ,000 000 ,000 700
JL 55 ,000 700 700 700 ,000 000 ,000 700
55 ,000 700 700 700 ,000 000 ,000 700
55 100 ,900 900 700 100 100 100 ,900
55 100 ,900 900 700 100 100 100 ,900
55 300 ,900 900 200 300 300 300 ,900
R (PE) A RRCRE) 5 |_J 55 500 20,900 900 400 ,900 900 1,900 ,000
[J 55 500 7.100 100 100 100 100 7,100 4,300
[J 55 500 7,100 7,100 7.100 7.100 7,100 7,100 4,300
[J 55 500 ,900 20,900 20,400 20,900 20,900 800 7,000
55 500 ,900 20,900 20,400 20,900 20,900 800 7,000
[J 55 800 300 800 800 1800 800 800 7,000
55 1400 600 600 600 600 600 600 4,300
55 800 800 800 800 1800 800 800 7,000
AR | _J 55 700 700 800 700 700 700 700 7,800
[J 55 100 100 100 100 100 100 100 100
[J 55 600 100 100 000 ,600 600 600 100
[J 55 ,000 100 100 300 ,000 000 000 100
55 500 100 100 1300 500 500 500 100
55 ,300 ,300 300 300 300 300 300 300
55 1600 1600 1600 ,900 1600 1600 1600 1,600
55 600 600 600 ,900 600 600 600 0,600
R (PE) 28 RRCAE) 5 |_J 55 700 000 1800 1300 1300 1300 300 28,000
[J 55 700 ,000 1800 1300 1300 1300 800 28,500
[J 55 800 300 1800 1800 1800 1800 800 28,500
[J 55 0,300 400 ,900 ,900 ,900 ,900 800 28,500
[J 55 7.300 300 1800 1800 1800 1800 800 —
55 800 800 1800 1800 1800 1800 ,800 7,000
BEE | _J 55 700 800 800 700 700 700 700 7.300
[J 55 700 800 800 700 700 700 700 7.300
[J 55 200 700 700 200 200 200 200 5,800
[J 55 200 700 700 700 700 700 700 7.300
[J 55 700 700 700 700 700 700 700 7,300
55 700 700 700 700 700 700 700 7.300
HRCHE)-ERE R CHE) 5 55 700 .300 1300 20,300 20,800 20,800 800 28,000
55 10,700 300 1300 1300 1800 21,800 ,800 28,000
55 15,700 300 1800 1800 1800 21,800 ,800 28,000
55 10,700 800 800 ,800 ,800 18,800 ,800 25,700
55 10,700 ,900 ,800 ,800 ,800 20,900 ,800 28,600
55 10,700 ,900 20,900 20,900 20,900 20,900 ,800 28,600
55 15,500 200 20,200 20,200 20,200 20,200 22,200
55 16,200 ,900 20,900 20,900 20,900 20,900 ,800
BERER L 55 10,700 700 700 1500 1,500 1,500 1500
L 55 10,700 700 700 1500 1,500 1,500 500
L 55 10,700 700 700 700 4,700 4,700 700
L 55 10,700 700 700 700 4,700 4,700 700
L 55 10,700 200 1,200 ,600 1,600 1,600 600
55 10,700 ,200 200 ,600 ,600 600 600
55 700 700 700 700 700 700 700
[ 55 700 100 100 700 100 100 700
PNACIE ) KR () 5 | _JL2241 | 55 ,000 600 600 ,000 ,000 ,000 500
55 ,000 500 500 ,600 ,800 800 500
55 600 500 500 500 ,000 000 500
55 800 700 700 700 700 700 700
% 55 ,000 ,000 000 ,100 ,000 000 000
55 600 ,000 000 500 ,600 600 600
55 700 ,200 200 500 700 700 700
55 700 ,200 ,200 500 700 700 700 17,500
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1/2 1/3 1/4 1/5 1/6
F—‘Fﬁﬁ Eﬁ ) R—\—5%8 A—/ =518 A—/ =518 A—/ =518 A—/ =518
SER B B B B
RRCHE) =K% ER@E)E [ I 700 700 100 100 {12,000 |

[ J 700 800 800 100 300

[ J 700 800 800 100 100

[ J 700 800 300 700 400

[ J 700 800 800 700 400

J 700 800 4,800 700 400

K% [ 000 000 700
[ J 500 000 100

[ J 500 600 700

JL 300 600 700

JL 300 600 600

JL 300 000 000

TR CAE) =5 TR (CAE) & |_JL 500 700 | 12,000
[ J 700 700 200

[ J 700 ,700 800

JL 700 ,700 800

JL 000 ,000 200

J ,000 ,000 200

RIGHE [ 20,300 900 700
[ J 20,200 ,900 700

J 500 ,900 300

J 500 ,900 300

J 500 ,900 300

J 500 900 700

R CAE) e A RRCAEE | J 500 500 700
[ J 000 | 12,000 200

[ J 500 ,500 700

[ J 500 ,500 700

J 500 ,500 700

[ J ,300 ,700 000

JL 1,400 400 300

JL 4,300 ,700 800

j¥=3 [ JL 9,500 ,600 700
[ J 20,100 ,600 ,300

[ J 20,100 ,100 1,100

[ J 20,100 ,100 1,100

JL 20,100 ,600 800

J 20,100 ,600 300

J 20,100 ,600 300

J 20,100 ,100 300

R CAE) =B 8 RRCAEE | J 700 700 000
[ J 700 ,700 000

[ J 700 ,700 800

[ J 300 ,300 900

[ J 200 ,700 300

800 ,800 700

EI5F [ J 900 ,900 200
[ J 800 20,800 700

[ J 300 .300 800

[ J 300 .300 200

[ J 500 .300 000

600 .300 000

RACHE) -ERE RR CHED R 300 300_|_11,000
600 ,600 500

600 ,600 000

100 .100 500

[ J 100 .100 500

[ J 700 ,700 500

[ J 600 .600 900

300 ,300 900

ERER 000 ,100 300
500 .400 200

000 .400 500

000 .400 600

000 .400 600

000 .400 400

000 .400 400

- - 000 .400 300
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1/10-16
T A== F"
R B8 AR g | EEW
wrE | %
FR CRE) =Kk () RR(PE)RE | JL 55 000 60%
JL 55 000 60%
JL 55 000 52%
JL 55 000 56%
JL 55 000 56%
JL 55 700 58%
JL 55 700 58%
JL 55 700 62%
[y 55 700 62%
[y 55 100 56% B
J 55 700 1:10
JL 55 700 A%:12.500, £:9.700, B:11
JL 55 700 7 400, 9700, B:11
JL 55 700 7 400, £:9.700, B:11
JL 55 700 | ¢ A%:13,400, £:9,700, H:11,600
PNACIE 55 7,100 6% 100, £:9.900
JL 55 700 54% 100, A:13,000. £:10,000
[y 55 700 54% 100, A:13,000, £:10,000
J 55 700 54% 100, A:13,000. £:10,000
JL 55 000 56% 8,100, F:10,000
JL 55 500 58% 600 £:11,000
JL 55 000 60% 700, E:11,000
J 55 000 60% | £:9.700, 7K:9.800, T:9,700
J 55 000 60% | £:9.700, 7K:9.800, T:9,700
J 55 000 60% 700, 7K:9,800, £:9.700
[y 55 000 60% 600, £:9,200
[y 55 000 60% 600, £:9,200
J 55 000 52% 600, £:9,700
JL 55 000 52% 600,
JL 55 000 52% 600,
R CHE) =K% RRCEE) R [_J 55 900 70% 700, £:12,000, H:10500 |
[y 55 000 67% 100 RE= :
[y 55 000 70% 100, +:12.400
[y 55 800 73% 11,100, %:12,400, H:12,900
[y 55 000 70% 300, H:13,800
J 55 000 70% 300, FH:13,800
g | J 55 500 74% 500
J 55 500 74% | £:11,500
[y 55 000 70% | X:12,800
JL 55 000 70% | X:12,800
JL 55 100 67% | £:13,700, E:12,700, H:14,500
JL 55 100 70% | %:12,700, £:12,000, H:13,500
FR(CRE) =R HR(PE)FE | JL 55 000 72% | +:14,200, H:10.800
[y 55 700 7% 200, £:13,900, H:12,100
[y 55 800 73% 00, H:11,300
55 800 7 00,
55 200 7
55 200 7
&R 55 200 7
55 200 7
55 100 75%
55 .100 75%
55 .100 75%
55 000 72%
RRCHE)=REA RRCABE) 5 [_J 55 600 74%
[y 55 100 73%
[y 55 500 72%
[y 55 500 72%
55 500 72%
[y 55 ,000 7
55 900 7
55 ,000
EAR | _J 55 ,000
[y 55 100
[y 55 600
[y 55 000 76
55 500 7
55 600 7
55 ,500 7
55 500 7
RR(CRE)=21 ERCPEDSE [J 55 ,000 7
[y 55 ,000 7
[y 55 200 70%
[y 55 000 76%
[y 55 ,000 71%
55 200 70%
aER  |_J 55 200 | 70%
[y 55 000 1%
[y 55 .000 3%
[y 55 000 | 71%
[y 55 500 0%
55 500 70%
RRCAB)-ERS CRIE) % 55 .000 75%
55 500 4%
55 ,000 2%
55 ,700 75%
[ J 55 ,700 75%
[ J 55 ,500 76%
[ J 55 ,600 73%
55 ,300 2%
BERESR 55 900 75%
Lf 55 900 75%
L 55 ,000 72%
L 55 ,000 72%
55 900 75%
55 900 75
55 ,700 7
55 ,300 7
KR (FFH)=$18 KR (FH % [ J 55 ,700 6
55 700 6 00
55 ,300 59% :14,200, +:13.800, H:14,300
55 400 56% +15.700, +:13,300
iR 55 ,700 55% 3800
55 ,300 59% 14,700, H:14,200
55 ,600 62% :14,200, :15,100, £:11,900
55 ,600 62% :14,200, %:15,100, £:11,900
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T A== F"
R B8 AR g | EEW
wrE | %
FR CRE) =Kk () RR(PE)RE | JL 55 000 60%
JL 55 000 60%
JL 55 000 52%
JL 55 000 56%
JL 55 000 56%
JL 55 700 58%
JL 55 700 58%
JL 55 700 62%
[y 55 700 62%
[y 55 100 56% B
J 55 700 1:10
JL 55 700 A%:12,500, £:9,700, H:11,600
JL 55 700 7 400, £:9,700, H:11,600
JL 55 700 7 400, £:9,700, H:11,600
JL 55 700 | ¢ A%:13,400, £:9,700, H:11,600
PNACIE 55 7,100 6% 100, £:9.900
JL 55 700 54% 100, A:13,000. £:10,000
[y 55 700 54% 100, A:13,000, £:10,000
J 55 700 54% 100, A:13,000. £:10,000
JL 55 000 56% 8,100, F:10,000
JL 55 500 58% 600 £:11,000
JL 55 000 60% 700, E:11,000
J 55 000 60% | £:9.700, 7K:9.800, T:9,700
J 55 000 60% | £:9.700, 7K:9.800, T:9,700
J 55 000 60% 700, 7K:9,800, £:9.700
[y 55 000 60% 600, £:9,200
[y 55 000 60% 600, £:9,200
J 55 000 52% 600, £:9,700
JL 55 000 52% 600,
JL 55 000 52% 600,
R CHE) =K% FREEE [ _J 55 900 70% 000 B:10500 |
[y 55 000 67% 100 300, £:13,600, H:12,700
[y 55 000 70% 100, +:12.400
[y 55 800 73% 11,100, %:12,400, H:12,900
[y 55 000 70% 300, H:13,800
J 55 000 70% 300, FH:13,800
g | J 55 500 74% 500
J 55 500 4% 500
[y 55 000 70%
JL 55 000 70%
JL 55 100 67%
JL 55 100 70%
FR(CRE) =R HR(PE)FE | JL 55 000 72%
[y 55 700 7%
[y 55 800 73%
55 800 7
55 200 7
55 200 7
&R 55 200 7
55 200 7
55 100 75%
55 .100 75%
55 .100 75%
55 000 72%
RRCHE)=REA RRCABE) 5 [_J 55 600 74%
[y 55 100 73%
[y 55 500 72%
[y 55 500 72%
55 500 72%
[y 55 ,000 7
55 900 7
55 ,000
EAR | _J 55 ,000
[y 55 100
[y 55 600
[y 55 000 76
55 500 7
55 600 7
55 ,500 7
55 500 7
RR(CRE)=21 ERCPEDSE [J 55 ,000 7
[y 55 ,000 7
[y 55 200 70%
[y 55 000 76%
[y 55 ,000 71%
55 200 70%
aER  |_J 55 200 | 70%
[y 55 000 1%
[y 55 .000 3%
[y 55 000 | 71%
[y 55 500 0% 300, H:14,300
55 500 70% 700, £:12,000, H:13,800
RRCAB)-ERS CRIE) % 55 .000 75%
55 500 4%
55 ,000 2%
55 ,700 75%
[ J 55 ,700 75%
[ J 55 ,500 76%
[ J 55 ,600 73%
55 ,300 2% -
BERESR 55 900 75% |k
L 55 900 75% | K& £:11,500
L 55 ,000 72% | X:14300
L 55 ,000 72%
55 900 75%
55 900 75
55 ,700 7
55 ,300 7
KR (FFH)=$18 KR (FH % [ J 55 ,700 6
55 700 6 00
55 ,300 59% :14,200, +:13.800, H:14,300
55 400 56% +15.700, +:13,300
iR 55 ,700 55% 3800
55 ,300 59% 14,700, H:14,200
55 ,600 62% :14,200, :15,100, £:11,900
55 ,600 62% :14,200, %:15,100, £:11,900
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T A== F"
R B8 AR g | EEW
wrE | %
FR CRE) =Kk () RR(PE)RE | JL 55 000 60% 900
JL 55 000 60% 700
JL 55 000 52% 700
JL 55 000 56% 700
JL 55 000 56% 700
JL 55 000 56% :9.700. K:10.700, E:11,600
JL 55 000 56% 0,200, H:9,700, 7K:10,700
JL 55 9,700 62% £:10.200
[y 55 000 60% :9.700, 7K:9.700
[y 55 100 56% 0,200, H:9.700
J 55 700 700, £:10,200
JL 55 700 700, H:11,600
JL 55 700 700, H:11,600
JL 55 700 700, H:11,600
JL 55 700 | ¢ 700, H:11,600
PNACIE 55 7,100 6% 100, £:9.900
JL 55 700 54% 100, £:10,000
[y 55 700 54% 100, £:10,000
J 55 700 54% 100, £:10,000
JL 55 000 56% 8,100, £:10,000
JL 55 500 58% 600 £:11,000
JL 55 000 60% 700, E:11,000
J 55 700 62% 700, 7K:9,800, £:9,700
J 55 700 62%
J 55 700 62%
[y 55 000 60%
[y 55 000 60%
J 55 000 52%
JL 55 000 52%
JL 55 000 52%
FR(CRE)=X5 RRPE)R | J 55 .500 66%
[y 55 700 66%
[y 55 700 68%
[y 55 600 71%
[y 55 000 70%
J 55 000 70%
g | J 55 100 72%
J 55 100 72%
[y 55 000 70%
JL 55 000 70%
JL 55 400 64%
JL 55 400 64%
FR(CRE) =R HR(PE)FE | JL 55 100 72%
[y 55 700 6%
[y 55 000 72%
55 ,000 72%
55 .600 73%
55 .600 73%
&R 55 ,000 72%
55 ,000 72%
55 .600 73%
55 700 73%
55 700 73%
55 100 72%
FR(CRE) =R ERCPEDSE [J 55 .000 73%
[y 55 500 70%
[y 55 ,000 68%
[y 55 700 69%
55 700 69%
[y 55 ,000 1%
55 300 70%
55 700 69%
EAR | _J 55 300 70%
[y 55 100 7
[y 55 100 7
[ J 55 ,500 7
55 500 7
55 .900 7
55 900 7
55 400 7
RR(CRE)=21 ERCPEDSE [J 55 ,000 7
[y 55 ,000 7
[y 55 700 69%
[y 55 600 74%
[y 55 300 70%
55 300 70%
aER  |_J 55 000 71%
[y 55 300 70%
[y 55 .200 73%
[y 55 ,000 71% 700, £:12,300, H:13,800
[y 55 500 70% 400, H:14,300
55 200 68% 000, F:12,000, H:14,900
RRCPAE)=-ERE CRE) % 55 900 75%
55 400 72%
55 ,600 69%
55 .200 74%
[ v 55 ,200 74%
[ v 55 ,900 75%
[ v 55 600 | 73%
55 600 3%
BERESR 55 500 4%
L 55 500 4%
L 55 000 | 72%
L 55 000 2%
55 500 4%
55 500 1% :
55 ,500 69% 114,000, F:12;
55 500 7% :13.400. +:12,300
KR (FFH =378 KER (% | J 55 ,100 60% 113,700, +:14,600,
55 100 60% 14,600, H:12,800
55 ,700 58% :14,600, 1:14.200, H:14,700
55 ,900 54% :16,100, +:13,700
iR 55 ,100 54% 4,200
55 ,700 58% 16,100, H:14,600
55 ,800 61% :14,600. :15,600. £:12,300
55 ,800 61% :14,600, %:15,600, £:12,300
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z/wf%
FH A——%F
R B8 AR g | EEW
wrE | %
FR CRE) =Kk () RR(PE)RE | JL 55 000 60%
JL 55 000 60%
JL 55 000 52%
JL 55 000 56%
JL 55 000 56%
JL 55 700 58%
JL 55 700 58%
JL 55 700 62%
[y 55 700 62%
[y 55 100 56% B
J 55 700 1:10
JL 55 700 A%:12,500, £:9,700, H:11,600
JL 55 700 7 400, £:9,700, H:11,600
JL 55 700 7 400, £:9,700, H:11,600
JL 55 700 | ¢ A%:13,400, £:9,700, H:11,600
PNACIE 55 7,100 6% 100, £:9.900
JL 55 700 54% 100, A:13,000. £:10,000
[y 55 700 54% 100, A:13,000, £:10,000
J 55 700 54% 100, A:13,000. £:10,000
JL 55 000 56% 8,100, F:10,000
JL 55 500 58% 600 £:11,000
JL 55 000 60% 700, E:11,000
J 55 000 60% | H:9.700, 7K:9,800, £:9,700
J 55 000 60% | H:9.700, 7K:9,800, £:9.700
J 55 000 60% 700, 7K:9,800, £:9.700
[y 55 000 60% 600, £:9,200
[y 55 000 60% 1600, £:9,200
J 55 000 52% 600, £:9,700
JL 55 000 52%
JL 55 000 52%
FR(CRE)=X5 RRPE)R | J 55 .500 66%
[y 55 700 66%
[y 55 700 68%
[y 55 500 71%
[y 55 000 70% 400, B
J 55 000 70% 400, F1:14,800
g | J 55 100 72% 100
J 55 100 72% 100
[y 55 000 70% 200 % H:12,600, £:12,700
JL 55 000 70% | X:12,200, %:12,600, £:12,700, B:13,100
JL 55 400 64% 700, %:15,800, %:13,800, H:16,400
JL 55 400 64%
FR(CRE) =R HR(PE)FE | JL 55 100 72%
[y 55 700 6%
[y 55 200 72%
55 200 72%
55 .600 73%
55 .600 73%
&R 55 ,000 72%
55 ,000 72%
55 .600 73%
55 700 73%
55 700 73%
55 100 72%
FR(CRE) =R ERCPEDSE [J 55 .000 73%
[y 55 500 70%
[y 55 200 68% N
[y 55 200 70% +£:12,700, H:11.400
55 200 70% & +:12,700. A:11,400
[y 55 ,000 71%
55 300 70% 11,400, H:14,000
55 700 69% 600, H:14,800
EAR | _J 55 300 70%
[y 55 100 7
[y 55 100 7
[ J 55 ,500 7
55 500 7
55 .900 7
55 900 7
55 400 7
RR(CRE)=21 ERCPEDSE [J 55 ,000 7
[y 55 ,000 7
[y 55 700 69%
[y 55 600 74%
[y 55 300 70%
55 300 70%
aER  |_J 55 200 70%
[y 55 300 70%
[y 55 .000 73% £
[y 55 ,000 71% 200, %:12,700, £:12,300. H:13,800
[y 55 500 70% 400, H:14,300
55 200 68% 000, F:12,000, H:14,900
RRCPAE)=-ERE CRE) % 55 900 75%
55 400 72%
55 ,600 69%
55 .200 74%
[ v 55 ,200 74%
[ v 55 ,900 75%
[ v 55 600 | 73%
55 600 3%
BERESR 55 500 4%
L 55 500 4%
L 55 000 | 72%
L 55 000 2%
55 500 4%
55 500 1%
55 ,500 69%
55 500 7%
KR (FFH =378 KER (% | J 55 ,100 60% 113,700, +:14,600,
55 100 60% 14,600, H:12,800
55 ,700 58% :14,600, 1:14.200, H:14,700
55 ,900 54% :16,100, +:13,700
iR 55 ,100 54% 4,200
55 ,700 58% 16,100, H:14,600
55 ,800 61% :14,600. :15,600. £:12,300
55 ,800 61% :14,600, %:15,600, £:12,300
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/7 78 /9
=40} B2 F# | Zr—nm | Ak | Ar—xhk
BAMR g T T
R (RHE) =X (71 RR(CHA) JL 55 500 | 8,900 900
oL 55 500 | 9700 700
oL 55 600 | 9700 700
oL 55 600 | 9700 700
oL 55 600 | 9700 700
oL 55 600 | 9700 700
oL 55 200 | 9.700 700
oL 55 000 | 9700 700
[ 55 000 | 9.700 700
[ 55 200 700 700
J 55 700 200 200
oL 55 700 600 600
oL 55 700 600 500
oL 55 700 600 500
oL 55 700 600 500
KR (F % | 55 900 100 100
oL 55 000 100 100
[ 55 000 100 100
J 55 000 100 100
oL 55 000 | 8.100 00
oL 55 000 3600 600
oL 55 000 700 700
J 55 700 700 700
J 55 700 700 700
J 55 700 700 700
- 55 200 600 600
- 55 200 600 600
J 55 700 600 600
oL 55 700 600 600
oL 55 700 600 600
TR CAE) =A% RRCAE) R | J 55 400 500 500
- 55 800 700 700
[ 55 800 900 900
[ 55 100 400 800
[ 55 000 400 800
J 55 000 400 800
ThE | J 55 300 500 500
J 55 300 500 500
[ 55 000 | 12,000 800
L 55 000 | 12,000 800
L 55 700 900 100
L 55 000 900 100
TR CAE) =R TR CAE) % |_JL 55 300 800 800
[ 55 900 100 100
[y 55 900 300 300
55 900 300 300
55 700 700 300
55 700 700 4,300
A% 55 700 800 "800
55 700 "800 "800
55 500 500 500
55 100 500 800
55 100 500 800
55 100 700 800
R (HE) =R RRCPAE)R [ J 55 .900 000 000
[ 55 400 000 000
[ 55 900 700 700
[ 55 900 700 700
55 900 700 700
[ 55 800 000 800
55 500 700 700
55 000 200 800
[ 55 800 000 000
[ 55 100 100 100
[ 55 100 000 000
[ 55 700 800 800
55 700 800 800
55 600 200 400
55 500 700 900
55 500 700 900
RRCAE) -8 & RRCAE)RE | J 55 300 ,000 000
[ 55 300 000 000
[ 55 800 000 800
[ 55 900 600 600
[y 55 000 500 800
55 000 200 800
BhE | 55 800 200 800
[ 55 300 000 300
[y 55 800 200 300
[y 55 800 800 800
[ 55 700 300 800
55 000 700 7800
R (HH) -BERS (HE)* 55 300 000 800
55 300 500 300
55 300 000 800
55 500 200 200
[y 55 500 200 200
[y 55 700 000 000
[ 55 600 500 300
55 300 500 300
BRBR 55 700 900 900
L 55 700 900 900
L 55 000 000 800
L 55 000 000 800
55 700 500 600
55 700 500 600
55 300 000 800
55 300 000 7800
KR (FFH =378 KR (PO % | J 55 ,200 ,500 500
55 200 500 500
55 800 300 300
55 300 700 700
% 55 700 800 800
55 ,700 ,200 ,200
55 900 ,200 ,200
55 .900 ,200 ,200

JAL



[R—I—5%BEER(Q2A6~12BEBFE)

EEEMAA ;- 2016/09/13

2/6 2/1 2/8 2/9 2/10 2/11 2/12
X B2 FH | AriB | il | R 5B | AR | A5 | Al | R
BABR g mam | ER En En En EaE
TR AR (FR | RRGAEE |_J 500 560|830
J 500 500 | 9700
J 600 600 | 9700
J 500 600 | 9700
J 000 600 | 9700
J 300 600 | 9700
J 200 200 | 9700
J 000 000 | 9,700
[y 000 000 | 9,700
[y 200 | 10,200 700
J 200 | 9700 200
J 200 | 9700 600
J 200 | 9700 600
J 200 | 9700 600
J ,200 ,700 600
KR(EE |_J 700 | 9,900 100
JL ,000 ,000 ,100
[ J ,000 ,000 ,100
J ,000 ,000 ,100
- ,000 000 | 8,100
J 000 | 10000 | 8600
J ,200 .000 ,700
J ,000 ,700 ,700
J ,000 ,700 ,700
J 000 | 9,700 700
[ 000 | 9,200 600
[ 000 | 9,200 600
J ,200 ,700 600
JL ,200 ,700 600
JL ,200 ,700 600
ETAE IR TRIEE [ 500 400 100
(- ,300 4,700 700
[y 700 900 | 12,000
[ J 700 600 900
[y 400 | 12,000 800
J 400 [ 12,000 800
K75 [ J .100 100 100
J 100 100 100
[ J 600 700 600
JL 600 700 100
JL ,800 ,800 400
JL 400 ,500 400
EEAE R TRIEE | 100 300 500
[ J ,200 900 100
[ J ,500 ,900 200
,500 ,900 200
700 ,000 700
,700 ,000 700
RIGS ,700 ,700 000
700 700 000
,200 ,000 000
,200 ,800 900
,700 ,800 900
,900 500 900
R (HE) =R RRCPAE)R [ J .100 100 000
[ J ,600 ,200 800
[ J ,700 ,000 000
[ J 700 ,700 400
,700 ,700 400
[ J 700 ,000 000
,800 400 000
,000 700 800
BEARS [ J ,300 ,300 000
[ J ,300 ,300 200
[ J 300 300 200
[ J .300 .300 500
.300 .300 500
,500 .900 300
,300 .900 800
,300 400 000
RR(HE) =25 RRCPAE)SR [ J ,000 ,900 000
[ J ,000 ,900 000
[ J ,700 ,500 300
[ J 900 .200 300
[ J 900 ,300 800
,000 ,300 800
S [ J ,800 ,800 000
[ J 900 ,500 000
[ J .200 .200 200
[ J ,700 ,300 800
[y 400 500 300
,000 ,000 900
TR IE) BERE RER 900 200 500
,400 ,200 300
,000 ,000 300
,000 ,000 700
[ J ,000 ,000 700
[ J ,300 .200 800
[ J 900 .200 400
900 .200 400
BEREH ,000 500 500
,000 500 500
,200 500 000
,200 ,000 000
,200 .500 200
,200 ,300 200
,000 ,300 400
,400 ,300 400
ARG 8 FEGME | 100 00 300
,600 ,600 800
,100 ,100 100
,100 , 700 100
HRR ,100 100 200
00 100 600
00 300 ,600
00 ,300 ,600




[R——5%G1EEXRGAI~IBEES)

EEEMAA ;- 2016/09/13

3/1-9
T A== F
= L TS p— 5 ) e
- BIBIE | #I5|R ] u
RERCHE)=KR(F/) | "RRAE)F [_JL 55 000 60% 64% 0,500, H:8.900
JL 55 000 60% 64% 0,500, H:9.700
JL 55 000 52% 57% 112,600, £:11,600. H:9.700
JL 55 000 56% 60% 500, £:11,600, H:9,700
JL 55 000 56% 60% 000, +:11,600. H:9.700
JL 55 700 58% 61% 800, +:11,600. H:9.700
JL 55 700 58% 61% 200, £:10,200, H:9,700
JL 55 700 62% 65% 200
[J 55 700 62% 65% 200
[y 55 100 56% 60% 500, £:10,200, H:9.700
J 55 700 58% 500, £:9.700. H:10,200
JL 55 700 58% 112,500, £:9,700, H:11,600
JL 55 700 58% | A%:13.400, £:9,700, B:11,600
JL 55 700 58% | A%:13.400, £:9,700, B:11,600
JL 55 700 | ¢ 58% |A#£:13,400, £:9700, H:11,600
KR P % |_J 55 7.700 69% 72% 100, £:9,900
JL 55 700 54% 58% 8,100, A:13,000, £:10,000
[J 55 700 54% 58% 8,
J 55 700 54% 58% 8,100, A:13.200, :10,000
JL 55 000 56% 60% :8,100, £:10,000
JL 55 500 58% 62% 600, +£:11,000
JL 55 ,000 60% :9,700, £:11,000
J 55 ,000 60% :9,700, 7K:9,800, £:9.700
J 55 ,000 60% :9,700, 7K:9,800, £:9,700
J 55 ,000 60% :9,700, 7k
[y 55 ,000 60% +11,600, 1:9.200
[y 55 ,000 60% +11,600, £:9.200
J 55 ,000 52% +11,600, +:9,700
JL 55 ,000 52% 7 +11,600, £:13,400, 9,700
JL 55 ,000 52% | 57 +11,600, £:13,400, £:9,700
FR(CRE)=X5 RRPE)R | J 55 ,500 66% 68% ,800, H:11,300
[J 55 700 66% 68% 500, %:14,600, £:15,000, H:12.700
[y 55 700 68% 70% 900, H:12,000
[y 55 500 1% 73% :11,700, £:12,700, H:12,900
[y 55 000 70% 72% 700, H:13,800
J 55 000 70% 72% 700, H:14.800
Kk |J 55 1300 72% 73% 300
J 55 1300 72% 73% 300
[y 55 000 70% 72% 500, £+ H:12,700
JL 55 000 | 70% 72% 2,700, H:13.200
JL 55 400 4% 66% 100, +:14,000, H:16.700
JL 55 400 4% 66% 1:16.300
FR(CRE) =R HR(PE)FE | JL 55 700 1% 124 :11,100
[J 55 700 66% 68 £ 16,200, H:14,100
[y 55 000 72% H:12.900
55 000 72%
55 000 72%
55 000 72%
R 55 000 72%
55 000 72%
55 000 72%
55 500 69%
55 500 69% 7
55 400 67% 69%
R (HE) =R RRCPAE)R [ J 55 .200 73% 74%
[J 55 700 69% 71%
[J 55 600 67% 69%
[J 55 600 69% 71%
55 600 69% 71% g
[J 55 ,000 1% 72% 600
55 ,000 68% 70% 400, H:14,600
55 ,700 69% 7 :13,200, A:13,000,
AR | _J 55 700 69% £:13,500. H:12,000
[J 55 800 69% 500, % £:13,200, H:12,100
[J 55 800 1%
[J 55 100 73% 5%
55 .100 73% 75%
55 500 70% 71%
55 800 69% 71%
55 400 70% 72% 500
RR(CRE)=21 ERCPEDSE [J 55 400 70% 72% 500,
[J 55 400 70% 72% 900,
[J 55 700 69% 71%
[J 55 600 74% 76%
[J 55 700 69% 71%
55 900 69% | 70%
BEE | _J 55 600 69% 1%
[J 55 700 69% | 71%
[y 55 .000 73% 5% £ B:11,200
[J 55 2% :12,200, £:12,900, £:12,700, H:14,400
[J 55 1% 113,400, 12,800, B:14.900
55 70% 000, £:12,300, H:15,000
R (PH-ERE CRE) % 55 76% :13,800
55 73% :14,500, +:15,700, B
55 70% 000, £:15,700. B
55 75%
[ v 55 75%
[ v 55 75%
[ v 55 75%
55 75%
BEREBRE L 55
Lf 55
Lf 55
Lf 55
55
55 7 000, £:12,100. A
55 70% _[+:12.300, H:14.400
55 7
KR (FFH)=$18 KR (FH % [ J 55
55
55 ,700 58% 114,600, F:14, . H:14,700
55 ,900 54% :16,100, £:13,700
iR 55 ,100 54% 7 14,200
55 700 58% 1 :15,100, H:14,600
55 ,800 61% 3! :14,600, %:15,600, £:12,300
55 ,800 61% 3! :14,600, %:15,600, £:12,300




[R—N\—%FGIHEEXRBAI0~16BEFEN)

EEBEAB 2016/09/13
3/10-16
T A== F"
= B% AR gy [E—7W
EEE 251% %5
FR CRE) =Kk () RR(PE)RE | JL 55 000 64% 10,500, H:8.900
JL 55 000 64% 10,500, H:9.700
JL 55 000 57% &
JL 55 000 60%
JL 55 000 60%
JL 55 700 61%
JL 55 700 61%
JL 55 700 65%
[J 55 700 65%
[J 55 100 60%
J 55 700 58%
JL 55 700 58%
JL 55 700 58%
JL 55 700 58%
JL 55 700 58%
KR P % |_J 55 7.700 72% 100, £:9.900
JL 55 700 58% 100, H:13,000,
[J 55 700 58% 100, 5:13,000,
J 55 700 58% 100, 5:13,000,
JL 55 000 60% 8,100, £:10,000
JL 55 500 62% 600, £:11,000
JL 55 ,000 700, £:11,000
J 55 ,000 700, 7K:9,800, £:9.700
J 55 ,000 700, 7K:9,800, £:9,700
J 55 ,000 700, 7K:9,800, £:9,700
J 55 ,000 600, £:9200
J 55 ,000 1600, £:9,200
J 55 ,000 600, £:9700
JL 55 ,000 7 600, ,400, £:9,700
JL 55 000 7 600, 400, £:9,700
FR(CRE) =R RRCRE) R | JL 55 400 69% |4:16,000, 400
[J 55 700 68% 600, +:16.200. B
J 55 700 70% 200, £ £:14.900,
JL 55 700 70% | H:14,200, £+:14.900,
JL 55 700 70% | H:13,900, 500, B
J 55 700 70% | H:13,900, £:16,500, H
R J 55 700 70% 700, £:15,700
[ L 55 700 70% 14,700 _
J 55 700 70% :14,700, £:14.400
J 55 400 69% 6,200, 15,800, H:17.100
J 55 400 69% 6,200, 15,800, H:17.100
J 55 600 68%
[AEE 3 RRCAEE | J 55 900 | 70%
[J 55 400 7
[J 55 500 7 X
[J 55 200 7 7K:13,800, #:14,800, 15,000, H:13,000
55 200 7 13,800, £:14.800, £
[J 55 700 69% 800
55 300 69% 800, +:12,400. H:15,000
55 ,700 69% ,200, £ H:15,700
AR | _J 55 400 67% ,300, H:13.700
[J 55 400 69% ,900, H:12,700
[J 55 400 72% ,900, H:12,700
[J 55 700 73% ,900, H:13,200
55 700 73% 2,900, H:13,200
55 400 69% 900, 700
55 400 69% 500, H:15,700
55 400 72% 500, H:15,000
RR(CRE)=21 ERCPEDSE [J 55 ,700 69% |+4:14,900
[J 55 700 69% 100, 00
[J 55 400 7 800, £:15,500. H:14,200
[J 55 .200 7
[J 55 200 7
55 200 7
BEE | _J 55 200 7
[J 55 200 7
[J 55 700 1
[J 55 700 69%
[J 55 700 69%
55 400 67%
ERCPE)-ERS RERCRE) % 55 ,700 12%
55 200 69% 13,700
55 200 69% 13,700
55 600 73% . H:13,600
[J 55 600 7 800, £:13,700. H:13,600
[y 55 100 7 200,
[J 55 100 7 400,
55 100 7 400,
ERER 55 100 72 700,
L 55 100 72% 900,
L 55 700 70% 200,
L 55 700 70% 200
55 200 1% :14,200, £:12.800
55 200 69% 15,100, %:13,700, H:15,200
55 500 69% :15,100, £:13,700,
55 ,900 70% :14,900, £:13.700
KR (FFH =378 KB (FFH % [ JL2241 | 55 ,100 63% 113,700, +:14,600,
55 100 3 +:14,600, H:12.800
55 700 1 114,600, %:14,200, B:14,700
55 ,900 7 :16,100, £:13.700
iR 55 ,100 7
55 700 1 15,100, H:14,600
55 ,800 3% :14,600, £:15,600, +:12,300
55 ,800 63% :14,600, £:15,600, +:12,300

JAL



TR—N\—%FGIHEER(BA21~25BEFEN)

EEBEAB 2016/09/13
3/21-25
R — Z—R—%H
E—5% =
#51% "
R (CRE) =R RERCPE) % 68% | :X:14,800, £:15,300
65% | 4:16.100, T:16,700
63% % F:16.700
65% | :16.100, %:15,800, £:16,300
65% | X:16.100 800, £:16,300
66% | X:16,800
66% | %:15,400, £:13,700
66% | X:16,300, %:17.400
AR 65% 800, £:16.400
66% 300
69% 300
70%
70%
66%
66%
6%
FR(CRE)=215 RERCRE) % 65%
65%
65% |
7% &
65% X 500
64% | :15,800, £:17,500, £:15.400
ECES 61% | JKK:15,300, £:16,100
65% | :X:16,.800, $:15,000, F:16.500
69% | X:15,300, % £:13,900
66% | 16,300, £:15,900, F:15400
66% | 215,800, £:15,900. £:15.000
65% X
RER(AEB)=ERS RERCRE) % 70% [k:
67% |k
67
71
71
72%
72%
72%
ERBR 69%
6% 600
68% | :X:16,800, £:15,300, F:15,400
68% | 2:16,800, £:15,300
69% |£:15,300, +:13,800
67% |2 :14,700
65% | KK:15,600, +:14,700
L 68% 16,300, %:15.900, £:14.700
KR () =818 KR (P % [ J 63% :13,700, +:14,600
3 £:14,600
1 114,600, £:14.200
7 116,100, £:13.700
iR 7
1% _[21:15.100
3% | 2:15,600, £:12,300
63% | £:15,600, T:12,300

JAL



[R—N\—%FGIHEERGBA1T~208EEN)

EEEME . 2016/09/13
3/17 3/18 3/19 3/20
=40} B2 FH | il | sl | R B | A %@
BABR g an En En
TR B AR(BR | RRCAEE | L 55 000 500 | 9800 | 9800
JL 55 000 600 200 200
JL 55 500 600 200 200
JL 55 400 600 200 200
JL 55 900 600 200 200
JL 55 900 600 200 200
JL 55 000 600 200 200
JL 55 000 600 200 200
[ J 55 000 600 200 200
[ J 55 700 200 600 600
J 55 700 200 600 600
JL 55 700 200 600 600
JL 55 700 200 600 600
JL 55 700 200 600 600
JL 55 ,700 ,200 .600 .600
TR R |J 55 200 200 | 8,900 900
JL 55 ,700 200 | 8,900 ,900
[y 55 700 200 | 8,900 ,900
J 55 ,700 200 | 8,900 ,900
JL 55 ,000 0200 [ 8900 900
JL 55 ,000 .600 400 400
JL 55 .000 .600 ,200 ,200
J 55 .000 ,600 ,200 ,200
J 55 .000 ,200 ,200 ,200
J 55 .000 ,200 ,200 ,200
J 55 .000 ,200 .600 .600
J 55 .000 ,200 .600 .600
J 55 900 ,200 .600 .600
JL 55 900 ,200 .600 .600
JL 55 900 ,200 .600 .600
EEAEE TRGIEE | 55 800 500 400 400
[ J 55 800 500 100 100
J 55 7,100 20,500 100 100
JL 55 7,100 20,500 100 100
JL 55 ,600 16,500 ,900 ,200
J 55 ,600 16,500 ,900 ,800
RIS J 55 ,800 20,800 ,800 ,800
[ JLf 55 ,800 9,800 ,800 ,800
J 55 ,800 7,500 ,800 ,800
J 55 400 7,400 ,400 800
J 55 7,400 7,400 ,400 800
J 55 ,000 ,800 800 ,800
ETAE TR =3 TREE [ 55 700 500 | 12,000 | 12,000
[ J 55 ,700 .900 ,000 ,000
[ J 55 ,700 .800 ,500 ,500
[ J 55 ,700 ,800 ,500 ,500
55 ,700 ,800 ,500 ,500
[ J 55 ,800 ,800 ,300 ,800
55 ,100 ,700 ,900 ,800
55 400 ,800 ,000 ,800
AR | J 55 800 800 800 800
[ J 55 ,300 ,900 ,200 ,800
[ J 55 ,300 ,900 ,200 ,800
[ J 55 ,300 , 100 ,600 ,100
55 ,300 , 100 ,600 ,100
55 200 ,700 ,500 ,400
55 7,200 ,700 100 ,400
55 7,200 ,700 ,700 1400
B (DE) BB FR(PERE | J 55 5,800 20,500 800 700
[ J 55 6,100 20,500 ,800 ,700
[ J 55 7,500 20,000 ,300 ,800
[ J 55 ,800 16,000 ,700 ,300
[ J 55 ,800 16,800 ,000 20,000
55 ,600 16,600 ,700 20,000
=R | J 55 700 20,400 300 300
[ J 55 ,500 7,500 ,300 ,300
[ J 55 ,800 6,500 ,300 ,800
[ J 55 ,000 1,500 ,000 500
[ J 55 1,500 1,500 7,000 9,800
55 7,500 5,200 7,000 20,400
FROEBERE | BRGIBE 55 5800 | 20500 500 700
55 6,900 2,700 ,800 ,700
55 1,700 2,500 ,700 ,200
55 ,500 7.800 ,600 ,600
[ J 55 ,300 ,800 ,600 ,600
[ J 55 ,900 ,500 ,400 300
[ J 55 ,900 ,500 ,400 7,300
55 900 ,500 ,400 7,300
BERER 55 1900 20,500 100 100
Lf 55 900 1,300 ,100 ,100
Lf 55 ,800 7,500 ,200 ,800
Lf 55 ,300 7,500 ,200 ,800
55 ,300 ,700 ,300 ,900
55 ,300 ,700 ,300 900
55 ,800 ,700 ,900 9,800
55 ,800 ,700 ,900 9,800

JAL



BEXR(U18271~12818%%)

TIINSERFIE
EEBEAB 2016/09/13
T1/27-12/1
FH IIRSEE
R B2 AR g | EEW
wrE | %
TR CAE)=ABR () | RmCHE) 3 | _JLiol 9,800 10,300, H:8500
JL103 9,800 10,300, H:9.300
JL107 1700 %:12.300, £:11,500, H:9.300
JL 800 7|4 200, 11,500, H:9.300
JL 800 7 111700, £:11,500. H:9.300
JL 300 59% % £:11,300, H:9.300
JL 700 73% 10,300, 10,300, 7K:10.300
JLT19 300 63% | A%:9.800
[ JLizi 300 63% | A%:9800
[ JLi25 700 58% 800, H.9.300
JL127 400 55%
JL131 400 55%
JL133 400 55%
JL137 400 55%
JL139 400 55%
KR (PR R | JLio2 | 7 7,400 1%
JLioa | 7 400 55%
[JLioe | 7 400 55%
JL 7 400 55%
JL 7 800 57%
JL 7 100 60% :
JL 7 800 61% 9,300, £:10,100
L 7 800 61% 9,300, 7K:9.400, £:9,400, F:9,300
JLi20 | 7 700 3% |
JLi2a | 7 600 62% ||
JLi26 | 7 800 1
[ JLizs | 7 800 1
JL130 | 7 11,700
JLi34 | 7 11,700
JL138 | 7 6,700
FRCRE)=k#5 RRCRE) R [ JL565 | 7 200 7
[ JLse7 | 7 200 7
JL569 | 7 400 75% 12,900, +:12.200
ES E] JLs62_| 7 800 74% :12.200, £:12,400
[ JLsea | 7 300 75% :12,200, £:11,600
JL566 | 7 000 76% | A:11,400, H:12.200
HRCRE) =g HR(PE) R JL 7 900 75% :13,800 _
JL 7 400 74% 112,200, £:14,500, H:10,800
JL 7 500 76% 110,800, H:11,600
FEES JL 7 700 75% 1,300, £:11,600, H:10.600
JL 7 100 7% +£:11,300. H:10.800
JL 7 500 76% +11,800, £:12,700. H:14,400
R (PE)-Bh RRCPE)® |_JL 7 100 7% 110,300, H:10,000
JL575 | 7 600
L577 | 7 600
1579 | 7 700 300, H:11,800
HILF L57 7 ,200 00, B:10,800
L572 | 7 .200 00, H:12.300
L574 | 7 .200 00, H:12.300
L576 | 7 .300 oo £:10,500, B:11,300
R (CRE)=EfE RERCPE)F [ JL585 | 7 ,800
[ JLse7 | 7 300 11‘700‘ £:12.400
589 | 7 800 5:14,700
R |_JLsed | 7 400
[ JLss6 | 7 700 . %:12,200. £:11,600. H:13,900
588 | 7 500 _
RRCHE)=K5 TR CHE) % |_JLeel | 7 ,000 1300, £:12.900. H osoo
[ JL663 | 7 200
[ JLee5 | 7 .200
[ JLee7 | 7 500
[ JLee9 | 7 .800
671 | 7 .800
RnkE | _Je62 | 7 500
[ JLeea | 7 500
[ JLees | 7 .200
670 | 7 .200
672 | 7 300
674 | 7 700
RR(CRR)=RIK RERCPE)$ [ JL605 | 7 .200
[ JLeo7 | 7 400
[ JLe09 | 7 500
L6i1 | 7 500
L6138 | 7 500
L615 | 7 500
&% | _JL606 | 7 500
[ _JL6og | 7 ,500
L 7 500
L 7 500
L 7 000
L 7 .200
[AETE FRCHE) 3 | JL623 | 7 ,000
[ JL625 | 7 ,500
[ JL627 | 7 400
[ JL620 | 7 1400
631 7 400
[ JL633 | 7 ,500
637 7 .500
639 7 ,000
REAR | _JL622 | 7 200
[ _JL624 | 7 ,500
| JL626 | 7 ,500
| JL628 | 7 ,500
L 7 500
L 7 100
L 7 600
L 7 600
RE(CRR)=215 RRCPE) S [ JL68 7 .000
| _JL689 | 7 ,000
[_JLeot | 7 1200
[ JL693 | 7 ,000
[ JL695 | 7 1200
L697 7 400
EER  |_JL68s | 7 100
[ JL690 | 7 1200
[ JL692 | 7 000
[ JL6os | 7 500 1,000, %:11.400. £:11,200. H:13,000
[ U696 | 7 500 1400 £:10,900, H:13,000
698 7 100 2% - 200 #:12,500, £:10,900. H:13,500
R (PAE)-ERE R (FE) % 1641 | 7 9,700 78%
L643 7 9,700 78% £ +:10.700
L645 7 12,500 1% £::14,500, £:14.700, H:12,000
L647 7 9,700 78%
[ JL649 7 9,700 78%
[ _JLest | 7 10,500 76% | £:11,200, H:11,400
[ JL653 7 700 78%
L655 7 700 78%
BERER L 7 700 78%
L 7 700 78% | £ £:10,700
Lf 7 700 78%
Lf 7 700 78%
[ JLi 7 ,700 78%
[ JL650 7 700 78%
[ JL652 7 ,200 2% :13,400, £:11,500
54 7 .200 74% :11,400, £:10,500
PAGEE ) PNAGEED 24 7 400 62% 3,800, H:12,100
L224: 7 ,400 62% 12,100
[ JL2245 | 7 ,900 60%
25 7 ,100 57% 15200 +:12,900
R L2241 7 ,300 56% :13.400
L224 7 ,900 60% :14,300, H:13,800
[ JL2246 | 7 100 63% :13,800, #:14,700, £:11,600
250 7 ,100 63% :13,800, :14,700, £:11.600




TS5 RBIEER(12A2~15B-FES)

EEEAA . 2016/09/13
12/2-15
=R B4 FH IIRSEE
ISR ama |70 i
FR CRE) =Kk () HR(PE)F |_JLioi 9,800 64% 500
JL103 9,800 64% 300
JL107 700 58% 11,500, H:9,300
JL 800 61% 11,500, H:9,300
JL 800 61% | A%:11.700, £:11,500, H:0,300
JL 300 63% :9.300. :11,300, %:11,300. £:11,300
JL 300 63% %:10,800, £:9,800, H:9,300
JLT19 300 66% 9,800
[ JLizi 300 66% 9800
[ JLi25 700 61% 000, %:11,300, £:9,800, H:9,300
JL127 400 5% 200 200, £:9.300, H:9.800
JL131 400 50% | 11,200, A%:12,200, 9,300, H:11,500
JL133 400 50% | 11,200, A%:12,000, £:9,300, H:11,500
JL137 400 50% | 11,200, A%:12,000, £:9,300, H:11,500
JL139 400 50% | :11,200, A2:12,900, +:0,300, H:11,500
RIR (B % |_JLioz | 7 7,400 73% 1800, £:9.500
JLioa | 7 400 50% 7.800, H:12.700 .
[JLioe | 7 400 50%
JL 7 400 50%
JL 7 800
JL 7 100 : —
JL 7 800 300, £:10.100
L 7 800 300, 7K:9,400, £:9,400, £:9,300
JLi20 | 7 800 4 300
JLi2a | 7 800 00, 1£:9,300
JLi26 | 7 800
JLi28 | 7 800
JL130 | 7 700 58%
JLi34 | 7 700 58% 900 £:9,300
JL138 | 7 700 58% 900, £:9,300
R CRB)=#HIE RR(PE)HF |_JL5T: 7 000 78%
JL575 | 7 100 76%
JL577 | 7 100 76%
JL579 | 7 700 76%
LR JL570 | 7 900 76%
J572_| 7 200 78%
JL574 | 7 200 78%
JL576 | 7 000 76% :
R CHE) =K% HE(PE) % [ _JLe6t | 7 900 72% 900, %:12,400, H:9,700
[ JLee3 | 7 000 72% 100, £:12,400
[ JLee5 | 7 000 74% 100, £:11.400
[ JLee7 | 7 600 75% 11,000, %:11,400, H:11,900
[ JLee9 | 7 000 74 300, H:13,800
JL671_| 7 000 74 300, H:13,800
Rn®E | _JLe62 | 7 9,700 77
[ JLeea | 7 9,700 77
[ JLees | 7 .000
670 | 7 ,000
672 | 7 100
674 | 7 100
RR(CRR)=RIK RERCPE)$ [ JL605 | 7 .000 76%
[ JLeo7 | 7 300 75%
[ JLe09 | 7 000 76%
L6i1 | 7 000 76%
L6138 | 7 000 76%
L615 | 7 000 76%
&% | _JL606 | 7 000 76%
L608 | 7 700 7%
L 7 9,400 80%
L 7 000 74%
L 7 000 4%
L 7 ,000 76%
FR(CRE) =R RERCPE) S [ JL62 7 ,500 76%
[ JLe25 | 7 400 74%
[JLe27 | 7 400 4%
[ J629 | 7 000 75%
631 | 7 000 75%
[ J63s | 7 ,000 75% +:12,000
637 | 7 400 76% 800, £:9,600, H:11,700
639 | 7 .000 75% 200, %:11,800, H:13,800
AR | _J622 | 7 ,000 75% 300
[ Ji62a | 7 000 72% 300, JK:11,100, £:11,600. H:10,600
[ JL626 | 7 9,600 78% 0,100, H:10,000
[ Je28 | 7 9,100 79% 0,100, H:10,300
L 7 9,100 79% :10.600
L 7 10,600 76% :11,700
Lf 7 10,600 76% 2,200
Lf 7 9,600 78% ,100, H:11,700
RRCHE) =R CRE) R |_JLes7 | 7 11,000 75%
[ JL68Y 7 11,000 75%
[JLeot | 7 11,200 4%
[ JL693 7 9,300 79%
[ JL695s | 7 ,000 75%
L697 | 7 200 4%
EER  |_JL68s | 7 .200 4%
[ JL6o0 | 7 000 72%
[ _JL692 | 7 ,500 76%
[ _JL69a | 7 ,000 75%
[ JL696 | 7 ,000 75%
698 7 .500 74%
RRCAB)-ERS CRIE) % L4l | 7 9,700 79%
L643 | 7 9,700 79%
L645 7 12,000 74%
L647 | 7 9,700 79% :
[JLeas | 7 9,700 79% :13,800
[ JLest | 7 9,600 79% :13,800, :10,600, H:11,000
[ JL653 7 10,800 7% 39,700
L655 7 11,500 75% 39,700
BERESR L 7 700 79% | X:13,800
L 7 700 79% | X:10,400
L 7 700 79% :12,000, X H:13.800
L 7 700 79%
L 7 700 79%
[ JL650 7 700 79%
[ JL652 7 ,000 74% :12,100, 1:9.900, H:12,400
L654 7 .000 76% 1,400
PNAGEE KR (D& | _JL224 7 400 65% X :13,800. H:12,100
224, 7 ,400 65% 13,800, H:12,100
[ JL224! 7 ,900 63% :13,800, +:13.400, H:13,900
225 7 ,100 60% :16,200, 1:12,900
R [JL224 7 ,300 59% 3,400
[ JL224 7 ,900 63% 14,300, H:13.800
[ JL2246 | 7 ,100 65% :13,800, £:14,700, +:11,600
L2250 7 ,100 65% :13,800, %:14,700, £:11,600

JAL



TS %BIEER(12A16~21BEESD)

EEEAA . 2016/09/13
12/16-21
=R B4 FH IIRSEE
ISR ama |70 i
FR CRE) =Kk () RRCHE) R |_JL 9,800 64% 500
JL 9,800 64% 300
JL 700 58% 500, H:9,300
JL 800 61% 500, H:9,300
JL 800 61% 700, £:11,500, H:9,300
JL 300 63% 11,300, H:9,300
JL 300 63% 110,800, +:9,800, H:9,300
JL 300 66%
] 300 66%
[ JLi25 700 61%
JL127 400 5%
JL 400 50%
JL 400 50%
JL 400 59%
JL 400 59%
RIR (B % |_JLioz | 7 7,400 73% 800, T
JLioa | 7 400 50% 7.800.
[JLioe | 7 400 50%
JL 7 400 50%
JL 7 800
JL 7 100 : —
JL 7 800 300, £:10.100
L 7 800 300, 7K:9,400, £:9,300
JLi20 | 7 800 300, 7K:9.400, £:9,300
JLi2a | 7 800 300, 7K:9.400, £:9,300
[JLiz6 | 7 800
[ JLizs | 7 800
JL130 | 7 700 58%
JLi34 | 7 700 58%
JL138 | 7 700 58%
FR(CRE)=X5 RRCRE) R [ JL661 | 7 .900 72%
[ JLee3 | 7 000 72% |7
[ JLee5 | 7 000 72% |}
[ JLee7 | 7 600 75%
[ JLee9 | 7 000 74 300, 300
JL671 | 7 000 74 13,300, H:13,800
RnFE | _JLe62 | 7 9,700 77
[ JLeea | 7 9,700 77
[ JLees | 7 000
JL670 | 7 000 —
JL672_| 7 100 :12,200, %:12,700, E:12,000, H:13,700
JL674 | 7 100 200, % H:11,700, £:11,000
R CHE)=RA Hm(PE) % [ _JL60s | 7 000 76% 500, £:12,700, H:10,300
[ JLeo7 | 7 300 75% 700, £:12,400, H:13,800
[ JLe0 | 7 000 76%
611 | 7 000 76%
613 | 7 000 76%
L615 | 7 000 76%
&% | _JL606 | 7 000 76%
L608 | 7 700 7%
L 7 9,400 80%
L 7 000 74%
L 7 000 4%
L 7 .000 76%
FR(CRE) =R RERCPE) S [ JL62 7 ,500 76%
[ Je25 | 7 400 74%
[JLe27 | 7 400 4%
[ J629 | 7 000 75%
631 | 7 000 75%
[ J63s | 7 .200 4%
637 | 7 400 76%
639 | 7 800 73%
AR | _JL622 | 7 ,000 75%
[ Jie2a | 7 100 75% :
[ JL626 | 7 9,600 78% 0,100, H:10,000
[ JLe28 | 7 9,100 79% 0,100, H:10,300
L 7 9,100 79% :10.600
L 7 10,600 76% 100, H:11,700
L 7 10,600 76% 600, H:12,200
L 7 9,600 78% 112,100, H:11,700
RR(CRE)=21 RERCRE)$ [ JL68 7 11,000 75% | +:11,700
[ JLesy | 7 11,000 75% | £:11,700
[ JLeot | 7 11,200 74% 213,800 F:11,700
[ JL6e3 | 7 8.800 80%
| JL695 | 7 .000 75%
L697 | 7 200 4%
EER  |_JL6ss | 7 200 4%
[ JLes0 | 7 ,000 75%
[ JL692 | 7 ,500 76%
[JLeoa | 7 .200 74% % F:11,000, B:11,800
[ JL6%6 | 7 ,000 75% % H:11,800
698 | 7 500 74% _|%:12,700, £:11,000, H:12.400
RRCAB)-ERS CRIE) % L6ai | 7 9,700 79%
L643 | 7 9,700 79% | %£:10,700
L645 7 12,000 74% £ +:12.400
L647 | 7 9,700 79% | H:8,700
[Jteas | 7 9,700 79%
[ JLest | 7 9,600 79% |%:13,.800. +:10,600, H:11,000
[ JL653 | 7 10,800 77% | #:13800, H:12,600
L655 7 11,500 75% £:13,800, H:13.300
BERESR L 7 700 79%
L 7 700 79%
L 7 700 79%
L 7 700 79%
L 7 700 79%
[ JL6s0 | 7 700 79%
[ JL652 7 ,000 74% 112,100, H:12,400
654 7 .000 76%
KR (FFH)=$18 KRB (fFH $ [ _JL224 7 ,400 65%
224, 7 ,400 65%
[ JL224! 7 ,900 63%
225 7 ,100 60%
iR [JL224 7 ,300 59%
[ JL224 7 ,900 63%
[ JL224f 7 ,100 65%
L2250 7 ,100 65%

JAL



TS RBIEER(12A22~29BEE)

EEEAA . 2016/09/13
12/22 12/23 12/24 12/25 12/26 12/27 12/28 12/29
=R B4 FH [Sarsx@[onrsEB[OnrsEB[ONrSER[INLSER]DNISHB[INLSER] SNLSESR
BAMR g Emm | mwEA | e Erg | mwEA | EnE | ERa
R (E) AR (B | ZxHE) & |_JLiol 800 300 100 | 9,800 300 300 300 800
JL103 800 300 100 | 9,800 700 300 300 300
JL107 300 500 100 | 9,800 700 300 300 300
JL 200 500 100 | 9,800 300 300 300 200
JL 700 500 100 | 9,800 700 700 700 200
JL 300 | 11500 | 10100 | 9,800 700 700 700 200
JL 800_| 9.800 800 800 700 700 700 200
JLT19 9,800 800 800 800 700 700 700 200
[ JLizi 9.800 | 9,800 800 800 700 700 700 200
[ JLi25 000 | 9,800 800 800 300 300 300 000
JL127 200 | 9,800 800 800 900 900 900 000
JL131 200 | 9,800 800 900 900 900 900 000
JL133 900 | 9800 800 900 900 900 900
JL137 900 | 9300 300 300 300 300 300
JL139 900 | 9,300 300 300 300 300 300
RIR (B % |_JLioz | 7 400 | 9,500 500 800 400 400 400 | ¢
JLioa | 7 400_| 9,800 800 7.800 600 400 400 | ¢
[JLioe | 7 400_| 9,800 800 7.800 600 400 400 | ¢
JL 7 400_| 9,800 800 7.800 600 400 400 | ¢
JL 7 800_| 9,800 800 7.800 800 800 800 | ¢
JL 7 100 | 9,800 | 9,800 | 8300 200 100 |10,
JL 7 800 10800 | 10,100 300 200 800 800 1
L 7 400 300 300 300 200 800 400
JLi20 | 7 400 300 300 300 200 800 400
JLi2a | 7 400 300 300 300 | 9.200 800 400 | 9,
[JLiz6 | 7 800 800 800 500 800 800 800 | ¢
JLi28 | 7 800 | 8,800 800 500 800 800 800 | ¢
JL130 | 7 700_| 9,300 300 500 700 700 700 | ¢
JLi34 | 7 700_| 9,300 300 500 700 700 700 | ¢
JL138 | 7 700 | 9,300 300 500 700 700 700 | ¢
R CHE)-BE R (RE) R |_JLs8s | 7 300 300 600 600 400 400 400
[ JLss7 | 7 400 300 300 300 300 300 200
JL589 | 7 300 300 300 300 300 300 300 —
mAER | _JLsed | 7 400 800 800 800 800 800 800 12,800
[ JLsse | 7 100 000 000 500 300 300 300 12,300
JL588 | 7 000 000 000 500 000 000 000 12,000
RRCHE) =K% R CHE) % | JL661 | 7 900 200 200 200 200 200 200 —
[ JLee3 | 7 000 800 20,800
[ JLee5 | 7 000 800 20,800
[ JLee7 | 7 000 000 20,100
[ JLee9 | 7 200 | 21,000 000
JL671 | 7 200 | 21,000 000
Rn®E | _JLe62 | 7 700 000 000
[ Jieea | 7 700 000 000
[ JLees | 7 000 800 000
670 | 7 ,000 800 ,000
672 | 7 900 100 100
674 | 7 1400 .000 ,000
RR(CRR)=RIK RER(CPE)F [ JL605 | 7 .000 ,600 ,600
[ JLeo7 | 7 300 20,700 700
[ JLe09 | 7 000 20,700 700
L6i1 | 7 000 20,700 700
L6138 | 7 000 800 20,800
L615 | 7 000 800 20,800
&% | _JL606 | 7 000 000 000
L608 | 7 700 000 000
L 7 9,400 000 000
L 7 000 000 000
L 7 000 000 000
L 7 700 000 000
RR(CRE) =R RERCPE) S [ JL62 7 ,500 20,800 ,800
[J625 | 7 400 600 600
[JLe27 | 7 400 600 600
[ J629 | 7 000 800 20,800
631 | 7 000 800 20,800
[ J63s | 7 800 300 20,800
637 | 7 400 | 9,600 9,600
639 | 7 800 800 20,800
AR | _JL622 | 7 ,000 ,000 800
[ Ji62a | 7 100 ,000 ,000
[ JL626 | 7 9,600 100 100
[ JLe28 | 7 9,100 100 100
L 7 9,100 600 600
L 7 10,600 600 600
L 7 10,600 600 600
Lf 7 9,600 9,600 9,600
RE(CRR)=515 RRCRE)$ [ JL68 7 14,000 .000 20,800
[ JLesy | 7 14,000 000 20,800
[ JL691 7 15,800 ,300 20,800
[ JL693 | 7 9,300 .300 19,800
[JLeos | 7 300 300 20,800
L697 | 7 800 800 20,800
EER  |_JL6ss | 7 ,000 800 800
[ JLes0 | 7 000 800 800
[Jeo2 | 7 .200 .000 ,000
[ JLeoa | 7 200 000 000
[ JL6%6 | 7 ,000 000 000
698 | 7 000 ,000 000
RRCAB)-ERS R (AE) 5 L6ai | 7 9,700 20,800 20,300
L643 | 7 9,700 300 20,300
L645 | 7 15,000 300 20,800
L647 | 7 9,700 900 16,900
[ JLeas | 7 9,700 800 16,900
[ JL651 7 9,600 .800 20,800
[ JL653 7 14,000 .100 20,100
L655 7 14,700 .800 20,800
BERESR L 7 700 000 000
L 7 700 000 400
L 7 700 000 000
L 7 700 ,000 000
L 7 700 100 100
[ JL6s0 | 7 700 600 600
[ Jes2 | 7 000 000 000
L654 7 .000 ,000 ,000
ENACE ] KR (% [ JL22ai [ 7 400 900 900
224, 7 ,400 ,800 ,800
[ JL224! 7 ,900 ,800 ,800
225 7 ,100 ,000 ,000
R [JL224 7 ,300 1300 1300
[ JL224 7 ,900 ,300 ,300
[ JL224f 7 ,100 .600 1,600
L2250 7 ,100 .600 1,600
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TSR FIERER(A1~6BERD)

EEEMAA ;- 2016/09/13

1/1 1/2 1/3 1/4 1/5 1/6

=R B4 FH [SarsE@[onrsEBR[ONrSEB[DNESHB[INESER]INLSESR
BABR g mwm | mam | enm | @ ERE
HR(PE) =X HR(PFE)H |__JL66 700 9,700 9,700 900 900 | 11,000
[ JL663 900 000 800 800 000 100
| JL665 900 000 800 800 | 11,000 100
[ JL667 900 400 400 600 000 400
[ JL669 900 000 800 800 | 11,000 400
JL671 900 000 800 800 [ 11,000 | 11.400
K% | JL662 700 900 700
[ JL664 700 800
[ JL668 14,300 000
JL670 14,300 000
JL672 12,600 300
JL674 700 300

R CHE)=RA HR(PE) % |_JL605 400 | 11,000
[ JL607 400 700
[ JL609 400 800
JL6TT 7 ,600 800
JL613 7 ,900 200
JL61S 7 ,900 200
Iy |_JL60s | 7 10,300 000
[ JL608 7 400 300
JL 7 ,.300 ,300
JL 7 ,300 ,300
JL 7 ,.300 ,300
JL 7 ,000 ,800
R CAE) e A R CAE) & | _JL623 | 7 500 500
[ JL625 7 100 000
[ JL627 7 100 000
[ JL629 7 ,900 000
JL631 7 ,900 000
| _JL633 | 7 ,900 | 11,000
JL637 7 100 ,800
JL639 7 ,900 800
HERR | _J622 | 7 10,300 000
[ JL624 7 10,300 ,300
[ JL626 7 100 ,100
[ JL628 7 100 ,100
JL630 7 12,000 ,800
JL63 7 13,600 ,100
JL63 7 12,000 ,100
JL63 7 100 ,100
R CAE) =B 8 R CAE) & |_JL6s7 | 7 900 000
[ JL68Y 7 ,900 000
[ JL69T 7 ,900 800
[ JL693 7 ,900 500
[ JL69S 7 ,900 ,300
697 7 900 ,700
TR |_JLess | 7 300 200
[ JL690 7 ,300 ,500
[ JL692 7 ,300 ,800
[ JL694 7 ,600 ,200
[ JL696 7 ,300 ,700
698 7 ,300 ,400
RACHE) -ERE RR(HE)% | Jeal | 7 900 500
L643 7 ,900 .000
L645 7 ,900 .000
L647 7 ,100 .000
[ JL649 7 ,900 .000
[ JL651 7 ,900 .000
[ JL653 7 ,900 10,800 .400
L655 7 ,900 11,500 .500
ERER L 7 10,300 17,100 000
L 7 9,100 20,400 .000
L 7 10,300 20,400 .900
L 7 12,000 20,400 ,000
L 7 9,100 20,400 .300
[ JL650 7 13,000 20,400 ,100
[ JL652 7 14,300 20,400 ,100
L654 7 14,300 — — — 20,400 ,100




RO A10~16BEFES)

- 48 | yEAE
TS ERIEER
EEBEAB 2016/09/13
1/10-16
=R B4 T i IIRSEE
BABR amm | ERE i
FR CRE) =Kk () RR(PE)RE | JL 9,800
JL 9,800
JL 700
JL 800
JL 800
JL 300 59%
JL 300 59%
JL 300 63%
[ JLi 300 63%
[ JL125 700 58%
JL127 400 55%
JL 400 55% 200, £:9,300, B11,500
JL 400 55% 900, +:9,300, B:11,500
JL 400 55% 900, +:9,300, B:11,500
JL 1400 55% 12,900, £:9,300, H:11,500
KR (PR R | JLio2 | 7 7400 | Ti% |
JL104 [ 7 1400 55%
[ JL106 | 7 1400 55%
JL 7 1400 55%
JL 7 800 57%
JL 7 100 60%
JL 7 800 ,300. £:10,100
JLI 7 800 300, 7K:9.400, K9 400 1 9,300
JL120 | 7 ,800 . 7K:9,400,
JLi24 | 7 800
[ JLi26 | 7 800
[ JLi28 | 7 800
JL130 [ 7 700
JLi34 | 7 700
JL138 | 7 700 | ¢
FR(CRE)=X5 RRCRE) R [ JL661 | 7 000 | 72%
[ JL663 | 7 ,000 0%
[ JL665 | 7 000 72%
[ JL667 | 7 600 73%
[ JL669 | 7 000 72%
JL671 | 7 000 72%
K55 |_JLe62 | 7 9,700 76%
[ JL66a | 7 9,700 76%
[ JL668 | 7 000 72%
JL670 | 7 000 72%
JL672 | 7 100 70%
JL674 | 7 100 72% 11,700, £:11,000, B:12,500
R CHE)=RA RRCHE) R |_JL605 | 7 000 75% | £:12,700, H:10,300
[ JL607 | 7 1300 74% 700, £:12,400. H:10.800
[ JL609 | 7 ,000 75%
611 | 7 ,000 75%
613 | 7 ,000 75%
L615 | 7 ,000 75%
RWER  |_JL606 | 7 ,000 75%
L608 | 7 700 75%
7 9,400 78%
L 7 000 75%
L 7 ,000 75%
L 7 ,000 75%
FR(CRE) =R RERCPE) S [ JL62 7 ,500 74%
[ JL625 | 7 000 73%
[ JL627 | 7 ,000 73%
[ JL629 | 7 ,000 73%
631 | 7 ,000 73%
[ JL633 | 7 ,000 73%
637 | 7 400 75%
639 | 7 000 | 73%
AR | _JL622 | 7 000 | 73%
[ Ji62a | 7 100 73%
[ JL626 | 7 9,600 7%
[ JL628 | 7 9,100 78%
7 9,100 78%
L 7 10,300 75%
L 7 9,600 77%
L 7 9,600 7%
RR(CRE)=21 RERCRE)$ [ JL68 7 11,000 73%
[ JL68y | 7 11,000 73%
[ JL69t | 7 11,200 73%
[ JL693 | 7 8800 | 79%
[ JL695 | 7 000 | 73%
L697 | 7 200 | 73% :
B | _JL6ss | 7 200 | 73% %:11,800, £:12,800
[ JL690 | 7 ,000 3% 1800, %:11.200
[ JL692 | 7 500 4%
[ JL69a | 7 000 | 73% 11,200, A:11,800, F:12,800
[ JL696 | 7 500 2% 12,300, H:13,300
698 | 7 500 72% 700, £:11,000, H:12,.800
RRCPAE)=-ERE CRE) % L641 7 ,500 76%
L643 | 7 ,000 75%
L645 | 7 ,000 75%
L647 | 7 ,000 7%
[ JL649 | 7 600 76%
[ JLe5t | 7 9,600 78%
[ JL653 | 7 800 75% 11,400, H12,600
L655 | 7 500 74% :13.300
BERER L 7 600 76% 11,000
L 7 400 76% +£:11,000
L 7 ,000 75% :11,600
L 7 ,000 75% 1,200
L 7 400 76% :11,000, £:10.100
[ JL650 | 7 600 76% :11,000
[_JL652 | 7 ,000 72% :12,200,, 12,100, £:9,900, H:12,400
654 | 7 ,000 72%
KR (FFH)=$18 KRB (fFH $ [ _JL224 7 ,100 63%
2243 | 7 100 63%
[ JL2245 | 7 600 61%
2251 | 7 700 58%
iR [JL224 7 ,000 57%
[ JL2244 | 7 600 61%
[ JL2246 | 7 ,900 63% g L
L2250 | 7 ,900 63% 13,500, %:14,300, 11,300

JAL



- 48 | yEAE
TS ERIEER
EEBEAB 2016/09/13
1/17-31
FH IIRSEE
R B8 AR g | EEW
- B51%
FR CRE) =Kk () RR(PE)RE | JL 9,800
JL 9,800
JL 700
JL 800
JL 800
JL 300 59% |4
JL 300 5%
JL 300 63%
] 300 63%
[ JLi25 700 58% 800, H:9.300
JL127 400 55% 200, £:9.300, H:
JL 400 55% 200, £:9,300
JL 400 55% 900, £:9,300
JL 400 55% 900, £:9.300, B1
JL 400 55% 112,000, £:9,300, H:11,500
KR (PR R | JLio2 | 7 7400 | Ti% |
JLioa | 7 400 55%
[JLioe | 7 400 55%
JL 7 400 55%
JL 7 800 57%
JL 7 100 60%
JL 7 800 300, £:10.100
L 7 800 300, 7K:9,400, 2:9400 19300
JL120 | 7 ,800 . 7K:9,400,
JLi2a | 7 800
[JLiz6 | 7 800
[ JLizs | 7 800
JL130 | 7 700
JLi34 | 7 700
JL138 | 7 700 |
FR(CRE)=X5 RRCRE) R [ JL661 | 7 000 | 72%
[ JLee3 | 7 000 0%
[ JLee5 | 7 000 72%
[ JLee7 | 7 600 73%
[ JLee9 | 7 000 72%
JL671 | 7 000 72%
RnFE | _JLe62 | 7 9,700 76%
[ JLeea | 7 9,700 76%
[ JLees | 7 000 72%
JL670 | 7 000 72%
JL672_| 7 100 70%
JL674 | 7 100 72% 700, £:11,000, H:12,500
FR(CRE) =R HR(PE)FE |_JL605 | 7 000 75% ,700, H:10.300
[ JLeo7 | 7 300 74% 700, £:12,400. H:10.800
[ JLe0 | 7 000 75%
611 | 7 000 75%
613 | 7 000 75%
L615 | 7 000 75%
&% | _JL606 | 7 000 75%
L608 | 7 700 75%
7 9,400 78%
L 7 000 75%
L 7 000 75%
L 7 .000 75%
FR(CRE) =R RERCPE) S [ JL62 7 ,500 74%
[ Je25 | 7 000 73%
[JLe27 | 7 000 73% 700, H:10,200
[ J629 | 7 000 73% 800, H:10,600
631 | 7 000 73%
[ J63s | 7 ,000 73%
637 | 7 400 75% 1,000
639 | 7 000 | 73% 00
AR | _JL622 | 7 000 | 73%
[ Jie2a | 7 100 73% 800, H:12,200
[ JL626 | 7 9,600 7%
[ JLe28 | 7 9,100 78%
7 9,100 78%
L 7 10,300 75%
L 7 9,600 7%
L 7 9,600 7%
RR(CRE)=21 RERCRE)$ [ JL68 7 11,000 73%
[ JLesy | 7 11,000 73%
[ JLeot | 7 11,200 73% ,000
[ JL6e3 | 7 8800 | 79%
[ JLeos | 7 000 | 73%
L697 | 7 200 | 73%
EER  |_JL6ss | 7 200 | 73%
[ JLes0 | 7 ,000 3%
[ JL692 | 7 500 4%
[JLeoa | 7 000 | 73% 111,200, H:12,800
[ JL696 7 .500 2% ,300, H:13,300
698 | 7 500 72% 700, £:11,000, H:12,.800
RRCPAE)=-ERE CRE) % L641 7 ,500 76% .200
L643 | 7 .000 75% 200
L645 | 7 .000 75% 200
L647 | 7 000 7% 1400, £:11,000, H:10,700
[Jteas | 7 600 76% 800, _tEIH 00
[ JL651 7 9,600 78%
[ JL653 7 ,800 75%
L655 7 .500 74% X
BEREH L 7 600 76% ,800, £ +:11,000
L 7 400 76% +:11.000
L 7 ,000 75% 3,800
L 7 ,000 75%
L 7 400 76% :11,000, £:10,100
[ JL6s0 | 7 600 76% 411,000
[ JL652 7 ,000 2% 112,100, H:12,400
654 7 ,000 2%
KR (FFH)=$18 KRB (fFH $ [ _JL224 7 ,100 63%
224, 7 ,100 63% 00
[ JL224! 7 ,600 61% . H:13,600
225 7 ,700 58% 14 900 j: 12, 600
iR [JL224 7 ,000 57%
[ JL224 7 ,600 61% 14,000, H:13,500
[ JL2246 | 7 ,900 63% :13,500, £:14,300, +:11,300
L2250 7 .900 63% :13,500, :14,300, £:11,300

FURA17I~31BEES)

JAL



LSRG IERER(2A1~5BERD)

EEEAA . 2016/09/13
2/1-5
=R B4 FH i IIRSEE
ISR amm | BRE s
FR CRE) =Kk () RR(PE)RE | JL 9,800
JL 9,800
JL 700
JL 800
JL 800
JL 800 :9.300, 7K:10,300
JL 800 9,300, K:10,300, £:9.800
JL 300 A%:9,800
] 800 9,300, 7K:9,300
[ JLi25 700 58% 9,800, H:9,300
JL127 400 55% 9,300, H:9,800
JL 400 55% 9,300, H:11,500
JL 400 55% 9,300, H:11,500
JL 400 55% 9,300, H:11,500
JL 400 55% 9,300, H:11,500
RIR (B % |_JLioz | 7 7,400 7% 7,800, 1:9,500
JLioa | 7 400 55% 7,800, 1:9,800
[JLioe | 7 400 55% 7,800, 1:9,800
JL 7 400 55% 7,800, 1:9,800
JL 7 800 57% 7,800, 1:9,800
JL 7 100 60% 300
JL 7 800 61% 300, £:10.100
L 7 300 63% 300, 7K:9,400, £:9,400, £:9,300
JLi20 | 7 300 63% 9,400
JLi2a | 7 300 400, £:9.400
[JLiz6 | 7 800 500, 1:8,800
[ JLizs | 7 800 500, £:8,800
JL130 | 7 700 500, £:9,300
JLi34 | 7 700
JL138 | 7 700
FR(CRE)=X5 RRCRE) R [ JL661 | 7 .500 69%
[ JLee3 | 7 700 68%
[ JLee5 | 7 700 71%
[ JLee7 | 7 000 72%
[ JLee9 | 7 000 72%
JL671 | 7 000 72%
RnFE | _JLe62 | 7 600 73%
[ JLeea | 7 000 72%
[ JLees | 7 000 72%
JL670 | 7 000 72% 700, H:12,100
JL672_| 7 400 66% 2600, £:14,900
JL674 | 7 400 66% 500, H:14,800
FR(CRE) =R RRCRE) R [ JL60S | 7 100 75%
[ JLeo7 | 7 200 72%
[ JLe0 | 7 ,000 75%
611 | 7 ,000 75%
613 | 7 ,000 75%
L615 | 7 ,000 75%
&% | _JL606 | 7 ,000 75%
L608 | 7 ,000 75%
L 7 ,000 75%
L 7 600 73%
L 7 600 73%
L 7 .100 75%
FR(CRE) =R RERCPE) S [ JL62 7 ,500 74%
[ Je25 | 7 ,000 1%
[JLe27 | 7 700 69%
[ J629 | 7 ,000 73%
631 | 7 ,000 73%
[ J63s | 7 ,000 73%
637 | 7 200 7
639 | 7 000 7 300, H:13,800
AR | _JL622 | 7 .300 7 300, H:11,000
[ Jie2a | 7 ,000 7 200
[ JL626 | 7 400 75% 10,800, H:10,700
[ JLe28 | 7 9,800 76% 10,800, H:11,000
L 7 000 73% 9,800
L 7 100 73% 500, H:13,300
L 7 600 72% 000, H:13,800
L 7 400 75% 000, H:12,700
RR(CRE)=21 RERCRE)$ [ JL68 7 .000 73% .900
[ JLesy | 7 ,000 73% 900
[ JLeot | 7 700 72% 700, £:12,500, H:11,300
[ JL6e3 | 7 500 74% 900
[ JLeos | 7 300 | 73% 900,
L697 | 7 L300 | 73% 400,
EER  |_JL6ss | 7 000 | 73% 200,
[ JLes0 | 7 .300 3% 900,
[ JL692 | 7 ,500 4%
[JLeoa | 7 000 | 73% 700, £:11,300, H:12,800
[ JL696 7 .500 2% 400, H:13,300
698 | 7 200 70% 000, £:11,000, H:13,900
RRCPAE)=-ERE CRE) % L641 | 7 ,500 76% .200
L643 | 7 ,000 72% 000, £:13,200
L645 | 7 200 72% 13,500, H:12,000
L647 | 7 ,000 75% 700
[Jteas | 7 000 75%
[ JLest | 7 600 76% 800, £:11,000, H:11,800
[ JL653 | 7 ,800 75% ,000, £:10,700, H:12,400
L655 7 .500 74% ,000, 1:11,000, H:12,400
BERESR L 7 000 75% 500
L 7 000 75% 500
L 7 ,000 75% 200, F:11,500
L 7 ,000 75% 200
L 7 000 75% 11,200
[ JL6s0 | 7 000 72% +12.200
[ _JLes2 | 7 500 71% 113100, +:9,900, H:13,500
654 7 .500 74% :12,400, 1:9,900
PNACEE ) KR () % |_JL224 7 400 62% :13,000, :13,900,
224, 7 ,400 62% 13,900, H:12,200
[Jr2245 | 7 000 60% :13,900, +:13,500, H:14,000
2251 | 7 200 56% +15,300, +:13,000
iR [JL224 7 ,300 56%
[ JL224 7 ,000 60%
[ JL224f 7 ,200 62%
L2250 7 ,200 62%

JAL



TS5 BEER(A13~28AEES)

EEBEAB 2016/09/13
2/13-28
) &2 T ] SRR
ISR amm | BRE s
FR CRE) =Kk () RRCHE) R |_JL 9,800 500
JL 9,800 300
JL 700 :9.300. :12,300, %:12,300. £:11,500
JL 800 A%:12,200, £:11,500, H:9,300
JL 800 11,700, £:11,500, H:9,300
JL 300 50% | A% £:11,300, H:9,300
JL 300 5% 110,800, 19,800, H:9,300
JL 300 63%
] 300 63%
[ JLi25 700 58% 800, H:9,300
JL127 400 55% 200, £:9.300, H:
JL 400 55% 200, £:9,300
JL 400 55% 900, £:9,300
JL 400 55% 900, £:9.300, B1
JL 400 55% K#:12,900, £:9,300, H:11,500
RIR (B % |_JLioz | 7 7,400 7% 1800, £:9.500
JLioa | 7 400 55% 7,800, B:1
[JLioe | 7 400 55%
JL 7 400 55%
JL 7 800 57%
JL 7 100 60%
JL 7 800 300, £:10.100
L 7 800 300, 7K:9,400, :9,400, £:9,300
JLi20 | 7 800 300, 7K7:9,400, £:9,300
JLi2a | 7 800 300, k-9
[JLiz6 | 7 800 500,
[ JLizs | 7 800 500, +:8,800
JL130 | 7 700 500, £:9,300
JLi34 | 7 700 1500, £:12,900. £:9,300
JL138 | 7 700 500, %:12,900, £:9,300
AR CHE) K5 RRCHE) R |_JLe61 | 7 500 6% 600, H:10,600
[ JLee3 | 7 700 68% 900 000, E:13,400. H:12,000
[ JLee5 | 7 700 71% 900 000
[ JLee7 | 7 000 72% 700 900
[ JLee9 | 7 000 72% 400 800
JL671 | 7 000 72% 400, H1:13,800
RnFE | _JLe62 | 7 600 73% 100
[ JLeea | 7 000 72% 100 _
[ JLees | 7 000 72% 200, % H:11,600, £:11,700
JL670 | 7 000 72% 200, %:11,600, :11,700, H:12,100
JL672_| 7 400 66% 400, £:12,600, H:14,900
JL674 | 7 400 66% 700, £:12,500, H:14,800
FR(CRE) =R RRCRE) R [ JL60S | 7 100 75% 300, .
[ JLeo7 | 7 200 72% 700, £:13,400, H:11,700
[ JLe0 | 7 .200 74% 8
611 | 7 .200 4%
613 | 7 ,000 75%
L615 | 7 ,000 75%
&% | _JL606 | 7 ,000 75%
L608 | 7 ,000 75% I,
L 7 ,000 75% 200, H:12,000
L 7 600 73% 13,800, H:14,200
L 7 600 73% H:14,200
L 7 .100 75% :11,000, H:13,700
FR(CRE) =R RERCPE) S [ JL62 7 ,500 74%
[ Je25 | 7 ,000 1% 9,800
[JLe27 | 7 200 | 70% £:12,700, H:10,900
[ J629 | 7 000 | 73% A:11,200, £ +:11,700
631 | 7 000 | 73% [AA £:11,700
[ J63s | 7 000 | 73%
637 | 7 200 7 & 0,400, H:12,700
639 | 7 000 7 A: 300, H:13,800
AR | _JL622 | 7 .300 7 E
[ Jie2a | 7 ,000 7 A:
[ JL626 | 7 400 75%
[ JLe28 | 7 9,800 76% .
L 7 9,800 76% 5:11,000
L 7 1100 73% 500, H:13,300
L 7 600 72% 000, H:13,800
L 7 400 75% 000, H:12,700
RR(CRE)=21 RERCRE)$ [ JL68 7 .000 73% .900
[ JLesy | 7 ,000 73% 900
[ JLeot | 7 700 72% 700, £:12,500, H:11,300
[ JL6e3 | 7 500 74%
[ JLeos | 7 300 | 73%
L697 | 7 L300 | 73%
EER  |_JL6ss | 7 200 | 73% [J
[ JLes0 | 7 ,300 3%
[ JL692 | 7 ,500 4%
[JLeoa | 7 000 | 73% 200, %:11,700, £:11,300, H:12,800
[ JL696 7 .500 2% 400, H:13,300
698 | 7 200 70% 000, £:11,000, H:13,900
RRCPAE)=-ERE CRE) % L641 | 7 ,500 76% .200
L643 | 7 ,000 72% 000, £:13,200
L645 | 7 200 72% 13,500, H:12,000
L647 | 7 700 75% H:11,000
[Jteas | 7 000 75%
[ JLest | 7 600 76% 200, £:11,000, H:11,800
[ JL653 | 7 ,800 75% ,000, +:10,700, B:12,400
L655 7 .500 74% ,000, 1:11,000, H:12,400
BERESR L 7 000 75% 500
L 7 000 75% | £:11,500
L 7 ,000 75% ,000, £:11,200, £:11,500
L 7 ,000 75% 200
L 7 000 75% 11,200
[ JL6s0 | 7 000 72% +12.200
[ Jes2 | 7 500 7% :13,100, :12,000, H:13,500
L654 7 .500 74% :12,400, +:12,000
PNACEE ) KR () % |_JL224 7 400 62% :13,000, :13,900,
224, 7 ,400 62% 13,900, H:12,200
[Jr2245 | 7 000 60% 113,900, +:135
2251 | 7 200 56% +15,300, +:13,000
iR [JL224 7 ,300 56%
[ JL224 7 ,000 60%
[ JL224f 7 ,200 62%
L2250 7 ,200 62%

JAL



TNSEFIERER(AT~IBERD)

EEBEAB 2016/09/13
/1 /8 /9
X B2 SIS YT YT )
BAMR g ErE | Ewa
FR CRE) =Kk () RR(PE)RE | JL 300 | 8500 500
JL 300_| 9,300 300
JL 500 | 9,300 300
JL 500 | 9,300 300
JL 500 | 9,300 300
JL 300_| 9,300 300
JL 800 300 300
JL 800 300 300
] 800 300 300
[ JLi25 800 300 300
JL127 300 800 | 9,800
JL 300 500 500
JL 300 500 500
JL 300 500 500
JL 300 500 | 11,500
RIR (B % |_JLi02 | 7 500 7,800 7.800
JLioa | 7 800 7,800 7.800
[JLioe | 7 800 7,800 7.800
JL 7 800 7,800 7.800
JL 7 800 800 7.800
JL 7 800 | 8,300 300
JL 7 10,800 300 300
L 7 300 300 300
JLi20 | 7 300 300 300
JLi2a | 7 300 300 | 9,300
[JLiz6 | 7 800 500 500
[ JLizs | 7 800 500 500
JL130 | 7 300 500 500
JLi34 | 7 300 500 500
JL138 | 7 300 500 500
R CHE) =K% R CHE) % | JL66l | 7 400 9,700 9.700
[ JLee3 | 7 800 900 900
[ JLee5 | 7 800 000 | 11,000
[ JLee7 | 7 000 400 500
[ JLee9 | 7 000 400 800
JL671 | 7 000 | 11400 | 13800
RnFE | _JLe62 | 7 200 9,700 700
[ JLeea | 7 200 9,700 700
[ JLees | 7 000 | 11,000 800
JL670 | 7 000 | 11,000 800
JL672_| 7 000 900 700
JL674 | 7 000 900 700
FR(CRE) =R HR(PE)FE |_JL605 | 7 ,700 ,300 ,300
[ JLeo7 | 7 400 800 800
[ JLe0 | 7 400 800 800
611 | 7 400 800 800
613 | 7 ,000 700 700
L615 | 7 ,000 700 700
&% | _JL606 | 7 300 000 000
L608 | 7 300 000 000
L 7 000 000 000
L 7 000 ,000 000
L 7 000 600 000
L 7 000 L700 | 13,200
FR(CRE) =R RERCPE) S [ JL62 7 700 8,600 ,600
[ Je25 | 7 .200 100 100
[JLe27 | 7 700 200 200
[ J629 | 7 700 600 600
631 | 7 700 600 600
[ J63s | 7 800 .000 800
637 | 7 9,600 ,000 ,000
639 | 7 1,000 .200 800
BEAE | J62 [ 7 7,600 ,000 ,000
[ Jie2a | 7 600 600 600
[ JL626 | 7 100 000 000
[ JLe28 | 7 100 300 300
L 7 600 600 600
L 7 300 .200 200
L 7 9,600 ,000 700
L 7 9,600 ,000 700
RR(CRE)=21 RERCRE)$ [ JL68 7 ,300 .000 .000
[ JLesy | 7 300 ,000 000
[ JLeot | 7 800 ,000 800
[ JL6e3 | 7 500 500 500
[ JLeos | 7 .000 500 800
L697 | 7 ,000 200 600
B | _JL6ss | 7 600 .200 800
[ JLes0 | 7 300 ,000 300
[ Jeo2 | 7 800 500 300
[JLeoa | 7 .800 .800 800
[ JL6%6 | 7 700 300 600
698 | 7 ,000 700 7,600
RRCAB)=ERS CRE) % L641 | 7 ,800 500 ,800
L643 | 7 800 ,000 300
L645 | 7 800 ,000 800
L647 | 7 000 700 700
[Jteas | 7 000 000 000
[ JLest | 7 600 ,000 ,000
[ JLes3 | 7 800 500 100
L655 | 7 500 500 800
ER&F L 7 400 600 600
L 7 400 400 400
L 7 ,000 ,000 800
L 7 ,000 ,000 800
L 7 100 000 300
[ JL6s0 | 7 600 000 300
[ Jes2 | 7 000 400 600
654 | 7 000 900 7,600
KR (FFH)=$18 KRB (fFH $ [ _JL224 7 ,500 .900 .900
[Jr2243 | 7 500 900 900
[Jr2245 | 7 100 600 600
2251 | 7 600 900 900
HRR [_JL224 7 ,000 ,100 ,100
[Jr2244 | 7 000 500 500
[ JL2246 | 7 .300 500 500
L2250 | 7 300 500 500

JAL



ML RFIEER (A6~ 12BEES)

EEEMAA ;- 2016/09/13

2/6 2/7 2/8 2/9 2/10 2/11 2/12
=R B4 FH [SursE@[onrsEB]ONrSEB[ONSER|INLSEB]DNESHB[DNESER
BAMR g Eme | EWEA | EME | S | #m@ | SR

AR CHE) AR (B | R HE) % |_JL 9,800 9,800 9.800 9.800 300 300 | 8500

JL 9.800 | 9800 | 9,800 | 9800 300 300 | 9300

JL 300 500 | 9300

JL 200 500 | 9300

JL 700 500 | 9300

JL 11300 | 11,300 | 9300

JL 9,800 800 300

JL 800 800 300

] 9,800 800 300

[ JLi25 9,800 800 300

JL127 9,800 300 800

JL 9,800 300 500

JL 9,800 300 500

JL 9,800 300 500

JL 9,800 300 500

RIR (B % |_JLioz | 7 [_7.400 500 7.800

JLioa | 7 9,800 800 7.800

[JLioe | 7 9,800 800 7.800

JL 7 9,800 800 7.800

JL 7 9,800 800 7.800

JL 7 [_9.800 800 | 8,300

JL 7 800 10800 | 9,300

L 7 800 300 300

JLi20 | 7 800 300 300

JLi2a | 7 800 300 300

[JLiz6 | 7 800 800 500

[ JLizs | 7 9,800 800 500

JL130 | 7 9,800 300 500

JLi34 | 7 9,800 300 500

JL138 | 7 9,800 300 500

FR(CRE)=X5 RR(PE)F | JL66I 7 ,500 ,600 600

[ JLee3 | 7 000 400 000

[ JLee5 | 7 700 900 | 11,000

[ JLee7 | 7 700 | 11,000 900

[ JLee9 | 7 400 | 11,000 800

JL671 | 7 400_| 11,000 800

RnFE | _JLe62 | 7 600 100 600

[ JLeea | 7 000 100 000

[ JLees | 7 600 700 600

JL670 | 7 600 700 100

JL672_| 7 400 600 900

JL674 | 7 700 500 4,800

FR(CRE) =R RRCRE) R [ JL60S | 7 100 ,300 000

[ JLeo7 | 7 700 400 700

[ JLe0 | 7 500 900 200

611 | 7 500 900 200

613 | 7 700 ,000 700

L615 | 7 700 ,000 700

&% | _JL606 | 7 700 700 000

L608 | 7 700 700 000

L 7 200 000 000

L 7 200 800 200

L 7 700 800 200

L 7 900 000 700

FR(CRE) =R RERCPE) S [ JL62 7 ,500 ,700 9,300

[ Je25 | 7 000 200 | 9,800

[JLe27 | 7 700 700 900

[ J629 | 7 700 700 000

631 | 7 700 700 000

[ J63s | 7 000 ,000 000

637 | 7 600 400 700

639 | 7 700 000 800

AR | _JL622 | 7 300 300 000

[ Jie2a | 7 000 000 000

[ JL626 | 7 800 800 700

[ JLe28 | 7 800 800 000

L 7 000 000 000

L 7 500 100 300

L 7 000 600 800

L 7 000 400 700

RR(CRE)=21 RERCRE)$ [ JL68 7 .000 .900 000

[ JLesy | 7 ,000 ,900 000

[ JLeot | 7 700 500 300

[ JL6e3 | 7 ,900 500 500

[ JLeos | 7 900 300 800

L697 | 7 000 300 800

EER  |_JL6ss | 7 800 800 000

[ JLes0 | 7 1900 500 000

[ JL692 7 ,500 ,500 500

[JLeoa | 7 700 300 800

[ JL696 7 ,400 .500 300

698 | 7 000 ,000 900

RRCPAE)=-ERE CRE) % L641 7 ,500 .200 500

L643 | 7 000 200 000

L645 | 7 500 500 000

L647 | 7 000 000 000

[Jteas | 7 ,000 ,000 000

[ JLest | 7 800 000 800

[ JL653 7 .400 ,700 400

L655 | 7 400 000 400

BERESR L 7 000 500 000

L 7 ,000 500 000

L 7 200 500 000

L 7 200 ,000 000

L 7 200 000 200

[ JL6s0 | 7 200 000 200

[ Jes2 | 7 100 000 500

654 | 7 400 000 400

KR (FFH)=$18 KRB (fFH $ [ _JL224 7 ,500 ,500 200

[ JL224: 7 ,900 ,900 200

[ JL224! 7 ,500 ,500 300

2251 | 7 500 000 300

iR [JL224 7 ,300 ,300 500

[ JL224 7 300 ,300 900

[ JL224f 7 ,300 1,700 ,900

L2250 7 ,300 1,700 ,900




TSR FIERERCAI~IBERD)

EEEMAA ;- 2016/09/13

3/1-9
=R B4 T i IIRSEE
BABR amm | ERE [
FR CRE) =Kk () RR(PE)RE | JL 9,800 0,300, H:8,500
JL 9,800 0,300, H:9.300
JL 700 :9,300, A:12,300, %:12,300. £:11.500
JL 800 112,200, :11,500, B:9.300
JL 800 111,700, £:11,500, H:9,300
JL 300 59% :11,300, H:9.300
JL 300 59% 110,800, 1:9,800. H:9.300
JL 300 63% :9.800
[ JLi 300 63% 9,800 _
[ JL125 700 58% 111,000, £:9,800. H:9.300
JL127 400 55% 200, A %:12.200, £:9,300, H:9.800
JL 400 55% 200, A %:12.200, £:9,300, H:11.500
JL 400 55% 200, A %:12,900, £:9,300, H:11.500
JL 400 55% 200, A %:12,900, £:9,300, H:11.500
JL 1400 55% 200, A%£:12,900, £:9,300, H:11.500
KR (P % [_JL102 | 7 7.400 1% 9
JL104 [ 7 1400 55%
[ JL106 | 7 1400 55%
JL 7 1400 55%
JL 7 800 57%
JL 7 100 60% ] _
JL 7 800 :9,300, £:10.100
JLI 7 800 :9,300, 7K:9,400, :9,400, +:9,300
JL120 | 7 ,800 :9,300, K.
JLi2a | 7 800 :9,300, 7k
[ JLi26 | 7 800 :11,500, 18,800
[ JLi28 | 7 800 +11,500, +:8,800
JL130 [ 7 700 58% +11,500, +:9,300
JLi34 | 7 700 58% +11,500, £:12,900, £:9,300
JL138 | 7 700 58% +11,500, £:12,900, £:9,300
RE(PE)=X5H RR(PE) R | _JL661 | 7 500 69% 71% 800, H:10.800
[ JL663 | 7 70%
[ JL665 | 7 72%
[ JL667 | 7 74%
[ JL669 | 7 74% E
JL671 | 7 74% 700, H:13,800
K55 |_JLe62 | 7 75% 300
[ JL66a | 7 74% 300
[ JL668 | 7 74% 500, %
JL670 | 7 74% 500,
JL672 | 7 68% 700,
JL674 | 7 68% 500, 1
FR(CRE) =R HR(PE)FE |_JL605 | 7 75% ,900, H:10,600
[ JL607 | 7 [ 72%
[ JL609 | 7 [ 76%
611 | 7 [_76%
613 | 7 [_76%
L615 | 7 [_76%
RWER  |_JL606 | 7 [_76%
L608 | 7 [_76%
L 7 [_76%
L 7 72%
L 7 72%
L 7 72%
FR(CRE) =R RERCPE) S [ JL62 7 6%
[ JL625 | 7 [_72%
[ JL627 | 7 1%
[ JL629 | 7 3%
631 | 7 3%
[ JL633 | 7 5%
637 | 7 2%
639 | 7 72%
AR | _JL622 | 7 73%
[ Ji62a | 7 72%
[ JL626 | 7 75%
[ JL628 | 7 76%
L 7 75%
L 7 7
L 7 7
L 7 7 100,
RR(CRE)=21 RERCRE)$ [ JL68 7 500,
[ JL68y | 7
[ JL69t | 7 7
[ JL693 | 7 6%
[ JL695 | 7 3%
L697 | 7 3%
B | _JL6ss | 7 3%
[ JL690 | 7 3%
[ JL692 | 7 6%
[ _JL69a | 7 [ 75% :11,200, #:11,900, £:11,700, H:13.400
[ JL696 | 7 4 400, £:11,800, B:13,900
698 | 7 72 ,000, £:11,300, B:14,000
R (PH-ERE CRE) % L641 | 7 77" 800
L643 | 7 74 ,000, £:14,100
L645 | 7 72 14,100, B:12,000
L647 | 7 76% 000,
[ JL649 | 7 76% 000,
[ JLe5t | 7 76% 700,
[ JL653 | 7 76% 1700,
L655 | 7 [_76% 700,
BRES L 7 [ 76% 800
L 7 [_76% ,000. £:12,800
L 7 [ 76% ,800, & +:11,700
L 7 [_76% 111,700
L 7 74% :12,800, £:11,500
[ JL650 | 7 73% :13,300, £:12,000
[ JLe52 | 7 72% 113400, 110,400, H:13.900
L654 | 7 74% 112,400, £:10,400. H:13,400
PNACIE ) KR () 5 |_JL2241 | 7 65% 113,000, 13,900, B:12,200
2243 | 7 65%
[ JL2245 | 7 63%
2251 | 7 59%
iR [JL224 7 59% :13,500
[ JL2244 | 7 63% 114,300, H:13,900
[ JL224 7 65% :13,900. £:14,800. +:11.700
L2250 | 7 65% :13,900, £:14,800, £:11,700




TS5 RBEERGBAI0~16BEES)

EEEMAA ;- 2016/09/13

3/10-16
=R B4 FH IIRSEE
ISR ama |70 i
FR CRE) =Kk () RRCHE) R |_JL 9,800 64% 500
JL 9,800 64% 300
JL 700 58% - K:12,300, %:12,300, £:11,500
JL 800 61% : 11,500, H:9,300
JL 800 61% 11,500, H:9,300
JL 300 63% | A% £:11,300, H:9,300
JL 300 63% %:10,800, 1:9,800, H:9.300
JL 300 66%
] 300 66%
[ JLi25 700 61% 800, H:9,300
JL127 400 5% 200, £:9.300, H:
JL 400 50% 200, £:9,300
JL 400 50% 900, £:9,300
JL 400 59% 900, £:9.300, B1
JL 400 59% K#:12,900, £:9,300, H:11,500
RIR (B % |_JLioz | 7 7,400 73% 1800, £:9.500
JLioa | 7 400 50% 7,800, F:12,700. L.
[JLioe | 7 400 50%
JL 7 400 50%
JL 7 800
JL 7 100 : —
JL 7 800 300, £:10.100
L 7 800 300, 7K:9,400, £:9,400, £:9,300
JLi20 | 7 800 4 300
JLi2a | 7 800 00, 1£:9,300
[JLiz6 | 7 800
[ JLizs | 7 800
JL130 | 7 700 58%
JLi34 | 7 700 58%
JL138 | 7 700 58%
FR(CRE)=X5 RRCRE) R [ JL661 | 7 .500 71%
[ JLee3 | 7 700 70%
[ JLee5 | 7 700 72%
[ JLee7 | 7 000 74%
[ JLee9 | 7 000 4%
JL671 | 7 000 4%
RnFE | _JLe62 | 7 800 75%
[ JLeea | 7 000 74%
[ JLees | 7 000 4%
JL670 | 7 000 4%
JL672_| 7 700 68%
JL674 | 7 700 68%
FR(CRE) =R RRCRE) R [ JL60S | 7 700 75%
[ JLeo7 | 7 100 72%
[ JLe0 | 7 000 76%
611 | 7 000 76%
613 | 7 000 76%
L615 | 7 000 76%
&% | _JL606 | 7 000 76%
L608 | 7 000 76%
L 7 000 76%
L 7 000 72%
L 7 000 72%
L 7 000 72%
FR(CRE) =R RERCPE) S [ JL62 7 500 76%
[ Je25 | 7 000 72%
[JLe27 | 7 600 71%
[ J629 | 7 600 73%
631 | 7 600 73%
[ J63s | 7 000 75%
637 | 7 000 72%
639 | 7 000 72%
AR | _JL622 | 7 700 73%
[ Jie2a | 7 000 72%
[ JL626 | 7 000 75%
[ JLe28 | 7 600 76%
L 7 000 75
L 7 500 7
L 7 000 7
L 7 300 7
RR(CRE)=21 RERCRE)$ [ JL68 7 400
[ JLesy | 7 400
[ JLeot | 7 700 |7
[ JL6e3 | 7 500 | 76%
| JL695 | 7 700 | 73%
L697 | 7 900 | 73%
EER  |_JL6ss | 7 600 | 73%
[ JLes0 | 7 700 73%
[ JL692 | 7 500 76%
[JLeoa | 7 000 75% 200, %:11,900, £:11,700, H:13,400
| JL696 | 7 ,500 74 1400, +:11,800, H:13,900
698 | 7 200 72 000, £:11,300, H:14,000
RRCAB)-ERS CRIE) % L6ai | 7 500 77 £:11500
L643 | 7 000 74 000, £:14,100
L645 | 7 800 72 14,100, H:12,000
L647 | 7 000 76% :13,000,
[Jteas | 7 000 76% 113,800,
[ JL651 7 .000 76% 211,700,
[ JL653 7 900 76% 211,700,
L655 7 .000 76% 211,700,
BERESR L 7 000 76% :
L 7 000 76%
L 7 ,000 76% ;
L 7 .000 76% 11,700
L 7 900 4% :12.800, £:11,500
[ JL6s0 | 7 400 3% :13.300, 12,000
[ Jes2 | 7 000 72% :13,400, +:12,000, H:13,900
L654 | 7 000 4% :12.400. 10,400
PNACEE ) KR () % |_JL224 7 400 65% :13,000, :13,900,
224, 7 ,400 65% 13,900, H:12,200
[Jr2245 | 7 000 63% :13,900, +:13,500, H:14,000
2251 | 7 200 59% +15,300, +:13,000
iR [JL224 7 ,300 59%
[ JL224 7 000 63%
[ JL224f 7 ,200 65%
L2250 7 ,200 65%
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FH IS ER
R B2 g AwE | gmg [E2W
- LIS
TR CAE) =A% FR OB % |_JL661 500 68%
[ JL663 400 66%
[ JL665 700 70%
[ JL667 500 73%
[ JL669 000 2% 800, &:
JL671 000 2% 800, #:15.000
K% | JL662 000 74% 600
[ JL664 000 74% 600
[ JL668 000 2% 800
JL670 000 72% 800 212,700
JL672 700 65% 000, £ 000, 1:14,000
JL674 700 65% 000 500
TR CAE) =5 R CPHE) % | JL605 700 2% 900
[ JL607 100 69% 500
[ JL609 000 2,900
JL6TT 7 000 :12,900
JL613 7 000 500
JL61S 7 000 500
Iy |_JL60s | 7 000 300, £:14,600
[ JL608 7 000 300, +:13,600
JL 7 000 900, +:12,700
JL 7 ,.300
JL 7 ,.300 7
JL 7 000 70%
R CAE) e A R CAE) & | _JL623 | 7 200 74%
[ JL625 7 700 1%
[ JL627 7 700 66%
[ JL629 7 700 69%
JL631 7 700 69%
[ JL633 7 000 2%
JL637 7 000 70%
JL639 7 ,000 70%
HERR | _J622 | 7 700 71%
[ JL624 7 000 70%
[ JL626 7 000 2%
[ JL628 7 000 75%
JL630 7 000 75%
JL63 7 500 1%
JL63 7 ,000 70%
JL63 7 500 7
R CAE) =B 8 R CAE) & |_JL6s7 | 7 700 7
[ JL68Y 7 700 7
[ JL69T 7 700 7
[ JL693 7 0,500 76%
[ JL69S 7 ,700 1%
697 7 ,900 70%
TR |_JLess | 7 ,800 68%
[ JL690 7 ,700 T1%
[ JL692 7 .000 75%
[ JL694 7 ,000 2%
[ JL696 7 ,500 T1%
698 7 000 68%
RACHE) -ERE RR(HE)% | Jeal | 7 000 76% [
L643 7 ,500 73% 114,300, £ 00,
L645 | 7 ,800 70% :14,800, % +:15,200
L647 7 .200 76%
[ JL649 7 .200 76%
[ JL651 7 .000 76%
| JL653 | 7 ,300 75%
L655 7 .300 75%
ERER L 7 700 75%
L 7 100 75%
L 7 ,000 7
L 7 ,000 7
L 7 ,800 7.
| JL650 | 7 ,300 7
[ JL652 7 ,.900 70%
654 7 ,900 2%
NG KR (PR % | JL22dt | 7 400 65%
[ JL224 7 ,400 65%
[ JL224 7 ,000 63% :
225 7 ,200 59% :15,300, £:13,000
B | JL224 7 1300 59%
[ JL224 7 ,000 63% £ +:14.300
[ JL224 7 ,200 65% [<:14.800, £:11,700
L2250 7 ,200 65% £:14,800, £:11,700
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3/17 3/18 3/19 3/20
=40} B2 FH [Sarsx@[onrsEB]OnrsEB[HNESER
BABR g Eam | mRE | ER@
TR B AR(BR | RRCAEE | L 800 300 60 0
JL 800 500 100 100
JL 400 500 100 100
JL 200 500 100 100
JL 600 500 100 100
JL 600 500 100 100
JL 700 500 100 100
JL 800 500 100 100
oL 800 500 100 100
[ JL125 400 00 200 500
JL127 400 00 500 500
JL 400 00 500 500
JL 400 00 500 500
JL 400 00
oL 400 100 | 1
FE(FRE |_JLio2 |7 900 00 |
JL104 | 7 400 100 | ¢
[uLios | 7 400 100 | ¢
oL 7 400 100 | ¢
oL 7 700 0100 | ¢
JL 7 700 500 |
JL 7 ,800 .500
JL1 7 ,800 ,500
JL120 7 ,800 ,100
JL124 7 ,800 ,100
o126 [ 7 800 100
[oLi2s [ 7 800 100
JL130 7 ,600 ,100
JL134 7 ,600 100
JL138 7 ,600 ,100
ETAE IR TR (WE)% | 66l |7 100 500
[ JL663 7 ,800 ,600
[ JL665 7 800 ,600
[ JL667 7 000 800
[ JL669 7 000 800
JL671 7 000 800
X% | _Jie6z | 7 900 800
[ JL664 7 900 ,800
[uLees | 7 800 | 14,000
JL670 | 7 800 | 14,000
JL672 7 ,000 ,600
JL674 7 ,000 ,100
EEAE R TR (WE)% | _J60 | 7 800 20,600
[ JL607 7 ,800 20,600
[ JL609 1 200 ,600
611 7 200 ,600
613 7 200 700
L615 7 200 700
R [ JL606 7 ,600 ,600
L608 7 ,600 ,600
Lf 7 100 ,500
Lf 7 100 ,500
Lf 7 ,500 ,500
Lf 7 ,400 ,800
TR 3 FREE | J623 |7 800 600
[ JL625 7 300 900
[ JL627 7 800 900
[ JL629 7 800 ,600
631 7 800 ,600
[ JL633 7 800 800
637 7 ,700 ,500
639 7 ,800 ,800
T | _J622 [ 7 800 600
[ JL624 7 500 ,200
[ JL626 7 500 ,200
[ JL628 7 000 ,800
Lf 7 000 ,800
Lf 7 ,200 800
Lf 7 ,700 ,000
Lf 7 700 ,500
TR IE)ER TROEE | _Jiesr |7 300 | 20300
[ JL689 7 300 20,300
[ JL691 7 500 ,600
[ JL693 7 000 ,000
[uLe9s | 7 300 200
L697 7 500 ,800
S [JL688 7 000 ,600
[ JL690 7 000 000
[uLe92 | 7 800 000
[ Jre9a | 7 500 500
[uLe96 | 7 000 000
698 7 ,000 700
TR IE) BERE CREN® | _JLedl | 7 800 300
L643 7 ,200 20,400
L645 7 900 20,400
L647 7 300 800
[uiea9 | 7 300 800
[uLest | 7 300 200
[ JLe53 | 7 800 700
L655 7 ,800 700
BEREH Lf 7 400 ,200
Lf 7 ,400 ,200
Lf 7 800 ,000
Lf 7 700 500
Lf 7 ,800 ,500
[uLes0 | 7 300 500
[uLe52 | 7 800 000
L654 7 ,200 000




